Bid Request Number	# 18-19-028	Organization	PSJA ISD Ebids
Title	Janitorial Supplies For Use District-Wide Bid	Bid Creator	Emily Garza
Description		Email	emily.garza@psjaisd.us
Bid Type	Bid	Phone	
Issue Date	1/11/2019 02:13:05 PM (CT)	Fax	
Close Date	1/28/2019 03:00:00 PM (CT)		

Awarded Suppliers

Name	City	State	Classifications	Lines Awarded	Award Total	Award Reason
CC Distributors, Inc.	Corpus Christi	ТХ		64	\$95,620.05	
Gulf Coast Paper	Brownsville	ТХ		62	\$224,628.45	
Interboro Packaging Corp.	Montgomery	NY		5	\$3,524.50	
School Specialty, Inc.	Greenville	WI		10	\$59,245.25	
Yanitor Paper and Supplies, L	L' Pharr	ТХ		1	\$2,190.00	

RECOMMENDATION:

10N: That the Board of Education award Janitorial Supplies for Use District-Wide Bid # 18-19-028 to the lowest bidder as indicated below:

ITEMS	SUPPLIERS		<u>TOTAL</u>
1, 2, 3, 5, 6, 9, 10, 13, 18, 19, 20, 22, 38, 56, 65, 67, 69, 70, 71, 75, 76, 77, 78, 79, 80, 81, 82, 88, 90, 97, 99, 100, 102, 103, 104, 105, 106, 107, 108, 109, 110, 111, 112, 114, 116, 117, 118, 119, 120, 121, 122, 123, 124, 125, 126, 127, 128, 129, 130, 131, 136, 138 and 146	CC Distributors, Inc.	\$	95,620.05
4, 7, 11, 12, 14, 15, 16, 17, 28, 29, 30, 31, 32, 33, 34, 35, 36, 39, 40, 46, 48, 49, 50, 51, 52, 53, 54, 55, 57, 58, 59, 60, 61, 62, 63, 64, 66, 68, 72, 73, 83, 84, 85, 86, 87, 89, 91, 92, 93, 96, 98, 101, 113, 132, 133, 134, 135, 137, 144, 145, 147 and 148	Gulf Coast Paper Company	\$	224,628.45
21, 24, 25, 26 and 27	Interboro Packing Corp.	\$	3,524.50
8, 42, 43, 44, 45, 94, 139, 140, 141 and 142	School Specialty, Inc.	\$	59,245.25
37	Yanitor Paper and Supplies, LLC	\$	2,190.00
41, 47, 74, 95, 115, 143 and 149	No Bid		
		TOTAL: \$	385,208.25

Emily Garza, Director of Purchasing

Account Number: 199 131100

Six (6) Vendors viewed Bid Specifications Five (5) Submitted Bid Five (5) Vendors NO BID Zero (0) Non-responsive/Non-conforming

Line	Qty	UOM	Description	Manufacturer	Manuf. Number	Award	Award	Awarded Supplier	Award Reason
Line	Qly	00101	Description	Manufacturer	Manut. Number	Response	Quantity	Awarded Supplier	Award Reason
1	125	EA	Waste Paper Basket.	Rubbermaid or Equal.	RCP 2955BLA	\$3.30	125	CC Distributors, Inc.	+
2	300	EA	Waste Paper Basket.	Marino or Equal	#WB4120-Bk-12	\$6.26	300	CC Distributors, Inc.	
3	50	EA	Garbage Can 32 Gallon with Lid	Rubbermaid or Equal.	2632	\$18.97	50	CC Distributors, Inc.	
5	200	ST	Bottle and Sprayer Combo.	Unisan or Equal.	7120	\$0.80	200	CC Distributors, Inc.	
6	200	EA	Plastic Bottle Sprayer.	Impact or Equal.	UNS55910-9	\$0.38	200	CC Distributors, Inc.	
9	75	EA	Bucket / Pail	Continental or Equal	8110	\$4.09	75	CC Distributors, Inc.	
10	300	EA	House Hold Broom.	UNISAN or Equal	UNS-932C	\$3.44	300	CC Distributors, Inc.	
13	120	EA	Lobby Dust Pan	Lobby Master or Equal	2600	\$6.85	120	CC Distributors, Inc.	
13	100	EA	Wedge Mop Handle.	Unisan or Equal	UNS-1492	\$4.29	120	CC Distributors, Inc.	
19 Alt 1	50	EA	Plumb Pak PP845-4 6" RED FORCE CUP PLUNGER With	Plumb Pak	PP845-4	\$2.75	50	CC Distributors, Inc.	
13 AIL I	50	-	19" HANDLE, HEAVY DUTY PLUNGER		11045-4	Ş2.75	50		
20 Alt 1	50	EA	Plumb Pak PP845-2 PLUNGER 4" W/9" HANDLE. Heavy	Plumb Pak	PP845-2	\$1.72	50	CC Distributors, Inc.	
20 /11 2	50		duty red rubber force cup.		110452	÷1.72	50		
22	100	BX	Rubber Gloves.	Safety Zone or Equal	41634	\$5.63	100	CC Distributors, Inc.	
23	100	BX	Rubber Gloves.	Safety Zone	41634	\$5.63	100	CC Distributors, Inc.	
38	600	EA	Hand Sanitizer.	Purell or Equal.	GOJ-9552-12-CMR	\$4.25	600	CC Distributors, Inc.	
56	75	BX	Hog Hair 27" Buffing Pad.	3M or Equal	59319 Niagra	\$26.55	75	CC Distributors, Inc.	
65	25	EA	Shampoo Bonnet with Scrub Strips.	Rubbermaid or Equal.	RCP P267	\$13.25	25	CC Distributors, Inc.	
67	450	EA	Toilet Bowl Swag.	Tolco or Equal.	280100	\$0.57	450	CC Distributors, Inc.	
69	150	EA	Garden Hose.	Flexon or Equal.	FR5875 Medium Duty	\$16.81	150	CC Distributors, Inc.	
70	100	EA	Garden Hose Nozzle	Nelson or Equal.	50501	\$5.40	100	CC Distributors, Inc.	
70	500	EA	Heavy Duty Window Scraper.	Hyde or Equal.	13000	\$1.37	500	CC Distributors, Inc.	
75	288	EA	Safety Spectacles.	Crews	CL110	\$0.88	288	CC Distributors, Inc.	
76	288	EA	Safety Spectacles.	Crews	CL112	\$0.88	288	CC Distributors, Inc.	
70	48	BX	Industrial Battery.	Energizer	LR03 1.5V EN92	\$8.00	48	CC Distributors, Inc.	
78	60	BX	Industrial Battery.	Energizer	LR06 1.5V EN91	\$7.72	60	CC Distributors, Inc.	
79	30	BX	Industrial Battery.	Energizer	#LR14 1.5V EN93	\$8.97	30	CC Distributors, Inc.	
80	96	BX	Industrial Battery.	Energizer	LR20 1.5 EN95	\$9.93	96	CC Distributors, Inc.	
81	12	BX	Industrial Battery.	Energizer	6LR61 9V EN22	\$13.66	12	CC Distributors, Inc.	
82	300	EA	Polywool Duster.	Unisan	UNS9442 / Metal Handle	\$4.30	300	CC Distributors, Inc.	
88	200	EA	Outdoor Floor Mat.	Ultra Scraper or Equal.	U54872B	\$47.45	200	CC Distributors, Inc.	
90	300	EA	Traffic Cones.	JBC Safety Plastic Inc. or	RS-70030CT	\$13.48	300	CC Distributors, Inc.	
				Equal.		,		,	
97	144	EA	Dust Pan Short Handle.	Rubbermaid or Equal.		\$1.81	144	CC Distributors, Inc.	
99	50	EA	Dolly Two Wheel Trucks	Milwaukee or Equal.		\$53.07	50	CC Distributors, Inc.	
100	50	EA	Platform Truck with Handle.	Burbank or Equal.	HQ-3060-RT Steel Bound	\$685.67	50	CC Distributors, Inc.	
					Hardwood Deck			·····, ·	
102	160	EA	Dust Mask.	3M	8210 with Adjustable Nose	\$14.82	160	CC Distributors, Inc.	
					piece			,	
103	20	EA	Rain Coat with Detachable Hood.	River City or Equal.	200C	\$5.81	20	CC Distributors, Inc.	
104	20	EA	Rain Coat with Detachable Hood.	River City or Equal.	200C	\$5.81	20	CC Distributors, Inc.	
105	20	EA	Rain Coat with Detachable Hood.	River City or Equal.	2000	\$5.81	20	CC Distributors, Inc.	
106	20	EA	Rain Coat with Detachable Hood	River City or Equal.	200C	\$5.81	20	CC Distributors, Inc.	
107	20	EA	Rain Coat with Detachable Hood.	River City or Equal.	200C	\$6.20	20	CC Distributors, Inc.	
108	20	EA	Step Ladder.	Louisville or Equal.		\$71.97	20	CC Distributors, Inc.	
109	20	EA	Step Ladder.	Louisville or Equal.		\$96.36	20	CC Distributors, Inc.	
110	20	EA	Step Ladder.	Louisville or Equal.		\$122.25	20	CC Distributors, Inc.	
111	10	EA	Step Ladder.	Louisville or Equal.		\$163.79	10	CC Distributors, Inc.	
112	10	EA	Step Ladder.	Lousiville or Equal.		\$211.99	10	CC Distributors, Inc.	
114	100	ROLLS	•	Electro Tape or Equal.		\$5.00	100	CC Distributors, Inc.	
116	160	GAL	Dust Mop Treatment.	Quest Vapco	2810	\$13.81	160	CC Distributors, Inc.	
117	200	PR	Safety Jaqs.	Treds and Paws or Equal		\$10.63	200	CC Distributors, Inc.	
118	40	EA	Safety Lifting Belt with Suspenders.	Proflex or Equal.	Econo # 1650	\$9.34	40	CC Distributors, Inc.	
								2	

••••			Provident and	Maria facel and					A set Deserve
Line	Qty	UOM	Description	Manufacturer	Manuf. Number	Award	Award	Awarded Supplier	Award Reason
440		F A	Coffee office pairs the Constant days	Des flasses for all	E	Response	Quantity		
119	50	EA	Safety Lifting Belt with Suspenders.	Proflex or Equal.	Econo # 1650	\$9.34	50	CC Distributors, Inc.	
120	50	EA	Safety Lifting Belt with Suspenders.	Proflex or Equal.	Econo # 1650	\$9.34	50	CC Distributors, Inc.	
121	50	EA	Safety Lifting Belt with Suspenders.	Proflex or Equal.	Econo # 1650	\$9.34	50	CC Distributors, Inc.	
122	40	EA	Safety Lifting Belt with Suspenders.	Proflex or Equal	Econo # 1650	\$9.34	40	CC Distributors, Inc.	
123	20	EA	Safety Lifting with Suspenders.	Proflex or Equal.	Econo # 1650	\$9.34	20	CC Distributors, Inc.	
124	20	EA	Rubber Boots. Extended Steel Shank, Moderate Chemical	Onguard Industries or	PVC Boot	\$11.47	20	CC Distributors, Inc.	
			Protection	Equal.					
125	30	EA	Rubber Boots.	Onguard Industries or Equal	PVC Boot	\$11.47	30	CC Distributors, Inc.	
126	30	EA	Rubber Boots.	Onguard Industries or	PVC Boot	\$11.47	30	CC Distributors, Inc.	
				Equal.					
127	30	EA	Rubber boots.	Onguard Industries or	PVC Boot	\$11.47	30	CC Distributors, Inc.	
				Equal.					
128	12	EA	Rubber Boots.	Onguard Industries or	PVC Boot	\$11.47	12	CC Distributors, Inc.	
				Equal.					
129	12	EA	Rubber Boots.	Onguard Industries or	PVC Boot	\$11.47	12	CC Distributors, Inc.	
				Equal.					
130	12	EA	Rubber Boots.	Onguard Industries or	PVC Boot	\$11.47	12	CC Distributors, Inc.	
				Equal.		+			
131	25	EA	Safety Vest.	Protective Industries	302-0500 ANSI Class 2	\$6.12	25	CC Distributors, Inc.	
101	25	2/1	Survey vest.	Products or Equal.	502 0500 / 1151 01055 2	çolit	25		
136	1000	EA	High Pro Pad for Utility Pad Holder	3M or Equal	MC08550	\$0.88	1000	CC Distributors, Inc.	
130	72	EA	Garbage Can 20 Gallon with Lid.	Rubbermaid	RCP2623GRA-Container /	\$17.78	72	CC Distributors, Inc.	
130	72	EA	Garbage Carr 20 Garlon with Liu.	Kubbermalu		\$17.78	72	CC Distributors, Inc.	
1.4.0	50	F A	Pag Japitarial Cart Pagular	Dubbormaid or Faual	RCP2619-60GRA-lid	617.61	50	CC Distributors Inc	
146	50	EA	Bag Janitorial Cart Regular	Rubbermaid or Equal	1966719	\$17.61	50	CC Distributors, Inc.	
4	150	EA	Garbage Can with Lid and Dolly.	Rubbermaid or Equal	2643-60	\$54.84	150	Gulf Coast Paper	
7	40	EA	Janitorial Cart.	Rubbermaid or Equal	FG9T7200BLK	\$93.85	40	Gulf Coast Paper	
11	30	EA	Push Broom 18" With Handle	Palmyra or Equal	PLB20118 and PLB-136	\$3.45	30	Gulf Coast Paper	
12	65	EA	Counter Brush with Hardwood Handle.	Weiler or Equal.	71019	\$3.15	65	Gulf Coast Paper	
14	250	EA	Finish Mop Head.	Unisan or Equal.	UNS542	\$4.50	250	Gulf Coast Paper	
15	2500	EA	Wet Mop Head.	Unisan or Equal.	UNS424R	\$4.94	2500	Gulf Coast Paper	
16	250	EA	Mop Handle.	Impact or Equal	IMP-94	\$7.05	250	Gulf Coast Paper	
17	350	EA	Wedge Mop Head	Unisan or Equal	UNS1491	\$2.29	350	Gulf Coast Paper	
28	120	PR	Drivers Pigskin Leather Gloves.	Memphis Glove Company	Unlined Large	\$3.47	120	Gulf Coast Paper	
				or Equal					
29	120	PR	Drivers Pigskin Leather Gloves	Memphis Glove Company	Unlined Large	\$3.47	120	Gulf Coast Paper	
				or Equal					
30	120	PR	Drivers Pigskin Leather Gloves.	Memphis Glove Company	Unlined Large	\$3.47	120	Gulf Coast Paper	
			-	or Equal.	-				
31	150	EA	Time Mist Dispenser.	Vecair Systems or Equal.	Arioma	\$15.52	150	Gulf Coast Paper	
32	200	CS	Time Mist Spray Deodorant.	Vecair Systems or Equal.	Airoma Refills	\$23.08	200	Gulf Coast Paper	
33	200	EA	Carpet Deodorant.	Big D or Equal.	153	\$2.47	200	Gulf Coast Paper	
34	50	CS	Neutralizer Conditioner.	•	90685	\$39.09	50	Gulf Coast Paper	
	50			semisor precisely of Equal		<i>433.03</i>	50		
35	100	PL	Bacteria Alive.	Arcot or Equal.	7709	\$40.23	100	Gulf Coast Paper	
36	350	CS	Germicidal Chlorine Bleach	Clorox or Equal.	CLO02490	\$11.32	350	Gulf Coast Paper	
30 39	300	BX	Kleenex.	Kimberly Clark or Equal.	KIM-26080BX		300	Gulf Coast Paper	
				<i>,</i> ,	NIW-ZUUOUDA	\$0.79			
40	200	BX	Flannel Dusting/Wiping Rags.	Johnson & Johnson or		\$14.95	200	Gulf Coast Paper	
			Taura Flan	Equal.		407 47	50		
46	50	EA	Texas Flag.	Valley Forge or Equal.	5400	\$95.00	50	Gulf Coast Paper	
48	30	CS	Buffing Pad.	3M	5100	\$13.07	30	Gulf Coast Paper	CC Distributors did not bid on the
									specified NO DEVIATIONS 3M brand
49	30	CS	Stripping Pad.	3M	7200	\$13.42	30	Gulf Coast Paper	CC Distributors did not bid on the specified NO DEVIATIONS 3M brand.

Line	Qty	UOM	Description	Manufacturer	Manuf. Number	Award	Award	Awarded Supplier	Award Reason
						Response	Quantity		
50	30	CS	Buffing Pad.	3M	4100	\$13.07	30	Gulf Coast Paper	CC Distributors did not bid on the
									specified NO DEVIATIONS 3M brand.
51	125	CS	Buffing Pad.	3M	5100	\$17.38	125	Gulf Coast Paper	CC Distributors did not bid on the
									specified NO DEVIATIONS 3M brand.
52	150	CS	Stripping Pad.	3M	7200	\$17.86	150	Gulf Coast Paper	CC Distributors did not bid on the
									specified NO DEVIATIONS 3M brand.
53	250	CS	Buffing Pad.	3M	5100	\$19.26	250	Gulf Coast Paper	CC Distributors did not bid on the
									specified NO DEVIATIONS 3M brand.
54	175	CS	Scrubbing Pad.	3M	5300	\$19.26	175	Gulf Coast Paper	CC Distributors did not bid on the
									specified NO DEVIATIONS 3M brand.
55	450	CS	Stripping Pad.	3M	7200	\$19.79	450	Gulf Coast Paper	CC Distributors did not bid on the
									specified NO DEVIATIONS 3M brand.
57	800	CS	Hog Hair Pad.	MPC or Equal	35-20	\$12.06	800	Gulf Coast Paper	
58	150	CS	Buffing Pad	3M	5100	\$24.93	150	Gulf Coast Paper	CC Distributors did not bid on the
									specified NO DEVIATIONS 3M brand.
59	300	CS	High Speed Buffing Pad.	3M	4100	\$24.93	300	Gulf Coast Paper	CC Distributors did not bid on the
									specified NO DEVIATIONS 3M brand.
60	150	CS	Scrubbing Pad.	3M	5300	\$28.66	150	Gulf Coast Paper	CC Distributors did not bid on the
									specified NO DEVIATIONS 3M brand.
61	500	CS	Stripping Pad.	3M	7200	\$25.62	500	Gulf Coast Paper	CC Distributors did not bid on the
									specified NO DEVIATIONS 3M brand.
62	250	CS	High Productivity Pad.	3M	7300	\$33.57	250	Gulf Coast Paper	CC Distributors did not bid on the
									specified NO DEVIATIONS 3M brand.
63	200	CS	High Productivity Pad.	3M	7300	\$36.89	200	Gulf Coast Paper	CC Distributors did not bid on the
									specified NO DEVIATIONS 3M brand.
64	350	CS	High Productivity Pad.	3M	7300	\$47.86	350	Gulf Coast Paper	CC Distributors did not bid on the
									specified NO DEVIATIONS 3M brand.
66	25	EA	Shampoo Bonnet with Scrubs Strips	Rubbermaid or Equal	RCP P271	\$15.53	25	Gulf Coast Paper	
68	134	BX	Urinal Screen.	Unisan or Equal	UNS-03013	\$8.32	134	Gulf Coast Paper	
72	100	EA	Window Squeegee.	Continental or Equal.	21170660	\$2.31	100	Gulf Coast Paper	
73	650	EA	Food Service Towel.	Kimberly Clark or Equal.	KCC06053	\$17.59	650	Gulf Coast Paper	
83	100	EA	Paper Picker.	Unger or Equal.	UNGNN90	\$22.95	100	Gulf Coast Paper	
84	300	EA	Sand Screen.	Premiere or Equal.	PAD5017-60-10	\$3.86	300	Gulf Coast Paper	
85	150	EA	Sand Screen.	Premiere or Equal.	PAD 5017-80-10	\$3.19	150	Gulf Coast Paper	
86	150	EA	Sand Screen	Premiere or Equal.	PAD5017-100-10	\$2.83	150	Gulf Coast Paper	
87	100	ROLLS	Plastic Shrink Wrap.	Berry Plastic or Equal.	4WX1820	\$10.35	100	Gulf Coast Paper	
89	300	EA	Indoor Floor Mat.	Ground Keeper or Equal.	GK10046WA	\$33.93	300	Gulf Coast Paper	
91	2000	EA	Stainless Steel Cleaner.	Betco or Equal.	06523-00	\$1.99	2000	Gulf Coast Paper	
92	120	CS	Insect Repellent.	SC Johnson	SCJW 611081 Deep Woods	\$53.44	120	Gulf Coast Paper	CC Distributors bid price per can instead
									of per case.
93	60	EA	Plastic Dome Cap.	Rubber Maid or Equal.	2647-88	\$47.85	60	Gulf Coast Paper	
96	144	EA	Polywool Duster.	Unisan or Equal.	UNI-9441 / Assorted Colors	\$2.55	144	Gulf Coast Paper	
98	100	BX	Disinfectant Spray and Deodorizer	Lysol or Equal.		\$22.59	100	Gulf Coast Paper	
101	30	EA	Utility Tilt Truck.	Rubbermaid	1314BLK	\$451.50	30	Gulf Coast Paper	
113	4	BX	Duct Tape	Cantech Duct Pro or Equal.		\$121.68	4	Gulf Coast Paper	
132	50	EA	Safety Vest.	Protective Industries	302-0500 Ansi Class 2	\$6.05	50	Gulf Coast Paper	
			,	Products or Equal.					
133	50	EA	Safety Vest.	Protective Industries	302-0500 Ansi Class 2	\$6.05	50	Gulf Coast Paper	
	50	_/ `		Products or Equal.		Ç0.00	50	22.0 00000 aper	
134	50	EA	Safety Vest.	Protective Industries		\$6.05	50	Gulf Coast Paper	
201	50			Products or Equal.		÷0.05	50	can coust i upci	
				FIGURES OF EQUAL					

Line	Qty	UOM	Description	Manufacturer	Manuf. Number	Award	Award	Awarded Supplier	Award Reason
						Response	Quantity		
135	15	EA	Safety Vest.	Protective Industries	302-0500 ANSI Class 2	\$6.05	15	Gulf Coast Paper	
				Products or Equal.					
L37	144	EA	Utility Pad Holder with Wooden Handle.	3M or Equal	MCO6472	\$6.30	144	Gulf Coast Paper	
.44	100	EA	Trash Can Dolly	Brute or Equal	RCP2640BLA	\$19.44	100	Gulf Coast Paper	
145	50	EA	Bag Heavy Capacity Janitor Cart	Rubbermaid or Equal	1966881	\$36.24	50	Gulf Coast Paper	
147	90	EA	Gym Floor Sealer Oil Base.	Buckeye	Coliseum 450	\$101.51	90	Gulf Coast Paper	
L48	90	EA	Gym Floor Cleaner	Buckeye	Screen Clean	\$29.05	90	Gulf Coast Paper	
21	150	BX	Nitrile Gloves.	Kimberly Clark or Equal.	KCC57373	\$3.13	150	Interboro Packaging Corp.	
24	350	BX	Latex Exam Gloves.	GLX or Equal.	GLX-355	\$3.13	350	Interboro Packaging Corp.	
25	350	BX	Latex Exam Gloves.	GLX or Equal.	GLX-355	\$2.98	350	Interboro Packaging Corp.	
26	150	BX	Powdered Free Latex Gloves.	Ansell or Equal	ANS69318	\$2.98	150	Interboro Packaging Corp.	
27	150	BX	Powdered Free Latex Glove	Ansell or Equal	ANS69318	\$3.13	150	Interboro Packaging Corp.	
8 Alt 1	140	EA	MOP BUCKET WRINGER COMBO GJO02347 SSI# 1564809	GENUINE JOE	GJO02347	\$47.40	140	School Specialty, Inc.	
42 Alt 1	200	EA	FLAG W/ STAFF US 12X18 - SSI# 016785	ANNIN	042800	\$2.79	200	School Specialty, Inc.	
I3 Alt 1	100	EA	FLAG US 4X6 NYLON - SSI# 1303540	ANNIN	2140	\$16.28	100	School Specialty, Inc.	
4 Alt 1	50	EA	FLAG US 6X10 NYLON SSI# 1303549	ANNIN	2300	\$44.87	50	School Specialty, Inc.	
I5 Alt 1	100	EA	FLAG TEXAS 4X6 NYLON - SSI # 1334710	ANNIN	145270	\$20.73	100	School Specialty, Inc.	
94 Alt 1	25	EA	FLAG US 8 X 12 NYLON SSI# 1303658	ANNIN	2320	\$91.99	25	School Specialty, Inc.	
139	100	EA	Porcelain Dry Erase Board	Best-Rite or Equal.	202AH-25	\$238.00	100	School Specialty, Inc.	
140 Alt 1	100	EA	MARKERBOARD PORCELAIN DELUXE 4'X 4' SSI#608475	BEST-RITE	202AD-25	\$129.58	100	School Specialty, Inc.	
141 Alt 1	50	EA	TACKBOARD CORK VALU-TAK 4'X 4' NATURAL CORK SSI#	BEST-RITE	301AD	\$49.92	50	School Specialty, Inc.	
42 Alt 1	50	EA	608882 TACKBOARD CORK VALU-TAK 4'X 8' NATURAL CORK SSI# 608912	BEST-RITE	301AH	\$91.06	50	School Specialty, Inc.	
57	60	CS	Vomit Absorbent.	Big D or Equal.	BGD 150	\$36.50	60	Yanitor Paper and Supplies, LLC	

1	Waste Paper Basket.							
	Supplier	QTY	UOM	Price	Extended	Supplier Notes	Manufacturer	Manuf Num
	CC Distributors, Inc.	125	EA	\$3.30	\$412.50	Continental Commercial 1358BK	Rubbermaid or	IRCP 2955BLA
	Yanitor Paper and Supplies, LL	C 125	EA	\$3.54	\$442.50	1	Rubbermaid or	IRCP 2955BLA
	Gulf Coast Paper	125	EA	\$4.13	\$516.25	O CEDAR 6810	Rubbermaid or	IRCP 2955BLA
	School Specialty, Inc.	125	EA	\$7.16		SSI# 1334534	Rubbermaid or	IRCP 2955BLA
2	Waste Paper Basket.							
	Supplier	QTY	UOM	Price	Extended	Supplier Notes / Alternate Description	Manufacturer	Manuf Num
	Yanitor Paper and Supplies, LL	C 300	EA	No Bid			Marino or Equa	l #WB4120-Bk-
	CC Distributors, Inc.	300	EA	\$6.26	\$1,878.00	Continental Commercial 4114BK	Marino or Equa	l #WB4120-Bk-
	Gulf Coast Paper	300	EA	\$6.48	\$1,944.00	O CEDAR 6815	Marino or Equa	l #WB4120-Bk-
	[ALT1] School Specialty, Inc.	300	EA	\$13.69	\$4,107.00	WASTEBASKET 41 QT -BLACK RUBBERMAII	RUBBERMAID	RCP295600BK
3	Garbage Can 32 Gallon with Li	d						
	Supplier	QTY	UOM	Price	Extended	Supplier Notes	Manufacturer	Manuf Num
	School Specialty, Inc.	50	EA	No Bid			Rubbermaid or	12632
	CC Distributors, Inc.	50	EA	\$18.97	\$948.50	Continental Commercial 3200GY	Rubbermaid or	12632
	Gulf Coast Paper	50	EA	\$24.84	\$1,242.00	O CEDAR 6832 + 6832-1	Rubbermaid or	12632
	Yanitor Paper and Supplies, LL	C 50	EA	\$26.75	\$1,337.50		Rubbermaid or	12632
4	Garbage Can with Lid and Doll	у.						
	Supplier	QTY	UOM	Price	Extended	Supplier Notes	Manufacturer	Manuf Num
	School Specialty, Inc.	150	EA	No Bid			Rubbermaid or	12643-60
	Gulf Coast Paper	150	EA	\$54.84	\$8,226.00	O CEDAR 6844 + 6844-1 + 970000	Rubbermaid or	12643-60
	CC Distributors, Inc.	150	EA	\$57.51	\$8,626.50	Continental Commercial 4444/4445/3255	Rubbermaid or	12643-60
	Yanitor Paper and Supplies, LL	C 150	EA	\$66.00	\$9,900.00		Rubbermaid or	12643-60
5	Bottle and Sprayer Combo.							
	Supplier	QTY	UOM	Price	Extended	Supplier Notes	Manufacturer	Manuf Num
	School Specialty, Inc.	200	ST	No Bid			Unisan or Equa	l. 7120
	Yanitor Paper and Supplies, LL	C 200	ST	No Bid			Unisan or Equa	l. 7120
	CC Distributors, Inc.	200	ST	\$0.80	\$160.00	Continental Commercial 932CG/902RW9	Unisan or Equa	l. 7120
	Gulf Coast Paper	200	ST	\$1.40	\$280.00	BOTTLEQT + HDTRIGQT	Unisan or Equa	l. 7120
6	Plastic Bottle Sprayer.							
	Supplier	QTY	UOM	Price	Extended	Supplier Notes	Manufacturer	Manuf Num
	School Specialty, Inc.	200	EA	No Bid			Impact or Equa	l. UNS55910-9
	Yanitor Paper and Supplies, LL	C 200	EA	No Bid			Impact or Equa	l. UNS55910-9
	CC Distributors, Inc.	200	EA	\$0.38	\$76.00	Continental Commercial 902RW9	Impact or Equa	l. UNS55910-9
	Gulf Coast Paper	200	EA	\$0.91	\$182.00	TOLCO: HDTRIGQT	Impact or Equa	l UNS55910-9
7	Janitorial Cart.							
	Supplier	QTY	UOM	Price	Extended	Supplier Notes / Alternate Description	Manufacturer	Manuf Num
	Gulf Coast Paper	40	EA	\$93.85	\$3,754.00	ODELL MPC100	Rubbermaid or	IFG9T7200BLK
	CC Distributors, Inc.	40	EA	\$106.20	\$4,248.00	Continental Commercial 184GY	Rubbermaid or	IFG9T7200BLK
	Yanitor Paper and Supplies, LL	C 40	EA	\$250.00	\$10,000.00		Rubbermaid or	IFG9T7200BLK
	[ALT1] School Specialty, Inc.	40	EA	\$362.64	\$14,505.60	EXECUTIVE HIGH CAPACITY CART SSI# 147	RUBBERMAID	RCP1861429
8	Mop Bucket with Down Press	Wringe	er					
_	Supplier	QTY	UOM	Price	Extended	Supplier Notes / Alternate Description	Manufacturer	Manuf Num
	Yanitor Paper and Supplies, LL	C 140	EA	No Bid			Continental or	E 335-37Yw
	[ALT1] School Specialty, Inc.	140	EA	\$47.40	\$6,636.00	MOP BUCKET WRINGER COMBO GJO0234	7 GENUINE JOE	GJO02347
	Gulf Coast Paper	140	EA	\$52.41	\$7,337.40	O CEDAR 96989	Continental or	E 335-37Yw
	CC Distributors, Inc.	140	EA	\$68.21		Continental Commercial 335-37YW	Continental or	
9	Bucket / Pail							
	Supplier	QTY	UOM	Price	Extended	Supplier Notes	Manufacturer	Manuf Num
	School Specialty, Inc.	75	EA	No Bid		· ·	Continental or	
	Yanitor Paper and Supplies, LL		EA	No Bid			Continental or	
	CC Distributors, Inc.	75	EA	\$4.09	\$306.75	Continental Commercial 8110RD	Continental or	
	Gulf Coast Paper	75	FΔ	\$4.26	\$319.50		Continental or l	

Gulf Coast Paper

10 House Hold Broom.						
Supplier	QTY	UOM	Price	Extended	Supplier Notes / Alternate Description	Manufacturer Manuf Num
Yanitor Paper and Supplies, LLC	•	EA	No Bid			UNISAN or Equa UNS-932C
CC Distributors, Inc.	300	EA	\$3.44	\$1,032.00	Lasswell 18MX	UNISAN or Equa UNS-932C
Gulf Coast Paper	300	EA	\$6.65	\$1,995.00	ANGLE: UNS932	UNISAN or Equa UNS-932C
[ALT1] School Specialty, Inc.	300	EA	\$9.66	\$2,898.00	BROOM CORN/FIBER WHSE GJO12001EA	GENUINE JOE GJO12001EA
11 Push Broom 18" With Handle						
Supplier	QTY	UOM	Price	Extended	Supplier Notes	Manufacturer Manuf Num
School Specialty, Inc.	30	EA	No Bid			Palmyra or Equa PLB20118 and
Yanitor Paper and Supplies, LLC Gulf Coast Paper	30	EA EA	No Bid \$3.45	6102 FO	MALISH: 6600060	Palmyra or Equa PLB20118 and Palmyra or Equa PLB20118 and
CC Distributors, Inc.	30	EA	\$3.45 \$11.95		Magnolia Brush 1418	Palmyra or Equa PLB20118 and
	50	LA	Ş11.55	<i>455</i> 0.50		
12 Counter Brush with Hardwood	d Handle	e.				
Supplier	QTY	UOM	Price	Extended	Supplier Notes	Manufacturer Manuf Num
School Specialty, Inc.	65	EA	No Bid			Weiler or Equal. 71019
Yanitor Paper and Supplies, LLC	C 65	EA	No Bid			Weiler or Equal. 71019
Gulf Coast Paper	65	EA	\$3.15	\$204.75	MALISH: 6458	Weiler or Equal. 71019
CC Distributors, Inc.	65	EA	\$5.67	\$368.55	Magnolia Brush 54-XBlack Horsehair and F	9 Weiler or Equal. 71019
13 Lobby Dust Pan	QTY	UOM	Price	Extended	Supplier Notes / Alternate Description	Manufacturer Manuf Num
Supplier Yanitor Paper and Supplies, LLC	•	EA	No Bid	Extended	Supplier Notes / Alternate Description	Lobby Master or 2600
CC Distributors, Inc.	120	EA	\$6.85	\$822.00	Continental Commercial 912BK	Lobby Master of 2600
Gulf Coast Paper	120	EA	\$0.85	\$822.00		Lobby Master of 2600
[ALT1] School Specialty, Inc.	120	EA	\$19.14		DUST PAN UPRIGHT LOBBY PRO BLACK SSI	
<u></u>						
14 Finish Mop Head.						
Supplier	QTY	UOM	Price	Extended	Supplier Notes	Manufacturer Manuf Num
School Specialty, Inc.	250	EA	No Bid			Unisan or Equal UNS542
Yanitor Paper and Supplies, LLC	C 250	EA	No Bid			Unisan or Equal UNS542
Gulf Coast Paper	250	EA	\$4.50	\$1,125.00		Unisan or Equal UNS542
CC Distributors, Inc.	250	EA	\$5.89	\$1,472.50	Triple S 37826	Unisan or Equal UNS542
15 Wet Mop Head.						
Supplier	QTY	UOM	Price	Extended	Supplier Notes / Alternate Description	Manufacturer Manuf Num
					which is a second secon	
Yanitor Paper and Supplies, LLC	C 2500	EA	No Bid			Unisan or Equal UNS424R
Yanitor Paper and Supplies, LLC Gulf Coast Paper	C 2500 2500	EA EA	No Bid \$4.94	\$12,350.00	RM 30245	Unisan or Equal. UNS424R Unisan or Equal. UNS424R
					RM 30245 MOP WET NO.24 RAYON CUT END GJON24	Unisan or Equal UNS424R
Gulf Coast Paper	2500	EA	\$4.94	\$13,775.00		Unisan or Equal UNS424R
Gulf Coast Paper [ALT1] School Specialty, Inc. CC Distributors, Inc.	2500 2500	EA EA	\$4.94 \$5.51	\$13,775.00	MOP WET NO.24 RAYON CUT END GJON24	Unisan or Equal UNS424R 4 GENUINE JOE GJON24RAYEA
Gulf Coast Paper [ALT1] School Specialty, Inc. CC Distributors, Inc. 16 Mop Handle.	2500 2500 2500	EA EA EA	\$4.94 \$5.51 \$6.18	\$13,775.00 \$15,450.00	MOP WET NO.24 RAYON CUT END GJON24 Golden Star AST30M	Unisan or Equal. UNS424R 4 GENUINE JOE GJON24RAYEA Unisan or Equal. UNS424R
Gulf Coast Paper [ALT1] School Specialty, Inc. CC Distributors, Inc. 16 Mop Handle. Supplier	2500 2500 2500 QTY	EA EA EA UOM	\$4.94 \$5.51 \$6.18 Price	\$13,775.00	MOP WET NO.24 RAYON CUT END GJON24	Unisan or Equal UNS424R 4 GENUINE JOE GJON24RAYEA Unisan or Equal UNS424R Manufacturer Manuf Num
Gulf Coast Paper [ALT1] School Specialty, Inc. CC Distributors, Inc. 16 Mop Handle. Supplier School Specialty, Inc.	2500 2500 2500 QTY 250	EA EA EA UOM EA	\$4.94 \$5.51 \$6.18 Price No Bid	\$13,775.00 \$15,450.00	MOP WET NO.24 RAYON CUT END GJON24 Golden Star AST30M	Unisan or Equal UNS424R GENUINE JOE GJON24RAYEA Unisan or Equal UNS424R Manufacturer Manuf Num Impact or Equal IMP-94
Gulf Coast Paper [ALT1] School Specialty, Inc. CC Distributors, Inc. 16 Mop Handle. Supplier School Specialty, Inc. Yanitor Paper and Supplies, LLC	2500 2500 2500 QTY 250 C 250	EA EA EA UOM EA EA	\$4.94 \$5.51 \$6.18 Price No Bid No Bid	\$13,775.00 \$15,450.00 Extended	MOP WET NO.24 RAYON CUT END GJON24 Golden Star AST30M Supplier Notes	Unisan or Equal UNS424R GENUINE JOE GJON24RAYEA Unisan or Equal UNS424R Manufacturer Manuf Num Impact or Equal IMP-94 Impact or Equal IMP-94
Gulf Coast Paper [ALT1] School Specialty, Inc. CC Distributors, Inc. 16 Mop Handle. Supplier School Specialty, Inc. Yanitor Paper and Supplies, LLC Gulf Coast Paper	2500 2500 2500 QTY 250 C 250 250	EA EA EA UOM EA EA EA EA	\$4.94 \$5.51 \$6.18 Price No Bid No Bid \$7.05	\$13,775.00 \$15,450.00 Extended \$1,762.50	MOP WET NO.24 RAYON CUT END GJON24 Golden Star AST30M Supplier Notes O CEDAR 6542	Unisan or Equal. UNS424R 4 GENUINE JOE GJON24RAYEA Unisan or Equal. UNS424R Manufacturer Manuf Num Impact or Equal IMP-94 Impact or Equal IMP-94 Impact or Equal IMP-94
Gulf Coast Paper [ALT1] School Specialty, Inc. CC Distributors, Inc. 16 Mop Handle. Supplier School Specialty, Inc. Yanitor Paper and Supplies, LLC	2500 2500 2500 QTY 250 C 250	EA EA EA UOM EA EA	\$4.94 \$5.51 \$6.18 Price No Bid No Bid	\$13,775.00 \$15,450.00 Extended \$1,762.50	MOP WET NO.24 RAYON CUT END GJON24 Golden Star AST30M Supplier Notes	Unisan or Equal UNS424R GENUINE JOE GJON24RAYEA Unisan or Equal UNS424R Manufacturer Manuf Num Impact or Equal IMP-94 Impact or Equal IMP-94
Gulf Coast Paper [ALT1] School Specialty, Inc. CC Distributors, Inc. 16 Mop Handle. Supplier School Specialty, Inc. Yanitor Paper and Supplies, LLC Gulf Coast Paper CC Distributors, Inc.	2500 2500 2500 QTY 250 C 250 250	EA EA EA UOM EA EA EA EA	\$4.94 \$5.51 \$6.18 Price No Bid No Bid \$7.05	\$13,775.00 \$15,450.00 Extended \$1,762.50	MOP WET NO.24 RAYON CUT END GJON24 Golden Star AST30M Supplier Notes O CEDAR 6542	Unisan or Equal. UNS424R 4 GENUINE JOE GJON24RAYEA Unisan or Equal. UNS424R Manufacturer Manuf Num Impact or Equal IMP-94 Impact or Equal IMP-94 Impact or Equal IMP-94
Gulf Coast Paper [ALT1] School Specialty, Inc. CC Distributors, Inc. 16 Mop Handle. Supplier School Specialty, Inc. Yanitor Paper and Supplies, LLC Gulf Coast Paper	2500 2500 2500 QTY 250 C 250 250	EA EA EA UOM EA EA EA EA	\$4.94 \$5.51 \$6.18 Price No Bid No Bid \$7.05	\$13,775.00 \$15,450.00 Extended \$1,762.50	MOP WET NO.24 RAYON CUT END GJON24 Golden Star AST30M Supplier Notes O CEDAR 6542	Unisan or Equal. UNS424R 4 GENUINE JOE GJON24RAYEA Unisan or Equal. UNS424R Manufacturer Manuf Num Impact or Equal IMP-94 Impact or Equal IMP-94 Impact or Equal IMP-94
Gulf Coast Paper [ALT1] School Specialty, Inc. CC Distributors, Inc. 16 Mop Handle. Supplier School Specialty, Inc. Yanitor Paper and Supplies, LLC Gulf Coast Paper CC Distributors, Inc. 17 Wedge Mop Head	2500 2500 2500 QTY 250 250 250 250	EA EA EA EA EA EA EA EA	\$4.94 \$5.51 \$6.18 Price No Bid No Bid \$7.05 \$7.85	\$13,775.00 \$15,450.00 Extended \$1,762.50 \$1,962.50	MOP WET NO.24 RAYON CUT END GJON24 Golden Star AST30M Supplier Notes O CEDAR 6542 Triple S 37970	Unisan or Equal. UNS424R 4 GENUINE JOE GJON24RAYEA Unisan or Equal. UNS424R Manufacturer Manuf Num Impact or Equal IMP-94 Impact or Equal IMP-94 Impact or Equal IMP-94 Impact or Equal IMP-94
Gulf Coast Paper [ALT1] School Specialty, Inc. CC Distributors, Inc. 16 Mop Handle. Supplier School Specialty, Inc. Yanitor Paper and Supplies, LLC Gulf Coast Paper CC Distributors, Inc. 17 Wedge Mop Head Supplier	2500 2500 2500 250 250 250 250 250 250 2	EA EA EA UOM EA EA EA EA EA	\$4.94 \$5.51 \$6.18 Price No Bid No Bid \$7.05 \$7.85 Price	\$13,775.00 \$15,450.00 Extended \$1,762.50 \$1,962.50	MOP WET NO.24 RAYON CUT END GJON24 Golden Star AST30M Supplier Notes O CEDAR 6542 Triple S 37970	Unisan or Equal. UNS424R 4 GENUINE JOE GJON24RAYEA Unisan or Equal. UNS424R Manufacturer Manuf Num Impact or Equal IMP-94 Impact or Equal IMP-94 Impact or Equal IMP-94 Impact or Equal IMP-94 Impact or Equal IMP-94
Gulf Coast Paper [ALT1] School Specialty, Inc. CC Distributors, Inc. 16 Mop Handle. Supplier School Specialty, Inc. Yanitor Paper and Supplies, LLC Gulf Coast Paper CC Distributors, Inc. 17 Wedge Mop Head Supplier School Specialty, Inc.	2500 2500 2500 250 250 250 250 250 250 2	EA EA EA UOM EA EA EA EA EA EA	\$4.94 \$5.51 \$6.18 Price No Bid No Bid \$7.05 \$7.85 Price No Bid	\$13,775.00 \$15,450.00 Extended \$1,762.50 \$1,962.50 Extended	MOP WET NO.24 RAYON CUT END GJON24 Golden Star AST30M Supplier Notes O CEDAR 6542 Triple S 37970	Unisan or Equal. UNS424R 4 GENUINE JOE GJON24RAYEA Unisan or Equal. UNS424R Manufacturer Manuf Num Impact or Equal IMP-94 Impact or Equal UMP-94 Impact or Equal UMP-94
Gulf Coast Paper [ALT1] School Specialty, Inc. CC Distributors, Inc. 16 Mop Handle. Supplier School Specialty, Inc. Yanitor Paper and Supplies, LLC Gulf Coast Paper CC Distributors, Inc. 17 Wedge Mop Head Supplier School Specialty, Inc. Yanitor Paper and Supplies, LLC Yanitor Paper and Supplies, LLC	2500 2500 2500 250 250 250 250 250 250 2	EA EA EA UOM EA EA EA EA EA EA EA	\$4.94 \$5.51 \$6.18 Price No Bid No Bid \$7.05 \$7.85 Price No Bid No Bid	\$13,775.00 \$15,450.00 Extended \$1,762.50 \$1,962.50 Extended \$801.50	MOP WET NO.24 RAYON CUT END GJON24 Golden Star AST30M Supplier Notes O CEDAR 6542 Triple S 37970 Supplier Notes	Unisan or Equal. UNS424R 4 GENUINE JOE GJON24RAYEA Unisan or Equal. UNS424R Manufacturer Manuf Num Impact or Equal IMP-94 Impact or Equal UMP-94 Unisan or Equal UNS1491 Unisan or Equal UNS1491
Gulf Coast Paper [ALT1] School Specialty, Inc. CC Distributors, Inc. 16 Mop Handle. Supplier School Specialty, Inc. Yanitor Paper and Supplies, LLC Gulf Coast Paper CC Distributors, Inc. 17 Wedge Mop Head Supplier School Specialty, Inc. Yanitor Paper and Supplies, LLC Gulf Coast Paper CC Distributors, Inc. Gulf Coast Paper CC Distributors, Inc.	2500 2500 2500 250 250 250 250 250 250 2	EA EA EA UOM EA EA EA EA EA EA EA EA	\$4.94 \$5.51 \$6.18 Price No Bid \$7.05 \$7.85 Price No Bid No Bid No Bid \$2.29	\$13,775.00 \$15,450.00 Extended \$1,762.50 \$1,962.50 Extended \$801.50	MOP WET NO.24 RAYON CUT END GJON24 Golden Star AST30M Supplier Notes O CEDAR 6542 Triple S 37970 Supplier Notes NEXSTEP: WDGHD	Unisan or Equal. UNS424R 4 GENUINE JOE GJON24RAYEA Unisan or Equal. UNS424R Manufacturer Manuf Num Impact or Equal IMP-94 Impact or Equal UMP-94 Unisan or Equal UNS1491 Unisan or Equal UNS1491 Unisan or Equal UNS1491
Gulf Coast Paper [ALT1] School Specialty, Inc. CC Distributors, Inc. 16 Mop Handle. Supplier School Specialty, Inc. Yanitor Paper and Supplies, LLG Gulf Coast Paper CC Distributors, Inc. 17 Wedge Mop Head Supplier School Specialty, Inc. Yanitor Paper and Supplies, LLG Gulf Coast Paper CC Distributors, Inc. 17 Wedge Mop Head Supplier School Specialty, Inc. Yanitor Paper and Supplies, LLG Gulf Coast Paper CC Distributors, Inc. 18 Wedge Mop Handle.	2500 2500 2500 250 250 250 250 250 250 2	EA EA EA UOM EA EA EA EA EA EA EA EA	\$4.94 \$5.51 \$6.18 Price No Bid \$7.05 \$7.85 Price No Bid No Bid \$0 Bid \$2.29 \$2.49	\$13,775.00 \$15,450.00 Extended \$1,762.50 \$1,962.50 Extended \$801.50 \$871.50	MOP WET NO.24 RAYON CUT END GJON24 Golden Star AST30M Supplier Notes O CEDAR 6542 Triple S 37970 Supplier Notes NEXSTEP: WDGHD Triple S 37385	Unisan or Equal. UNS424R 4 GENUINE JOE GJON24RAYEA Unisan or Equal. UNS424R Manufacturer Manuf Num Impact or Equal IMP-94 Impact or Equal IMP-94 Impact or Equal IMP-94 Impact or Equal IMP-94 Impact or Equal UMP-94 Manufacturer Manuf Num Unisan or Equal UNS1491 Unisan or Equal UNS1491 Unisan or Equal UNS1491 Unisan or Equal UNS1491
Gulf Coast Paper [ALT1] School Specialty, Inc. CC Distributors, Inc. 16 Mop Handle. Supplier School Specialty, Inc. Yanitor Paper and Supplies, LLG Gulf Coast Paper CC Distributors, Inc. 17 Wedge Mop Head Supplier School Specialty, Inc. Yanitor Paper and Supplies, LLG Gulf Coast Paper CC Distributors, Inc. 17 Wedge Mop Head Supplier School Specialty, Inc. Yanitor Paper and Supplies, LLG Gulf Coast Paper CC Distributors, Inc. 18 Wedge Mop Handle. Supplier	2500 2500 2500 250 250 250 250 250 250 2	EA EA EA UOM EA EA EA EA EA EA EA EA EA EA	\$4.94 \$5.51 \$6.18 Price No Bid No Bid \$7.05 \$7.85 Price No Bid No Bid \$2.29 \$2.49	\$13,775.00 \$15,450.00 Extended \$1,762.50 \$1,962.50 Extended \$801.50	MOP WET NO.24 RAYON CUT END GJON24 Golden Star AST30M Supplier Notes O CEDAR 6542 Triple S 37970 Supplier Notes NEXSTEP: WDGHD	Unisan or Equal. UNS424R 4 GENUINE JOE GJON24RAYEA Unisan or Equal. UNS424R Manufacturer Manuf Num Impact or Equal IMP-94 Impact or Equal IMP-94 Impact or Equal IMP-94 Impact or Equal IMP-94 Impact or Equal UMP-94 Manufacturer Manuf Num Unisan or Equal UNS1491 Unisan or Equal UNS1491 Unisan or Equal UNS1491 Unisan or Equal UNS1491 Unisan or Equal UNS1491
Gulf Coast Paper [ALT1] School Specialty, Inc. CC Distributors, Inc. 16 Mop Handle. Supplier School Specialty, Inc. Yanitor Paper and Supplies, LLG Gulf Coast Paper CC Distributors, Inc. 17 Wedge Mop Head Supplier School Specialty, Inc. Yanitor Paper and Supplies, LLG Gulf Coast Paper CC Distributors, Inc. 17 Wedge Mop Head Supplier School Specialty, Inc. Yanitor Paper and Supplies, LLG Gulf Coast Paper CC Distributors, Inc. 18 Wedge Mop Handle. Supplier School Specialty, Inc.	2500 2500 2500 250 250 250 250 250 250 2	EA EA EA UOM EA EA EA EA EA EA EA EA EA EA	\$4.94 \$5.51 \$6.18 Price No Bid No Bid \$7.05 \$7.85 Price No Bid No Bid \$2.29 \$2.49 Price No Bid	\$13,775.00 \$15,450.00 Extended \$1,762.50 \$1,962.50 Extended \$801.50 \$871.50	MOP WET NO.24 RAYON CUT END GJON24 Golden Star AST30M Supplier Notes O CEDAR 6542 Triple S 37970 Supplier Notes NEXSTEP: WDGHD Triple S 37385	Unisan or Equal. UNS424R 4 GENUINE JOE GJON24RAYEA Unisan or Equal. UNS424R Manufacturer Manuf Num Impact or Equal IMP-94 Impact or Equal IMP-94 Impact or Equal IMP-94 Impact or Equal IMP-94 Impact or Equal UMP-94 Manufacturer Manuf Num Unisan or Equal UNS1491 Unisan or Equal UNS1491
Gulf Coast Paper [ALT1] School Specialty, Inc. CC Distributors, Inc. 16 Mop Handle. Supplier School Specialty, Inc. Yanitor Paper and Supplies, LLG Gulf Coast Paper CC Distributors, Inc. 17 Wedge Mop Head Supplier School Specialty, Inc. Yanitor Paper and Supplies, LLG Gulf Coast Paper CC Distributors, Inc. 18 Wedge Mop Handle. Supplier School Specialty, Inc. Yanitor Paper and Supplies, LLG Yanitor Paper and Supplies, LLG Yupplier School Specialty, Inc. Yanitor Paper and Supplies, LLG Yanitor Paper and Supplies, LLG	2500 2500 2500 250 250 250 250 250 250 2	EA EA EA UOM EA EA EA EA EA EA EA EA EA EA EA EA EA	\$4.94 \$5.51 \$6.18 Price No Bid No Bid \$7.05 \$7.85 Price No Bid No Bid \$2.29 \$2.49 Price No Bid No Bid	\$13,775.00 \$15,450.00 Extended \$1,762.50 \$1,962.50 Extended \$801.50 \$871.50 Extended	MOP WET NO.24 RAYON CUT END GJON24 Golden Star AST30M Supplier Notes O CEDAR 6542 Triple S 37970 Supplier Notes NEXSTEP: WDGHD Triple S 37385 Supplier Notes	Unisan or Equal. UNS424R 4 GENUINE JOE GJON24RAYEA Unisan or Equal. UNS424R Manufacturer Manuf Num Impact or Equal IMP-94 Impact or Equal IMP-94 Impact or Equal IMP-94 Impact or Equal IMP-94 Impact or Equal UMP-94 Manufacturer Manuf Num Unisan or Equal UNS1491 Unisan or Equal UNS1491
Gulf Coast Paper [ALT1] School Specialty, Inc. CC Distributors, Inc. 16 Mop Handle. Supplier School Specialty, Inc. Yanitor Paper and Supplies, LLG Gulf Coast Paper CC Distributors, Inc. 17 Wedge Mop Head Supplier School Specialty, Inc. Yanitor Paper and Supplies, LLG Gulf Coast Paper CC Distributors, Inc. 18 Wedge Mop Handle. Supplier School Specialty, Inc. Yanitor Paper and Supplies, LLG Gulf Coast Paper CC Distributors, Inc. 18 Wedge Mop Handle. Supplier School Specialty, Inc. Yanitor Paper and Supplies, LLG CC Distributors, Inc.	2500 2500 2500 250 250 250 250 250 250 2	EA EA EA UOM EA EA EA EA EA EA EA EA EA EA EA EA EA	\$4.94 \$5.51 \$6.18 Price No Bid No Bid \$7.05 \$7.85 77.85 No Bid No Bid \$2.29 \$2.49 22.49 No Bid No Bid No Bid No Bid \$2.29	\$13,775.00 \$15,450.00 Extended \$1,762.50 \$1,962.50 Extended \$801.50 \$871.50 Extended \$429.00	MOP WET NO.24 RAYON CUT END GJON24 Golden Star AST30M Supplier Notes O CEDAR 6542 Triple S 37970 Supplier Notes NEXSTEP: WDGHD Triple S 37385 Supplier Notes Triple S 37387	Unisan or Equal. UNS424R 4 GENUINE JOE GJON24RAYEA Unisan or Equal. UNS424R Manufacturer Manuf Num Impact or Equal IMP-94 Impact or Equal IMP-94 Impact or Equal IMP-94 Impact or Equal IMP-94 Impact or Equal UMP-94 Manufacturer Manuf Num Unisan or Equal UNS1491 Unisan or Equal UNS1492 Unisan or Equal UNS-1492 Unisan or Equal UNS-1492
Gulf Coast Paper [ALT1] School Specialty, Inc. CC Distributors, Inc. 16 Mop Handle. Supplier School Specialty, Inc. Yanitor Paper and Supplies, LLG Gulf Coast Paper CC Distributors, Inc. 17 Wedge Mop Head Supplier School Specialty, Inc. Yanitor Paper and Supplies, LLG Gulf Coast Paper CC Distributors, Inc. 18 Wedge Mop Handle. Supplier School Specialty, Inc. Yanitor Paper and Supplies, LLG Gulf Coast Paper CC Distributors, Inc. 18 Wedge Mop Handle. Supplier School Specialty, Inc. Yanitor Paper and Supplies, LLG Yanitor Paper and Supplies, LLG	2500 2500 2500 250 250 250 250 250 250 2	EA EA EA UOM EA EA EA EA EA EA EA EA EA EA EA EA EA	\$4.94 \$5.51 \$6.18 Price No Bid No Bid \$7.05 \$7.85 Price No Bid No Bid \$2.29 \$2.49 Price No Bid No Bid	\$13,775.00 \$15,450.00 Extended \$1,762.50 \$1,962.50 Extended \$801.50 \$871.50 Extended \$429.00	MOP WET NO.24 RAYON CUT END GJON24 Golden Star AST30M Supplier Notes O CEDAR 6542 Triple S 37970 Supplier Notes NEXSTEP: WDGHD Triple S 37385 Supplier Notes	Unisan or Equal. UNS424R 4 GENUINE JOE GJON24RAYEA Unisan or Equal. UNS424R Manufacturer Manuf Num Impact or Equal IMP-94 Impact or Equal IMP-94 Impact or Equal IMP-94 Impact or Equal IMP-94 Impact or Equal UMP-94 Manufacturer Manuf Num Unisan or Equal UNS1491 Unisan or Equal UNS1491
Gulf Coast Paper [ALT1] School Specialty, Inc. CC Distributors, Inc. 16 Mop Handle. Supplier School Specialty, Inc. Yanitor Paper and Supplies, LLG Gulf Coast Paper CC Distributors, Inc. 17 Wedge Mop Head Supplier School Specialty, Inc. Yanitor Paper and Supplies, LLG Gulf Coast Paper CC Distributors, Inc. 18 Wedge Mop Handle. Supplier School Specialty, Inc. Yanitor Paper and Supplies, LLG Gulf Coast Paper CC Distributors, Inc. 18 Wedge Mop Handle. Supplier School Specialty, Inc. Yanitor Paper and Supplies, LLG CC Distributors, Inc. Gulf Coast Paper CC Distributors, Inc. Gulf Coast Paper	2500 2500 2500 250 250 250 250 250 250 2	EA EA EA UOM EA EA EA EA EA EA EA EA EA EA EA EA EA	\$4.94 \$5.51 \$6.18 Price No Bid No Bid \$7.05 \$7.85 77.85 No Bid No Bid \$2.29 \$2.49 22.49 No Bid No Bid No Bid No Bid \$2.29	\$13,775.00 \$15,450.00 Extended \$1,762.50 \$1,962.50 Extended \$801.50 \$871.50 Extended \$429.00	MOP WET NO.24 RAYON CUT END GJON24 Golden Star AST30M Supplier Notes O CEDAR 6542 Triple S 37970 Supplier Notes NEXSTEP: WDGHD Triple S 37385 Supplier Notes Triple S 37387	Unisan or Equal. UNS424R 4 GENUINE JOE GJON24RAYEA Unisan or Equal. UNS424R Manufacturer Manuf Num Impact or Equal IMP-94 Impact or Equal IMP-94 Impact or Equal IMP-94 Impact or Equal IMP-94 Impact or Equal UMP-94 Manufacturer Manuf Num Unisan or Equal UNS1491 Unisan or Equal UNS1492 Unisan or Equal UNS-1492 Unisan or Equal UNS-1492
Gulf Coast Paper [ALT1] School Specialty, Inc. CC Distributors, Inc. 16 Mop Handle. Supplier School Specialty, Inc. Yanitor Paper and Supplies, LLG Gulf Coast Paper CC Distributors, Inc. 17 Wedge Mop Head Supplier School Specialty, Inc. Yanitor Paper and Supplies, LLG Gulf Coast Paper CC Distributors, Inc. 18 Wedge Mop Handle. Supplier School Specialty, Inc. Yanitor Paper and Supplies, LLG Gulf Coast Paper CC Distributors, Inc. 18 Wedge Mop Handle. Supplier School Specialty, Inc. Yanitor Paper and Supplies, LLG CC Distributors, Inc.	2500 2500 2500 250 250 250 250 250 250 2	EA EA EA UOM EA EA EA EA EA EA EA EA EA EA EA EA EA	\$4.94 \$5.51 \$6.18 Price No Bid No Bid \$7.05 \$7.85 77.85 No Bid No Bid \$2.29 \$2.49 22.49 No Bid No Bid No Bid No Bid \$2.29	\$13,775.00 \$15,450.00 Extended \$1,762.50 \$1,962.50 Extended \$801.50 \$871.50 Extended \$429.00	MOP WET NO.24 RAYON CUT END GJON24 Golden Star AST30M Supplier Notes O CEDAR 6542 Triple S 37970 Supplier Notes NEXSTEP: WDGHD Triple S 37385 Supplier Notes Triple S 37387	Unisan or Equal. UNS424R 4 GENUINE JOE GJON24RAYEA Unisan or Equal. UNS424R Manufacturer Manuf Num Impact or Equal IMP-94 Impact or Equal IMP-94 Impact or Equal IMP-94 Impact or Equal IMP-94 Impact or Equal UMP-94 Manufacturer Manuf Num Unisan or Equal UNS1491 Unisan or Equal UNS1492 Unisan or Equal UNS-1492 Unisan or Equal UNS-1492
Gulf Coast Paper [ALT1] School Specialty, Inc. CC Distributors, Inc. 16 Mop Handle. Supplier School Specialty, Inc. Yanitor Paper and Supplies, LLG Gulf Coast Paper CC Distributors, Inc. 17 Wedge Mop Head Supplier School Specialty, Inc. Yanitor Paper and Supplies, LLG Gulf Coast Paper CC Distributors, Inc. 18 Wedge Mop Handle. Supplier School Specialty, Inc. Yanitor Paper and Supplies, LLG Gulf Coast Paper CC Distributors, Inc. 18 Wedge Mop Handle. Supplier School Specialty, Inc. Yanitor Paper and Supplies, LLG CC Distributors, Inc. Gulf Coast Paper CD Distributors, Inc. Gulf Coast Paper 19 Toilet Plunger.	2500 2500 2500 250 250 250 250 250 250 2	ЕА ЕА ВА ВА ВА ВА ВА ВА ВА ВА ВА В	\$4.94 \$5.51 \$6.18 Price No Bid No Bid \$7.05 \$7.85 Price No Bid No Bid \$2.29 \$2.49 Price No Bid No Bid \$2.49	\$13,775.00 \$15,450.00 Extended \$1,762.50 \$1,962.50 Extended \$801.50 \$871.50 Extended \$429.00 \$444.00	MOP WET NO.24 RAYON CUT END GJON24 Golden Star AST30M Supplier Notes O CEDAR 6542 Triple S 37970 Supplier Notes NEXSTEP: WDGHD Triple S 37385 Supplier Notes Triple S 37387 NEXSTEP: WDGF	Unisan or Equal. UNS424R 4 GENUINE JOE GJON24RAYEA Unisan or Equal. UNS424R Manufacturer Manuf Num Impact or Equal IMP-94 Impact or Equal IMP-94 Impact or Equal IMP-94 Impact or Equal IMP-94 Impact or Equal UNS1491 Unisan or Equal UNS1492 Unisan or Equal UNS1492 Unisan or Equal UNS-1492 Unisan or Equal UNS-1492 Unisan or Equal UNS-1492 Unisan or Equal UNS-1492
Gulf Coast Paper [ALT1] School Specialty, Inc. CC Distributors, Inc. 16 Mop Handle. Supplier School Specialty, Inc. Yanitor Paper and Supplies, LLG Gulf Coast Paper CC Distributors, Inc. 17 Wedge Mop Head Supplier School Specialty, Inc. Yanitor Paper and Supplies, LLG Gulf Coast Paper CC Distributors, Inc. 18 Wedge Mop Handle. Supplier School Specialty, Inc. Yanitor Paper and Supplies, LLG Gulf Coast Paper CC Distributors, Inc. 18 Wedge Mop Handle. Supplier School Specialty, Inc. Yanitor Paper and Supplies, LLG CC Distributors, Inc. Gulf Coast Paper 19 Toilet Plunger. Supplier	2500 2500 2500 250 250 250 250 250 250 2	ЕА ЕА ЕА ЕА ЕА ЕА ЕА ЕА ЕА ЕА	\$4.94 \$5.51 \$6.18 Price No Bid No Bid \$7.05 \$7.85 Price No Bid No Bid \$2.29 \$2.49 Price No Bid No Bid \$4.29 \$4.44	\$13,775.00 \$15,450.00 Extended \$1,762.50 \$1,962.50 Extended \$801.50 \$871.50 Extended \$429.00 \$444.00	MOP WET NO.24 RAYON CUT END GJON24 Golden Star AST30M Supplier Notes O CEDAR 6542 Triple S 37970 Supplier Notes NEXSTEP: WDGHD Triple S 37385 Supplier Notes Triple S 37387 NEXSTEP: WDGF	Unisan or Equal. UNS424R 4 GENUINE JOE GJON24RAYEA Unisan or Equal. UNS424R Manufacturer Manuf Num Impact or Equal IMP-94 Impact or Equal IMP-94 Impact or Equal IMP-94 Impact or Equal IMP-94 Impact or Equal UNS1491 Unisan or Equal UNS1492 Unisan or Equal UNS1492 Unisan or Equal UNS-1492 Unisan or Equal UNS-1492
Gulf Coast Paper [ALT1] School Specialty, Inc. CC Distributors, Inc. 16 Mop Handle. Supplier School Specialty, Inc. Yanitor Paper and Supplies, LLG Gulf Coast Paper CC Distributors, Inc. 17 Wedge Mop Head Supplier School Specialty, Inc. Yanitor Paper and Supplies, LLG Gulf Coast Paper CC Distributors, Inc. Gulf Coast Paper CC Distributors, Inc. Gulf Coast Paper CC Distributors, Inc. Supplier School Specialty, Inc. Yanitor Paper and Supplies, LLG Gulf Coast Paper CC Distributors, Inc. Gulf Coast Paper CC Distributors, Inc. Gulf Coast Paper 19 Toilet Plunger. Supplier Gulf Coast Paper	2500 2500 2500 250 250 250 250 250 250 2	EA EA EA EA EA EA EA EA EA EA EA EA EA E	\$4.94 \$5.51 \$6.18 Price No Bid No Bid \$7.05 \$7.85 Price No Bid No Bid \$2.29 \$2.49 \$2.49 Price No Bid No Bid No Bid \$4.29 \$4.44	\$13,775.00 \$15,450.00 Extended \$1,762.50 \$1,962.50 Extended \$801.50 \$871.50 Extended \$429.00 \$444.00	MOP WET NO.24 RAYON CUT END GJON24 Golden Star AST30M Supplier Notes O CEDAR 6542 Triple S 37970 Supplier Notes NEXSTEP: WDGHD Triple S 37385 Supplier Notes Triple S 37387 NEXSTEP: WDGF	Unisan or Equal. UNS424R 4 GENUINE JOE GJON24RAYEA Unisan or Equal. UNS424R Manufacturer Manuf Num Impact or Equal IMP-94 Impact or Equal IMP-94 Impact or Equal IMP-94 Impact or Equal IMP-94 Impact or Equal UNS1491 Unisan or Equal UNS1492 Unisan or Equal UNS1492 Unisan or Equal UNS-1492 Unisan or Equal UNS-1492 UNS-1

o "	0				A 11 M 1 / 11		
Supplier	QTY	UOM	Price	Extended	Supplier Notes / Alternate Description	Manufacturer	
Yanitor Paper and Supplies, LLC	2 50	EA	No Bid			GT Water Produ	C5TF30
School Specialty, Inc.	50	EA	No Bid			GT Water Produ	C5TF30
[ALT1] CC Distributors, Inc.	50	EA	\$1.72	\$86.00	Plumb Pak PP845-2 PLUNGER 4" W/9" HA	l Plumb Pak	PP845-2
Gulf Coast Paper	50	EA	\$2.43	\$121.50	520	GT Water Produ	C5TF30
4							
1 Nitrile Gloves. Supplier	QTY	UOM	Price	Extended	Supplier Notes	Manufacturer	ManufNun
				Extended	Supplier Notes		
Yanitor Paper and Supplies, LLC		BX	No Bid	¢460 го	Prend Aurolia NDEC L. As not semple #21.	Kimberly Clark o	
Interboro Packaging Corp. CC Distributors. Inc.	150	BX BX	\$3.13		Brand:Aurelia-NPFG-L, As per sample #21,	,	
··· ··· ··· ·/ ·	150 150		\$3.79	•	ProWorks N103FL HOSPITAL SPECIALTY: N106FL	Kimberly Clark o	
Gulf Coast Paper School Specialty, Inc.	150	BX BX	\$3.85 \$10.95	\$1,642.50	HOSPITAL SPECIALTY: N106FL	Kimberly Clark of Kimberly Cla	
School Specialty, Inc.	150	DA	Ş10.55	J1,042.30		Kinderty clark c	INCC57575
2 Rubber Gloves.							
Supplier	QTY	UOM	Price	Extended	Supplier Notes	Manufacturer	Manuf Nun
School Specialty, Inc.	100	BX	No Bid			Safety Zone or E	41634
Yanitor Paper and Supplies, LLC	2 100	BX	No Bid			Safety Zone or E	41634
CC Distributors, Inc.	100	BX	\$5.63	\$563.00	ProWorks L116LM	Safety Zone or E	41634
Gulf Coast Paper	100	BX	\$5.70	\$570.00	HOSPITAL SPECIALTY: L116LM	Safety Zone or B	
3 Rubber Gloves.							
Supplier	QTY	UOM	Price	Extended	Supplier Notes	Manufacturer	Manuf Nun
School Specialty, Inc.	100	BX	No Bid			Safety Zone	41634
Yanitor Paper and Supplies, LLC		BX	No Bid			Safety Zone	41634
CC Distributors, Inc.	100	BX	\$5.63	\$563.00	ProWorks L116LL	Safety Zone	41634
Gulf Coast Paper	100	BX	\$5.70		HOSPITAL SPECIALTY: L116LL	Safety Zone	41634
	100	57	çon e	<i>\$57</i> 6 100		50.007 20100	1200
Latex Exam Gloves.							
Supplier	QTY	UOM	Price	Extended	Supplier Notes	Manufacturer	Manuf Nur
School Specialty, Inc.	350	BX	No Bid			GLX or Equal.	GLX-355
Yanitor Paper and Supplies, LLC	350	BX	No Bid			GLX or Equal.	GLX-355
Interboro Packaging Corp.	350	BX	\$3.13	\$1,095.50	Brand: Aurelia-LPFG-E-L, As per sample #2	GLX or Equal.	GLX-355
Gulf Coast Paper	350	BX	\$3.47	\$1,214.50	62323L	GLX or Equal.	GLX-355
Sun Coast raper							
CC Distributors, Inc.	350	BX	\$4.02	\$1,407.00	ProWorks L106FL	GLX or Equal.	GLX-355
CC Distributors, Inc.	350	BX	\$4.02	\$1,407.00	ProWorks L106FL	GLX or Equal.	GLX-355
CC Distributors, Inc.	350 QTY	BX	\$4.02 Price	\$1,407.00 Extended	ProWorks L106FL Supplier Notes	GLX or Equal. Manufacturer	
CC Distributors, Inc.							
CC Distributors, Inc. Latex Exam Gloves. Supplier	QTY 350	UOM	Price			Manufacturer	Manuf Nur
CC Distributors, Inc. Latex Exam Gloves. Supplier School Specialty, Inc.	QTY 350	UOM BX	Price No Bid	Extended	Supplier Notes	Manufacturer GLX or Equal. GLX or Equal.	Manuf Nur GLX-355
CC Distributors, Inc. Latex Exam Gloves. Supplier School Specialty, Inc. Yanitor Paper and Supplies, LLC Interboro Packaging Corp.	QTY 350 350 350	UOM BX BX BX	Price No Bid No Bid \$2.98	Extended \$1,043.00	Supplier Notes Brand: First Care/JobGuard-LPFG-E-M, As	Manufacturer GLX or Equal. GLX or Equal. GLX or Equal.	Manuf Nur GLX-355 GLX-355
CC Distributors, Inc. Latex Exam Gloves. Supplier School Specialty, Inc. Yanitor Paper and Supplies, LLC	QTY 350 350	UOM BX BX	Price No Bid No Bid	Extended \$1,043.00 \$1,214.50	Supplier Notes Brand: First Care/JobGuard-LPFG-E-M, As	Manufacturer GLX or Equal. GLX or Equal.	Manuf Nur GLX-355 GLX-355 GLX-355
CC Distributors, Inc. Latex Exam Gloves. Supplier School Specialty, Inc. Yanitor Paper and Supplies, LLC Interboro Packaging Corp. Gulf Coast Paper CC Distributors, Inc.	QTY 350 350 350 350	UOM BX BX BX BX	Price No Bid No Bid \$2.98 \$3.47	Extended \$1,043.00 \$1,214.50	Supplier Notes Brand: First Care/JobGuard-LPFG-E-M, As 62323M	Manufacturer GLX or Equal. GLX or Equal. ç GLX or Equal. GLX or Equal.	Manuf Nur GLX-355 GLX-355 GLX-355 GLX-355
CC Distributors, Inc. Latex Exam Gloves. Supplier School Specialty, Inc. Yanitor Paper and Supplies, LLC Interboro Packaging Corp. Gulf Coast Paper CC Distributors, Inc. Powdered Free Latex Gloves.	QTY 350 350 350 350 350	UOM BX BX BX BX BX	Price No Bid No Bid \$2.98 \$3.47 \$4.02	Extended \$1,043.00 \$1,214.50 \$1,407.00	Supplier Notes Brand: First Care/JobGuard-LPFG-E-M, As 62323M ProWorks L106FX	Manufacturer GLX or Equal. GLX or Equal. cLX or Equal. GLX or Equal. GLX or Equal.	Manuf Nur GLX-355 GLX-355 GLX-355 GLX-355 GLX-355
CC Distributors, Inc. Latex Exam Gloves. Supplier School Specialty, Inc. Yanitor Paper and Supplies, LLC Interboro Packaging Corp. Gulf Coast Paper CC Distributors, Inc. Powdered Free Latex Gloves. Supplier	QTY 350 350 350 350 350 250	UOM BX BX BX BX BX BX UOM	Price No Bid No Bid \$2.98 \$3.47 \$4.02 Price	Extended \$1,043.00 \$1,214.50	Supplier Notes Brand: First Care/JobGuard-LPFG-E-M, As 62323M	Manufacturer GLX or Equal. GLX or Equal. GLX or Equal. GLX or Equal. GLX or Equal. Manufacturer	Manuf Nur GLX-355 GLX-355 GLX-355 GLX-355 GLX-355 GLX-355 Manuf Nur
CC Distributors, Inc. Latex Exam Gloves. Supplier School Specialty, Inc. Yanitor Paper and Supplies, LLC Interboro Packaging Corp. Gulf Coast Paper CC Distributors, Inc. Powdered Free Latex Gloves. Supplier School Specialty, Inc.	QTY 350 350 350 350 350 350 250 277 150	UOM BX BX BX BX BX UOM BX	Price No Bid No Bid \$2.98 \$3.47 \$4.02 Price No Bid	Extended \$1,043.00 \$1,214.50 \$1,407.00	Supplier Notes Brand: First Care/JobGuard-LPFG-E-M, As 62323M ProWorks L106FX	Manufacturer GLX or Equal. GLX or Equal. GLX or Equal. GLX or Equal. GLX or Equal. Manufacturer Ansell or Equal	Manuf Nur GLX-355 GLX-355 GLX-355 GLX-355 GLX-355 GLX-355 Manuf Nur ANS69318
CC Distributors, Inc. Latex Exam Gloves. Supplier School Specialty, Inc. Yanitor Paper and Supplies, LLC Interboro Packaging Corp. Gulf Coast Paper CC Distributors, Inc. Powdered Free Latex Gloves. Supplier School Specialty, Inc. Yanitor Paper and Supplies, LLC	QTY 350 350 350 350 350 350 350 350 250	UOM BX BX BX BX BX BX UOM BX BX	Price No Bid No Bid \$2.98 \$3.47 \$4.02 Price No Bid No Bid	Extended \$1,043.00 \$1,214.50 \$1,407.00 Extended	Supplier Notes Brand: First Care/JobGuard-LPFG-E-M, As 62323M ProWorks L106FX Supplier Notes	Manufacturer GLX or Equal. GLX or Equal. GLX or Equal. GLX or Equal. GLX or Equal. Manufacturer Ansell or Equal Ansell or Equal	Manuf Nur GLX-355 GLX-355 GLX-355 GLX-355 GLX-355 GLX-355 GLX-355 Manuf Nur ANS69318 ANS69318
CC Distributors, Inc. Latex Exam Gloves. Supplier School Specialty, Inc. Yanitor Paper and Supplies, LLC Interboro Packaging Corp. Gulf Coast Paper CC Distributors, Inc. Powdered Free Latex Gloves. Supplier School Specialty, Inc. Yanitor Paper and Supplies, LLC Interboro Packaging Corp.	QTY 350 350 350 350 350 250 250 150 150	UOM BX BX BX BX BX BX BX BX BX BX	Price No Bid No Bid \$2.98 \$3.47 \$4.02 Price No Bid No Bid \$2.98	Extended \$1,043.00 \$1,214.50 \$1,407.00 Extended \$447.00	Supplier Notes Brand: First Care/JobGuard-LPFG-E-M, As 62323M ProWorks L106FX Supplier Notes Brand: First Care/JobGuard-LPFG-E-M, As	Manufacturer GLX or Equal. GLX or Equal. GLX or Equal. GLX or Equal. GLX or Equal. Manufacturer Ansell or Equal Ansell or Equal Ansell or Equal	Manuf Nur GLX-355 GLX-355 GLX-355 GLX-355 GLX-355 GLX-355 Manuf Nur ANS69318 ANS69318 ANS69318
CC Distributors, Inc. Latex Exam Gloves. Supplier School Specialty, Inc. Yanitor Paper and Supplies, LLC Interboro Packaging Corp. Gulf Coast Paper CC Distributors, Inc. Powdered Free Latex Gloves. Supplier School Specialty, Inc. Yanitor Paper and Supplies, LLC Interboro Packaging Corp. CC Distributors, Inc.	QTY 350 350 350 350 350 350 350 150 150 150 150	UOM BX BX BX BX BX BX BX BX BX BX	Price No Bid No Bid \$2.98 \$3.47 \$4.02 Price No Bid No Bid \$2.98 \$3.28	Extended \$1,043.00 \$1,214.50 \$1,407.00 Extended \$447.00 \$492.00	Supplier Notes Brand: First Care/JobGuard-LPFG-E-M, As 62323M ProWorks L106FX Supplier Notes Brand: First Care/JobGuard-LPFG-E-M, As ProWorks L105PM	Manufacturer GLX or Equal. GLX or Equal. GLX or Equal. GLX or Equal. GLX or Equal. Manufacturer Ansell or Equal Ansell or Equal Ansell or Equal Ansell or Equal	Manuf Nur GLX-355 GLX-355 GLX-355 GLX-355 GLX-355 GLX-355 Manuf Nur ANS69318 ANS69318 ANS69318 ANS69318 ANS69318
CC Distributors, Inc. Latex Exam Gloves. Supplier School Specialty, Inc. Yanitor Paper and Supplies, LLC Interboro Packaging Corp. Gulf Coast Paper CC Distributors, Inc. Powdered Free Latex Gloves. Supplier School Specialty, Inc. Yanitor Paper and Supplies, LLC Interboro Packaging Corp.	QTY 350 350 350 350 350 250 250 150 150	UOM BX BX BX BX BX BX BX BX BX BX	Price No Bid No Bid \$2.98 \$3.47 \$4.02 Price No Bid No Bid \$2.98	Extended \$1,043.00 \$1,214.50 \$1,407.00 Extended \$447.00 \$492.00	Supplier Notes Brand: First Care/JobGuard-LPFG-E-M, As 62323M ProWorks L106FX Supplier Notes Brand: First Care/JobGuard-LPFG-E-M, As	Manufacturer GLX or Equal. GLX or Equal. GLX or Equal. GLX or Equal. GLX or Equal. Manufacturer Ansell or Equal Ansell or Equal Ansell or Equal	Manuf Nur GLX-355 GLX-355 GLX-355 GLX-355 GLX-355 GLX-355 Manuf Nur ANS69318 ANS69318 ANS69318 ANS69318
CC Distributors, Inc.	QTY 350 350 350 350 350 350 350 150 150 150 150	UOM BX BX BX BX BX BX BX BX BX BX	Price No Bid No Bid \$2.98 \$3.47 \$4.02 Price No Bid No Bid \$2.98 \$3.28	Extended \$1,043.00 \$1,214.50 \$1,407.00 Extended \$447.00 \$492.00	Supplier Notes Brand: First Care/JobGuard-LPFG-E-M, As 62323M ProWorks L106FX Supplier Notes Brand: First Care/JobGuard-LPFG-E-M, As ProWorks L105PM	Manufacturer GLX or Equal. GLX or Equal. GLX or Equal. GLX or Equal. GLX or Equal. Manufacturer Ansell or Equal Ansell or Equal Ansell or Equal Ansell or Equal	Manuf Nur GLX-355 GLX-355 GLX-355 GLX-355 GLX-355 GLX-355 Manuf Nur ANS69318 ANS69318 ANS69318 ANS69318
CC Distributors, Inc. Latex Exam Gloves. Supplier School Specialty, Inc. Yanitor Paper and Supplies, LLC Interboro Packaging Corp. Gulf Coast Paper CC Distributors, Inc. Powdered Free Latex Gloves. Supplier School Specialty, Inc. Yanitor Paper and Supplies, LLC Interboro Packaging Corp. CC Distributors, Inc. Gulf Coast Paper Powdered Free Latex Glove Supplier	QTY 350 350 350 350 350 350 350 150 150 150 150	UOM BX BX BX BX BX BX BX BX BX BX	Price No Bid No Bid \$2.98 \$3.47 \$4.02 Price No Bid No Bid \$2.98 \$3.28	Extended \$1,043.00 \$1,214.50 \$1,407.00 Extended \$447.00 \$492.00	Supplier Notes Brand: First Care/JobGuard-LPFG-E-M, As 62323M ProWorks L106FX Supplier Notes Brand: First Care/JobGuard-LPFG-E-M, As ProWorks L105PM	Manufacturer GLX or Equal. GLX or Equal. GLX or Equal. GLX or Equal. GLX or Equal. GLX or Equal. Manufacturer Ansell or Equal Ansell or Equal Ansell or Equal Ansell or Equal Ansell or Equal	Manuf Nur GLX-355 GLX-355 GLX-355 GLX-355 GLX-355 Manuf Nur ANS69318 ANS69318 ANS69318 ANS69318 ANS69318 ANS69318
CC Distributors, Inc. Latex Exam Gloves. Supplier School Specialty, Inc. Yanitor Paper and Supplies, LLC Interboro Packaging Corp. Gulf Coast Paper CC Distributors, Inc. Powdered Free Latex Gloves. Supplier School Specialty, Inc. Yanitor Paper and Supplies, LLC Interboro Packaging Corp. CC Distributors, Inc. Gulf Coast Paper Powdered Free Latex Glove	QTY 350 350 350 350 350 350 350 150 150 150 150	UOM BX BX BX BX BX BX BX BX BX BX BX	Price No Bid No Bid \$2.98 \$3.47 \$4.02 Price No Bid No Bid \$2.98 \$3.28 \$3.71	Extended \$1,043.00 \$1,214.50 \$1,407.00 Extended \$447.00 \$492.00 \$556.50	Supplier Notes Brand: First Care/JobGuard-LPFG-E-M, As 62323M ProWorks L106FX Supplier Notes Brand: First Care/JobGuard-LPFG-E-M, As ProWorks L105PM 62323M	Manufacturer GLX or Equal. GLX or Equal. GLX or Equal. GLX or Equal. GLX or Equal. GLX or Equal. Manufacturer Ansell or Equal Ansell or Equal Ansell or Equal Ansell or Equal	Manuf Nur GLX-355 GLX-355 GLX-355 GLX-355 GLX-355 Manuf Nur ANS69318 ANS69318 ANS69318 ANS69318 ANS69318 ANS69318
CC Distributors, Inc. Latex Exam Gloves. Supplier School Specialty, Inc. Yanitor Paper and Supplies, LLC Interboro Packaging Corp. Gulf Coast Paper CC Distributors, Inc. Powdered Free Latex Gloves. Supplier School Specialty, Inc. Yanitor Paper and Supplies, LLC Interboro Packaging Corp. CC Distributors, Inc. Gulf Coast Paper Powdered Free Latex Glove Supplier	QTY 350 350 350 350 350 4 50 150 150 150 150 150 150 150 150 150	UOM BX BX BX BX BX BX BX BX BX BX BX BX BX	Price No Bid S2.98 \$3.47 \$4.02 Price No Bid No Bid \$2.98 \$3.28 \$3.71 Price Price Price	Extended \$1,043.00 \$1,214.50 \$1,407.00 Extended \$447.00 \$492.00 \$556.50	Supplier Notes Brand: First Care/JobGuard-LPFG-E-M, As 62323M ProWorks L106FX Supplier Notes Brand: First Care/JobGuard-LPFG-E-M, As ProWorks L105PM 62323M	Manufacturer GLX or Equal. GLX or Equal. GLX or Equal. GLX or Equal. GLX or Equal. GLX or Equal. Manufacturer Ansell or Equal Ansell or Equal Ansell or Equal Ansell or Equal Ansell or Equal	Manuf Nur GLX-355 GLX-355 GLX-355 GLX-355 GLX-355 GLX-355 GLX-355 Manuf Nur ANS69318 ANS69318 ANS69318 ANS69318 ANS69318 ANS69318 ANS69318 ANS69318
CC Distributors, Inc. Latex Exam Gloves. Supplier School Specialty, Inc. Yanitor Paper and Supplies, LLC Interboro Packaging Corp. Gulf Coast Paper CC Distributors, Inc. Powdered Free Latex Gloves. Supplier School Specialty, Inc. Yanitor Paper and Supplies, LLC Interboro Packaging Corp. CC Distributors, Inc. Yanitor Paper and Supplies, LLC Interboro Packaging Corp. CC Distributors, Inc. Gulf Coast Paper // Powdered Free Latex Glove Supplier School Specialty, Inc.	QTY 350 350 350 350 350 4 50 150 150 150 150 150 150 150 150 150	UOM BX BX BX BX BX BX BX BX BX BX BX BX BX	Price No Bid No Bid \$2.98 \$3.47 \$4.02 Price No Bid No Bid \$2.98 \$3.28 \$3.71 Price No Bid No Bid \$2.98 \$3.28 \$3.71	Extended \$1,043.00 \$1,214.50 \$1,407.00 Extended \$447.00 \$492.00 \$556.50 Extended	Supplier Notes Brand: First Care/JobGuard-LPFG-E-M, As 62323M ProWorks L106FX Supplier Notes Brand: First Care/JobGuard-LPFG-E-M, As ProWorks L105PM 62323M	Manufacturer GLX or Equal. GLX or Equal. GLX or Equal. GLX or Equal. GLX or Equal. GLX or Equal. Manufacturer Ansell or Equal Ansell or Equal Ansell or Equal Ansell or Equal Ansell or Equal Ansell or Equal Ansell or Equal	Manuf Nur GLX-355 GLX-355 GLX-355 GLX-355 GLX-355 GLX-355 Manuf Nur ANS69318
CC Distributors, Inc. Latex Exam Gloves. Supplier School Specialty, Inc. Yanitor Paper and Supplies, LLC Interboro Packaging Corp. Gulf Coast Paper CC Distributors, Inc. Powdered Free Latex Gloves. Supplier School Specialty, Inc. Yanitor Paper and Supplies, LLC Interboro Packaging Corp. CC Distributors, Inc. Gulf Coast Paper CC Distributors, Inc. Gulf Coast Paper CC Distributors, Inc. Gulf Coast Paper Powdered Free Latex Glove Supplier School Specialty, Inc. Yanitor Paper and Supplies, LLC Yanitor Paper and Supplies, LLC Yanitor Paper and Supplies, LLC	QTY 350 350 350 350 350 150 150 150 150 150 150 150 150 150 1	UOM BX BX BX BX BX BX BX BX BX BX BX BX BX	Price No Bid No Bid \$2.98 \$3.47 \$4.02 Price No Bid No Bid \$2.98 \$3.28 \$3.71 Price No Bid No Bid \$2.98 \$3.28 \$3.71	Extended \$1,043.00 \$1,214.50 \$1,407.00 Extended \$447.00 \$492.00 \$556.50 Extended \$469.50	Supplier Notes Brand: First Care/JobGuard-LPFG-E-M, As 62323M ProWorks L106FX Supplier Notes Brand: First Care/JobGuard-LPFG-E-M, As ProWorks L105PM 62323M Supplier Notes	Manufacturer GLX or Equal. GLX or Equal. GLX or Equal. GLX or Equal. GLX or Equal. GLX or Equal. Manufacturer Ansell or Equal Ansell or Equal Ansell or Equal Ansell or Equal Ansell or Equal Ansell or Equal Ansell or Equal	Manuf Nur GLX-355 GLX-355 GLX-355 GLX-355 GLX-355 GLX-355 GLX-355 Manuf Nur ANS69318
CC Distributors, Inc. Latex Exam Gloves. Supplier School Specialty, Inc. Yanitor Paper and Supplies, LLC Interboro Packaging Corp. Gulf Coast Paper CC Distributors, Inc. Powdered Free Latex Gloves. Supplier School Specialty, Inc. Yanitor Paper and Supplies, LLC Interboro Packaging Corp. CC Distributors, Inc. Gulf Coast Paper CC Distributors, Inc. Gulf Coast Paper CC Distributors, Inc. Gulf Coast Paper Powdered Free Latex Glove Supplier School Specialty, Inc. Yanitor Paper and Supplies, LLC Yanitor Paper and Supplies, LLC Yanitor Paper and Supplies, LLC Interboro Packaging Corp.	QTY 350 350 350 350 350 150 150 150 150 150 150 150 150 150 1	UOM BX BX BX BX BX BX BX BX BX BX	Price No Bid No Bid \$2.98 \$3.47 \$4.02 Price No Bid No Bid \$2.98 \$3.28 \$3.71 Price No Bid No Bid \$3.28 \$3.71	Extended \$1,043.00 \$1,214.50 \$1,407.00 Extended \$447.00 \$492.00 \$556.50 Extended \$469.50	Supplier Notes Brand: First Care/JobGuard-LPFG-E-M, As 62323M ProWorks L106FX Supplier Notes Brand: First Care/JobGuard-LPFG-E-M, As ProWorks L105PM 62323M Supplier Notes Brand: Aurelia-LPFG-E-L, As per sample #2 ProWorks L105PL	Manufacturer GLX or Equal. GLX or Equal. GLX or Equal. GLX or Equal. GLX or Equal. GLX or Equal. Manufacturer Ansell or Equal Ansell or Equal Ansell or Equal Ansell or Equal Ansell or Equal Ansell or Equal Ansell or Equal	Manuf Nur GLX-355 GLX-355 GLX-355 GLX-355 GLX-355 GLX-355 GLX-355 Manuf Nur ANS69318
CC Distributors, Inc. Latex Exam Gloves. Supplier School Specialty, Inc. Yanitor Paper and Supplies, LLC Interboro Packaging Corp. Gulf Coast Paper CC Distributors, Inc. Powdered Free Latex Gloves. Supplier School Specialty, Inc. Yanitor Paper and Supplies, LLC Interboro Packaging Corp. CC Distributors, Inc. Gulf Coast Paper CC Distributors, Inc. Gulf Coast Paper Powdered Free Latex Glove Supplier School Specialty, Inc. Yanitor Paper and Supplies, LLC Interboro Packaging Corp. CC Distributors, Inc. Gulf Coast Paper and Supplies, LLC Interboro Packaging Corp. CC Distributors, Inc. Gulf Coast Paper	QTY 350 350 350 350 150 150 150 150 150 150 150 150 150 1	UOM BX BX BX BX BX BX BX BX BX BX	Price No Bid No Bid \$2.98 \$3.47 \$4.02 Price No Bid No Bid \$2.98 \$3.28 \$3.71 Price No Bid No Bid \$3.28 \$3.71	Extended \$1,043.00 \$1,214.50 \$1,407.00 Extended \$447.00 \$492.00 \$556.50 Extended \$469.50 \$469.50	Supplier Notes Brand: First Care/JobGuard-LPFG-E-M, As 62323M ProWorks L106FX Supplier Notes Brand: First Care/JobGuard-LPFG-E-M, As ProWorks L105PM 62323M Supplier Notes Brand: Aurelia-LPFG-E-L, As per sample #2 ProWorks L105PL	Manufacturer GLX or Equal. GLX or Equal. GLX or Equal. GLX or Equal. GLX or Equal. GLX or Equal. Manufacturer Ansell or Equal Ansell or Equal	Manuf Nur GLX-355 GLX-355 GLX-355 GLX-355 GLX-355 GLX-355 GLX-355 Manuf Nur ANS69318
CC Distributors, Inc. Supplier School Specialty, Inc. Yanitor Paper and Supplies, LLC Interboro Packaging Corp. Gulf Coast Paper CC Distributors, Inc. Powdered Free Latex Gloves. Supplier School Specialty, Inc. Yanitor Paper and Supplies, LLC Interboro Packaging Corp. CC Distributors, Inc. Yanitor Paper and Supplies, LLC Interboro Packaging Corp. CC Distributors, Inc. Gulf Coast Paper Z Powdered Free Latex Glove Supplier School Specialty, Inc. Yanitor Paper and Supplies, LLC Interboro Packaging Corp. CC Distributors, Inc. Gulf Coast Paper CC Distributors, Inc. Gulf Coast Paper B Drivers Pigskin Leather Gloves	QTY 350 350 350 350 150 150 150 150 150 150 150 150 150 1	UOM BX BX BX BX BX BX BX BX BX BX	Price No Bid No Bid \$2.98 \$3.47 \$4.02 Price No Bid No Bid \$2.98 \$3.28 \$3.71 Price No Bid No Bid \$3.28 \$3.71 Price No Bid \$3.28 \$3.71	Extended \$1,043.00 \$1,214.50 \$1,407.00 Extended \$447.00 \$492.00 \$556.50 Extended \$469.50 \$492.00 \$556.50	Supplier Notes Brand: First Care/JobGuard-LPFG-E-M, As 62323M ProWorks L106FX Supplier Notes Brand: First Care/JobGuard-LPFG-E-M, As ProWorks L105PM 62323M Supplier Notes Brand: Aurelia-LPFG-E-L, As per sample #2 ProWorks L105PL 62323L	Manufacturer GLX or Equal. GLX or Equal. GLX or Equal. GLX or Equal. GLX or Equal. GLX or Equal. Manufacturer Ansell or Equal Ansell or Equal	Manuf Nur GLX-355 GLX-355 GLX-355 GLX-355 GLX-355 Manuf Nur ANS69318 ANS69318 ANS69318 ANS69318 ANS69318 ANS69318 ANS69318 ANS69318 ANS69318 ANS69318
CC Distributors, Inc.	QTY 350 350 350 350 150 150 150 150 150 150 150 150 150 1	UOM BX BX BX BX BX BX BX BX BX BX	Price No Bid No Bid \$2.98 \$3.47 \$4.02 Price No Bid No Bid \$2.98 \$3.28 \$3.71 Price No Bid No Bid \$3.28 \$3.71 Price No Bid \$3.13 \$3.28 \$3.71	Extended \$1,043.00 \$1,214.50 \$1,407.00 Extended \$447.00 \$492.00 \$556.50 Extended \$469.50 \$469.50	Supplier Notes Brand: First Care/JobGuard-LPFG-E-M, As 62323M ProWorks L106FX Supplier Notes Brand: First Care/JobGuard-LPFG-E-M, As ProWorks L105PM 62323M Supplier Notes Brand: Aurelia-LPFG-E-L, As per sample #2 ProWorks L105PL	Manufacturer GLX or Equal. GLX or Equal. GLX or Equal. GLX or Equal. GLX or Equal. GLX or Equal. Manufacturer Ansell or Equal Ansell or Equal	Manuf Nur GLX-355 Manuf Nur ANS69318
CC Distributors, Inc. Supplier School Specialty, Inc. Yanitor Paper and Supplies, LLC Interboro Packaging Corp. Gulf Coast Paper CC Distributors, Inc. Powdered Free Latex Gloves. Supplier School Specialty, Inc. Yanitor Paper and Supplies, LLC Interboro Packaging Corp. CC Distributors, Inc. Yanitor Paper and Supplies, LLC Interboro Packaging Corp. CC Distributors, Inc. Gulf Coast Paper Powdered Free Latex Glove Supplier School Specialty, Inc. Yanitor Paper and Supplies, LLC Interboro Packaging Corp. CC Distributors, Inc. Gulf Coast Paper Yanitor Paper and Supplies, LLC Interboro Packaging Corp. CC Distributors, Inc. Gulf Coast Paper Borivers Pigskin Leather Gloves Supplier School Specialty, Inc.	QTY 350 350 350 350 150 150 150 150 150 150 150 150 150 1	UOM BX BX BX BX BX BX BX BX BX BX	Price No Bid No Bid \$2.98 \$3.47 \$4.02 Price No Bid No Bid No Bid \$2.98 \$3.28 \$3.71 Price No Bid No Bid \$3.28 \$3.71 Price No Bid \$3.13 \$3.28 \$3.71	Extended \$1,043.00 \$1,214.50 \$1,407.00 Extended \$447.00 \$492.00 \$556.50 Extended \$469.50 \$492.00 \$556.50	Supplier Notes Brand: First Care/JobGuard-LPFG-E-M, As 62323M ProWorks L106FX Supplier Notes Brand: First Care/JobGuard-LPFG-E-M, As ProWorks L105PM 62323M Supplier Notes Brand: Aurelia-LPFG-E-L, As per sample #2 ProWorks L105PL 62323L	Manufacturer GLX or Equal. GLX or Equal. GLX or Equal. GLX or Equal. GLX or Equal. GLX or Equal. Manufacturer Ansell or Equal Ansell or Equal	Manuf Nur GLX-355 <
CC Distributors, Inc. 5 Latex Exam Gloves. Supplier School Specialty, Inc. Yanitor Paper and Supplies, LLC Interboro Packaging Corp. Gulf Coast Paper CC Distributors, Inc. 6 Powdered Free Latex Gloves. Supplier School Specialty, Inc. Yanitor Paper and Supplies, LLC Interboro Packaging Corp. CC Distributors, Inc. Gulf Coast Paper 7 Powdered Free Latex Glove Supplier School Specialty, Inc. Yanitor Paper and Supplies, LLC Interboro Packaging Corp. CC Distributors, Inc. Gulf Coast Paper 7 Powdered Free Latex Glove Supplier School Specialty, Inc. Yanitor Paper and Supplies, LLC Interboro Packaging Corp. CC Distributors, Inc. Gulf Coast Paper 8 Drivers Pigskin Leather Gloves Supplier Supplier	QTY 350 350 350 350 150 150 150 150 150 150 150 150 150 1	UOM BX BX BX BX BX BX BX BX BX BX	Price No Bid No Bid \$2.98 \$3.47 \$4.02 Price No Bid No Bid \$2.98 \$3.28 \$3.71 Price No Bid No Bid \$3.28 \$3.71 Price No Bid \$3.13 \$3.28 \$3.71	Extended \$1,043.00 \$1,214.50 \$1,407.00 Extended \$447.00 \$492.00 \$556.50 Extended \$469.50 \$492.00 \$556.50	Supplier Notes Brand: First Care/JobGuard-LPFG-E-M, As 62323M ProWorks L106FX Supplier Notes Brand: First Care/JobGuard-LPFG-E-M, As ProWorks L105PM 62323M Supplier Notes Brand: Aurelia-LPFG-E-L, As per sample #2 ProWorks L105PL 62323L	Manufacturer GLX or Equal. GLX or Equal. GLX or Equal. GLX or Equal. GLX or Equal. GLX or Equal. Manufacturer Ansell or Equal Ansell or Equal	Manuf Nun GLX-355 Manuf Nun ANS69318 ANS69318

	1							
29								
	Supplier	QTY	UOM	Price	Extended	Supplier Notes	Manufacturer	
	School Specialty, Inc.	120	PR	No Bid			Memphis Glove	•
	Yanitor Paper and Supplies, LLC	C 120	PR	No Bid			Memphis Glove	
	Gulf Coast Paper	120	PR	\$3.47		0 GWPSLDR1-L	Memphis Glove	Unlined Large
	CC Distributors, Inc.	120	PR	\$4.15	\$498.0	0 Memphis Glove 3411L	Memphis Glove	Unlined Large
30	Drivers Pigskin Leather Gloves							
	Supplier	QTY	UOM	Price	Extended	Supplier Notes	Manufacturer	Manuf Num
	School Specialty, Inc.	120	PR	No Bid			Memphis Glove	Unlined Large
	Yanitor Paper and Supplies, LLC	C 120	PR	No Bid			Memphis Glove	Unlined Large
	Gulf Coast Paper	120	PR	\$3.47	\$416.4	0 GWPSLDR1-X	Memphis Glove	Unlined Large
	CC Distributors, Inc.	120	PR	\$4.15	\$498.0	0 Memphis Glove 3411L	Memphis Glove	Unlined Large
31	Time Mist Dispenser.							
	Supplier	QTY	UOM	Price	Extended	Supplier Notes / Alternate Description	Manufacturer	Manuf Num
	Yanitor Paper and Supplies, LLC	C 150	EA	No Bid			Vecair Systems	Arioma
	Gulf Coast Paper	150	EA	\$15.52	\$2,328.0	0 HOSPITAL SPECIALTY: AWMAD	Vecair Systems	Arioma
	CC Distributors, Inc.	150	EA	\$17.65	\$2,647.5	0 AirWorks 07531L	Vecair Systems	Arioma
	[ALT1] School Specialty, Inc.	150	EA	\$22.71	\$3,406.5	0 DISPENSER TIMEMIST CLASSIC TMS104771	WATERBURY	TMS1047717
	v				·····			
32	Time Mist Spray Deodorant.							
	Supplier	QTY	UOM	Price	Extended	Supplier Notes / Alternate Description	Manufacturer	Manuf Num
	Yanitor Paper and Supplies, LLC		CS	No Bid		with a second seco	Vecair Systems	Airoma Refills
	Gulf Coast Paper	200	CS	\$23.08	\$4 616 0	0 HOSPITAL SPECIALTY 9 DIFFERENT SCENTS	•	
	CC Distributors, Inc.	200	CS	\$25.08		0 Air Works 079XX	Vecair Systems	
	[ALT1] School Specialty, Inc.	200	CS	\$47.49		0 REFILL FRESHENER CASE OF 12- 1541945- (TMS1042771C
		200	0	7+1,45	0.00+,50	ILLI KLOHLINLIK CAGE OF 12- 1341945- (
22	Carpet Deodorant.							
33		OTV		Price	Futondod	Consultan Nataa	N	Manuel Manuel
	Supplier	QTY	UOM		Extended	Supplier Notes	Manufacturer	Manuf Num
	School Specialty, Inc.	200	EA	No Bid			Big D or Equal.	
	Yanitor Paper and Supplies, LLC		EA	No Bid	•		Big D or Equal.	
	Gulf Coast Paper	200	EA	\$2.47		0 BIG D 176	Big D or Equal.	
	CC Distributors, Inc.	200	EA	\$2.56	\$512.0	0 Triple S (Big D) 8022	Big D or Equal.	153
34	Neutralizer Conditioner.	OTV		Duites	Contra da d	Courseling Nata a	NA	Manual Manua
	Supplier	QTY	UOM	Price	Extended	Supplier Notes	Manufacturer	
	School Specialty, Inc.	50	CS	No Bid			Johnson Diverse	
	Yanitor Paper and Supplies, LLC		CS	No Bid			Johnson Diverse	
		50	CS	\$39.09	1 /	0 DIBSNC	Johnson Diverse	90685
	Gulf Coast Paper					0 Diversey 90685		
	CC Distributors, Inc.	50	CS	\$56.51	\$2,825.50		Johnson Diverse	90685
	CC Distributors, Inc.	50	ĊŚ	\$56.51	\$2,825.5		Johnson Diverse	90685
35	CC Distributors, Inc. Bacteria Alive.							
35	CC Distributors, Inc.	50 QTY	UOM	\$56.51 Price	\$2,825.50 Extended	Supplier Notes	Johnson Diverse Manufacturer	
35	CC Distributors, Inc. Bacteria Alive.							Manuf Num
35	CC Distributors, Inc. Bacteria Alive. Supplier	QTY 100	UOM	Price			Manufacturer	Manuf Num 7709
35	CC Distributors, Inc. Bacteria Alive. Supplier School Specialty, Inc.	QTY 100	UOM PL	Price No Bid	Extended		Manufacturer Arcot or Equal.	Manuf Num 7709 7709
35	CC Distributors, Inc. Bacteria Alive. Supplier School Specialty, Inc. Yanitor Paper and Supplies, LLC	QTY 100 C 100	UOM PL PL	Price No Bid No Bid	Extended \$4,023.00	Supplier Notes	Manufacturer Arcot or Equal. Arcot or Equal.	Manuf Num 7709 7709 7709
35	CC Distributors, Inc. Bacteria Alive. Supplier School Specialty, Inc. Yanitor Paper and Supplies, LLC Gulf Coast Paper	QTY 100 100 100	UOM PL PL PL	Price No Bid No Bid \$40.23	Extended \$4,023.00	Supplier Notes 0 ENZYME D LEMON 5500	Manufacturer Arcot or Equal. Arcot or Equal. Arcot or Equal.	Manuf Num 7709 7709 7709
35	CC Distributors, Inc. Bacteria Alive. Supplier School Specialty, Inc. Yanitor Paper and Supplies, LLG Gulf Coast Paper CC Distributors, Inc.	QTY 100 100 100	UOM PL PL PL	Price No Bid No Bid \$40.23	Extended \$4,023.00	Supplier Notes 0 ENZYME D LEMON 5500	Manufacturer Arcot or Equal. Arcot or Equal. Arcot or Equal.	Manuf Num 7709 7709 7709
	CC Distributors, Inc. Bacteria Alive. Supplier School Specialty, Inc. Yanitor Paper and Supplies, LLG Gulf Coast Paper CC Distributors, Inc.	QTY 100 100 100	UOM PL PL PL	Price No Bid No Bid \$40.23	Extended \$4,023.00	Supplier Notes 0 ENZYME D LEMON 5500	Manufacturer Arcot or Equal. Arcot or Equal. Arcot or Equal.	Manuf Num 7709 7709 7709 7709 7709
	CC Distributors, Inc. Bacteria Alive. Supplier School Specialty, Inc. Yanitor Paper and Supplies, LLG Gulf Coast Paper CC Distributors, Inc. Germicidal Chlorine Bleach	QTY 100 100 100 100	UOM PL PL PL PL	Price No Bid No Bid \$40.23 \$59.14	Extended \$4,023.00 \$5,914.00	Supplier Notes O ENZYME D LEMON 5500 O American Chemical 700701	Manufacturer Arcot or Equal. Arcot or Equal. Arcot or Equal. Arcot or Equal.	Manuf Num 7709 7709 7709 7709 7709 7709 7709 7709
	CC Distributors, Inc. Bacteria Alive. Supplier School Specialty, Inc. Yanitor Paper and Supplies, LLG Gulf Coast Paper CC Distributors, Inc. Germicidal Chlorine Bleach Supplier Yanitor Paper and Supplies, LLG	QTY 100 100 100 100 2 00 2 00 2 00 2 00 2 0	UOM PL PL PL PL PL VOM CS	Price No Bid No Bid \$40.23 \$59.14 Price No Bid	Extended \$4,023.00 \$5,914.00	Supplier Notes O ENZYME D LEMON 5500 O American Chemical 700701	Manufacturer Arcot or Equal. Arcot or Equal. Arcot or Equal. Arcot or Equal. Manufacturer Clorox or Equal	Manuf Num 7709 7709 7709 7709 709 700 700 700 000
	CC Distributors, Inc. Bacteria Alive. Supplier School Specialty, Inc. Yanitor Paper and Supplies, LLG Gulf Coast Paper CC Distributors, Inc. Germicidal Chlorine Bleach Supplier Yanitor Paper and Supplies, LLG School Specialty, Inc.	QTY 100 100 100 100 2 350 350	UOM PL PL PL UOM CS CS	Price No Bid No Bid \$40.23 \$59.14 Price No Bid No Bid	Extended \$4,023.00 \$5,914.00 Extended	Supplier Notes O ENZYME D LEMON 5500 O American Chemical 700701 Supplier Notes / Alternate Description	Manufacturer Arcot or Equal. Arcot or Equal. Arcot or Equal. Arcot or Equal. Manufacturer Clorox or Equal. Clorox or Equal	Manuf Num 7709 7709 7709 7709 709 700 700 000000000000000000000000000000000000
	CC Distributors, Inc. Bacteria Alive. Supplier School Specialty, Inc. Yanitor Paper and Supplies, LLG Gulf Coast Paper CC Distributors, Inc. Germicidal Chlorine Bleach Supplier Yanitor Paper and Supplies, LLG School Specialty, Inc. Gulf Coast Paper	QTY 100 100 100 100 200 100 100 100 200 300 350 350	UOM PL PL PL PL PL VOM CS CS CS CS	Price No Bid No Bid \$40.23 \$59.14 Price No Bid No Bid \$11.32	Extended \$4,023.00 \$5,914.00 Extended \$3,962.00	Supplier Notes O ENZYME D LEMON 5500 O American Chemical 700701 Supplier Notes / Alternate Description O 6BLCH1	Manufacturer Arcot or Equal. Arcot or Equal. Arcot or Equal. Arcot or Equal. Manufacturer Clorox or Equal. Clorox or Equal.	Manuf Num 7709 7709 7709 7709 700 700 700 700 0
	CC Distributors, Inc. Bacteria Alive. Supplier School Specialty, Inc. Yanitor Paper and Supplies, LLG Gulf Coast Paper CC Distributors, Inc. Germicidal Chlorine Bleach Supplier Yanitor Paper and Supplies, LLG School Specialty, Inc.	QTY 100 100 100 100 2 350 350	UOM PL PL PL UOM CS CS	Price No Bid No Bid \$40.23 \$59.14 Price No Bid No Bid	Extended \$4,023.00 \$5,914.00 Extended \$3,962.00	Supplier Notes O ENZYME D LEMON 5500 O American Chemical 700701 Supplier Notes / Alternate Description	Manufacturer Arcot or Equal. Arcot or Equal. Arcot or Equal. Arcot or Equal. Manufacturer Clorox or Equal. Clorox or Equal	Manuf Num 7709 7709 7709 7709 709 700 700 000000000000000000000000000000000000
36	CC Distributors, Inc. Bacteria Alive. Supplier School Specialty, Inc. Yanitor Paper and Supplies, LLG Gulf Coast Paper CC Distributors, Inc. Germicidal Chlorine Bleach Supplier Yanitor Paper and Supplies, LLG School Specialty, Inc. Gulf Coast Paper [ALT1] CC Distributors, Inc.	QTY 100 100 100 100 200 100 100 100 200 300 350 350	UOM PL PL PL PL PL VOM CS CS CS CS	Price No Bid No Bid \$40.23 \$59.14 Price No Bid No Bid \$11.32	Extended \$4,023.00 \$5,914.00 Extended \$3,962.00	Supplier Notes O ENZYME D LEMON 5500 O American Chemical 700701 Supplier Notes / Alternate Description O 6BLCH1	Manufacturer Arcot or Equal. Arcot or Equal. Arcot or Equal. Arcot or Equal. Manufacturer Clorox or Equal. Clorox or Equal.	Manuf Num 7709 7709 7709 7709 700 700 700 700 0
	CC Distributors, Inc. Bacteria Alive. Supplier School Specialty, Inc. Yanitor Paper and Supplies, LLG Gulf Coast Paper CC Distributors, Inc. Germicidal Chlorine Bleach Supplier Yanitor Paper and Supplies, LLG School Specialty, Inc. Gulf Coast Paper [ALT1] CC Distributors, Inc. Vomit Absorbent.	QTY 100 100 100 2 100 100 2 350 350 350 350	UOM PL PL PL UOM CS CS CS CS	Price No Bid No Bid \$40.23 \$59.14 Price No Bid No Bid \$11.32 \$15.41	Extended \$4,023.00 \$5,914.00 Extended \$3,962.00 \$5,393.50	Supplier Notes O ENZYME D LEMON 5500 O American Chemical 700701 Supplier Notes / Alternate Description O 6BLCH1 O Clorox 30966 - 3-121oz/case	Manufacturer Arcot or Equal. Arcot or Equal. Arcot or Equal. Arcot or Equal. Clorox or Equal. Clorox or Equal. Clorox or Equal.	Manuf Num 7709 7709 7709 7709 Cloo2490 CL002490 CL002490 30966
36	CC Distributors, Inc. Bacteria Alive. Supplier School Specialty, Inc. Yanitor Paper and Supplies, LLG Gulf Coast Paper CC Distributors, Inc. Germicidal Chlorine Bleach Supplier Yanitor Paper and Supplies, LLG School Specialty, Inc. Gulf Coast Paper [ALT1] CC Distributors, Inc. Vomit Absorbent. Supplier	QTY 100 100 100 2 100 100 2 350 350 350 350 350 2 350	UOM PL PL PL UOM CS CS CS CS UOM	Price No Bid No Bid \$40.23 \$59.14 Price No Bid No Bid \$11.32 \$15.41	Extended \$4,023.00 \$5,914.00 Extended \$3,962.00 \$5,393.50 Extended	Supplier Notes O ENZYME D LEMON 5500 O American Chemical 700701 Supplier Notes / Alternate Description O 6BLCH1 O Clorox 30966 - 3-121oz/case Supplier Notes / Alternate Description	Manufacturer Arcot or Equal. Arcot or Equal. Arcot or Equal. Arcot or Equal. Clorox or Equal. Clorox or Equal. Clorox or Equal. Clorox or Equal. Clorox	Manuf Num 7709 7709 7709 7709 000000000000000000000000000000000000
36	CC Distributors, Inc. Bacteria Alive. Supplier School Specialty, Inc. Yanitor Paper and Supplies, LLG Gulf Coast Paper CC Distributors, Inc. Germicidal Chlorine Bleach Supplier Yanitor Paper and Supplies, LLG School Specialty, Inc. Gulf Coast Paper [ALT1] CC Distributors, Inc. Vomit Absorbent. Supplier Yanitor Paper and Supplies, LLG Yanitor Paper and Supplies, LLG	QTY 100 100 100 2 100 100 2 350 350 350 350 350 350 2 60	UOM PL PL PL UOM CS CS CS CS CS UOM CS	Price No Bid No Bid \$40.23 \$59.14 Price No Bid No Bid \$11.32 \$15.41 Price \$36.50	Extended \$4,023.00 \$5,914.00 Extended \$3,962.00 \$5,393.50 Extended \$2,190.00	Supplier Notes 0 ENZYME D LEMON 5500 0 American Chemical 700701 Supplier Notes / Alternate Description 0 6BLCH1 0 Clorox 30966 - 3-121oz/case Supplier Notes / Alternate Description 0	Manufacturer Arcot or Equal. Arcot or Equal. Arcot or Equal. Arcot or Equal. Clorox or Equal. Clorox or Equal. Clorox or Equal. Clorox Manufacturer Big D or Equal.	Manuf Num 7709 7709 7709 7709 000000000000000000000000000000000000
36	CC Distributors, Inc. Bacteria Alive. Supplier School Specialty, Inc. Yanitor Paper and Supplies, LLG Gulf Coast Paper CC Distributors, Inc. Germicidal Chlorine Bleach Supplier Yanitor Paper and Supplies, LLG School Specialty, Inc. Gulf Coast Paper [ALT1] CC Distributors, Inc. Vomit Absorbent. Supplier Yanitor Paper and Supplies, LLG CC Distributors, Inc.	QTY 100 100 100 2 100 100 2 350 350 350 350 350 350 2 00 60 60	UOM PL PL PL UOM CS CS CS CS UOM CS CS	Price No Bid No Bid \$40.23 \$59.14 Price No Bid No Bid \$11.32 \$15.41 Price \$36.50 \$38.77	Extended \$4,023.00 \$5,914.00 Extended \$3,962.00 \$5,393.50 Extended \$2,190.00 \$2,326.20	Supplier Notes O ENZYME D LEMON 5500 O American Chemical 700701 Supplier Notes / Alternate Description O 6BLCH1 O Clorox 30966 - 3-121oz/case Supplier Notes / Alternate Description O O Triple S (Big D) 8049	Manufacturer Arcot or Equal. Arcot or Equal. Arcot or Equal. Arcot or Equal. Clorox or Equal. Clorox or Equal. Clorox or Equal. Clorox Manufacturer Big D or Equal. Big D or Equal.	Manuf Num 7709 7709 7709 7709 000000000000000000000000000000000000
36	CC Distributors, Inc. Bacteria Alive. Supplier School Specialty, Inc. Yanitor Paper and Supplies, LLG Gulf Coast Paper CC Distributors, Inc. Germicidal Chlorine Bleach Supplier Yanitor Paper and Supplies, LLG School Specialty, Inc. Gulf Coast Paper [ALT1] CC Distributors, Inc. Vomit Absorbent. Supplier Yanitor Paper and Supplies, LLG CC Distributors, Inc. Gulf Coast Paper	QTY 100 100 100 2 100 100 2 350 350 350 350 350 350 2 0 7 7 60 60 60 60	UOM PL PL PL UOM CS CS CS CS UOM CS CS CS CS CS	Price No Bid No Bid \$40.23 \$59.14 Price No Bid No Bid \$11.32 \$15.41 Price \$36.50 \$38.77 \$39.48	Extended \$4,023.00 \$5,914.00 Extended \$3,962.00 \$5,393.50 Extended \$2,190.00 \$2,326.20 \$2,368.80	Supplier Notes 0 ENZYME D LEMON 5500 0 American Chemical 700701 Supplier Notes / Alternate Description 0 6BLCH1 0 Clorox 30966 - 3-121oz/case Supplier Notes / Alternate Description 0 0 Triple S (Big D) 8049 0 DVOUR 166	Manufacturer Arcot or Equal. Arcot or Equal. Arcot or Equal. Arcot or Equal. Clorox or Equal. Clorox or Equal. Clorox or Equal. Clorox Manufacturer Big D or Equal. Big D or Equal. Big D or Equal.	Manuf Num 7709 7709 7709 7709 7009 7009 7009 7009 00000 010000 010000 010000 010000 0100000 0100000 01000000 0100000000 010000000000 0100000000000000000000000000000000000
36	CC Distributors, Inc. Bacteria Alive. Supplier School Specialty, Inc. Yanitor Paper and Supplies, LLG Gulf Coast Paper CC Distributors, Inc. Germicidal Chlorine Bleach Supplier Yanitor Paper and Supplies, LLG School Specialty, Inc. Gulf Coast Paper [ALT1] CC Distributors, Inc. Vomit Absorbent. Supplier Yanitor Paper and Supplies, LLG CC Distributors, Inc.	QTY 100 100 100 2 100 100 2 350 350 350 350 350 350 2 00 60 60	UOM PL PL PL UOM CS CS CS CS UOM CS CS	Price No Bid No Bid \$40.23 \$59.14 Price No Bid No Bid \$11.32 \$15.41 Price \$36.50 \$38.77	Extended \$4,023.00 \$5,914.00 Extended \$3,962.00 \$5,393.50 Extended \$2,190.00 \$2,326.20 \$2,368.80	Supplier Notes O ENZYME D LEMON 5500 O American Chemical 700701 Supplier Notes / Alternate Description O 6BLCH1 O Clorox 30966 - 3-121oz/case Supplier Notes / Alternate Description O O Triple S (Big D) 8049	Manufacturer Arcot or Equal. Arcot or Equal. Arcot or Equal. Arcot or Equal. Clorox or Equal. Clorox or Equal. Clorox or Equal. Clorox Manufacturer Big D or Equal. Big D or Equal. Big D or Equal.	Manuf Num 7709 7709 7709 7709 7009 7009 7009 7009 00000 01002490 01002490 01002490 01002490 02002490 030966 Manuf Num BGD 150 BGD 150 BGD 150 BGD 150 BGD 150
36	CC Distributors, Inc. Bacteria Alive. Supplier School Specialty, Inc. Yanitor Paper and Supplies, LLG Gulf Coast Paper CC Distributors, Inc. Germicidal Chlorine Bleach Supplier Yanitor Paper and Supplies, LLG School Specialty, Inc. Gulf Coast Paper [ALT1] CC Distributors, Inc. Vomit Absorbent. Supplier Yanitor Paper and Supplies, LLG CC Distributors, Inc. Gulf Coast Paper [ALT1] School Specialty, Inc.	QTY 100 100 100 2 100 100 2 350 350 350 350 350 350 2 0 7 7 60 60 60 60	UOM PL PL PL UOM CS CS CS CS UOM CS CS CS CS CS	Price No Bid No Bid \$40.23 \$59.14 Price No Bid No Bid \$11.32 \$15.41 Price \$36.50 \$38.77 \$39.48	Extended \$4,023.00 \$5,914.00 Extended \$3,962.00 \$5,393.50 Extended \$2,190.00 \$2,326.20 \$2,368.80	Supplier Notes 0 ENZYME D LEMON 5500 0 American Chemical 700701 Supplier Notes / Alternate Description 0 6BLCH1 0 Clorox 30966 - 3-121oz/case Supplier Notes / Alternate Description 0 0 Triple S (Big D) 8049 0 DVOUR 166	Manufacturer Arcot or Equal. Arcot or Equal. Arcot or Equal. Arcot or Equal. Clorox or Equal. Clorox or Equal. Clorox or Equal. Clorox Manufacturer Big D or Equal. Big D or Equal. Big D or Equal.	Manuf Num 7709 7709 7709 7709 000000000000000000000000000000000000
36	CC Distributors, Inc. Bacteria Alive. Supplier School Specialty, Inc. Yanitor Paper and Supplies, LLG Gulf Coast Paper CC Distributors, Inc. Germicidal Chlorine Bleach Supplier Yanitor Paper and Supplies, LLG School Specialty, Inc. Gulf Coast Paper [ALT1] CC Distributors, Inc. Vomit Absorbent. Supplier Yanitor Paper and Supplies, LLG CC Distributors, Inc. Gulf Coast Paper [ALT1] School Specialty, Inc. Gulf Coast Paper [ALT1] School Specialty, Inc. Hand Sanitizer.	QTY 100 100 100 2 100 2 100 2 350 350 350 350 350 350 350 350 350 350	UOM PL PL PL UOM CS CS CS CS CS CS CS CS CS CS	Price No Bid No Bid \$40.23 \$59.14 Price No Bid No Bid \$11.32 \$15.41 Price \$36.50 \$38.77 \$39.48 \$70.06	Extended \$4,023.00 \$5,914.00 Extended \$3,962.00 \$5,393.50 Extended \$2,190.00 \$2,326.20 \$2,368.80 \$4,203.60	Supplier Notes O ENZYME D LEMON 5500 O American Chemical 700701 Supplier Notes / Alternate Description O 6BLCH1 O Clorox 30966 - 3-121oz/case Supplier Notes / Alternate Description O O Triple S (Big D) 8049 O DVOUR 166 O ABSORBENT - CAN - 120Z - 6 EA/CT - SSI# 2	Manufacturer Arcot or Equal. Arcot or Equal. Arcot or Equal. Arcot or Equal. Clorox or Equal. Clorox or Equal. Clorox or Equal. Clorox Manufacturer Big D or Equal. Big D or Equal. Big D or Equal. Big D or Equal.	Manuf Num 7709 7709 7709 7709 7709 7709 700 700 7
36	CC Distributors, Inc. Bacteria Alive. Supplier School Specialty, Inc. Yanitor Paper and Supplies, LLG Gulf Coast Paper CC Distributors, Inc. Germicidal Chlorine Bleach Supplier Yanitor Paper and Supplies, LLG School Specialty, Inc. Gulf Coast Paper [ALT1] CC Distributors, Inc. Vomit Absorbent. Supplier Yanitor Paper and Supplies, LLG CC Distributors, Inc. Gulf Coast Paper [ALT1] School Specialty, Inc. Hand Sanitizer. Supplier	QTY 100 100 100 2 100 2 100 350 350 350 350 350 350 350 350 350 60 60 60 60 60 60	UOM PL PL PL UOM CS CS CS CS CS CS CS CS CS CS	Price No Bid No Bid \$40.23 \$59.14 Price No Bid No Bid \$11.32 \$15.41 Price \$36.50 \$38.77 \$39.48 \$70.06	Extended \$4,023.00 \$5,914.00 Extended \$3,962.00 \$5,393.50 Extended \$2,190.00 \$2,326.20 \$2,368.80 \$4,203.60 Extended	Supplier Notes D ENZYME D LEMON 5500 American Chemical 700701 Supplier Notes / Alternate Description O 6BLCH1 O Clorox 30966 - 3-121oz/case Supplier Notes / Alternate Description O Triple S (Big D) 8049 O DVOUR 166 O ABSORBENT - CAN - 120Z - 6 EA/CT - SSI# 2 Supplier Notes	Manufacturer Arcot or Equal. Arcot or Equal. Arcot or Equal. Arcot or Equal. Clorox or Equal. Clorox or Equal. Clorox or Equal. Clorox or Equal. Big D or Equal. Big D or Equal. Big D or Equal. Big D or Equal. Manufacturer	Manuf Num 7709 7709 7709 7709 7009 7009 7009 7009 7009 7009 7009 7009 7009 7009 7009 7000 CL002490 CL002490 30966 Manuf Num BGD 150 BGD 150 BGD 150 MILLGSFRS6145 Manuf Num
36	CC Distributors, Inc. Bacteria Alive. Supplier School Specialty, Inc. Yanitor Paper and Supplies, LLG Gulf Coast Paper CC Distributors, Inc. Germicidal Chlorine Bleach Supplier Yanitor Paper and Supplies, LLG School Specialty, Inc. Gulf Coast Paper [ALT1] CC Distributors, Inc. Vomit Absorbent. Supplier Yanitor Paper and Supplies, LLG CC Distributors, Inc. Gulf Coast Paper [ALT1] School Specialty, Inc. Hand Sanitizer. Supplier CC Distributors, Inc.	QTY 100 100 100 2 100 2 100 3 50 3 50 3 50 3 50 3 50 3 50 3 50 3	UOM PL PL PL UOM CS CS CS CS CS CS CS CS CS CS	Price No Bid No Bid \$40.23 \$59.14 Price No Bid No Bid \$11.32 \$15.41 Price \$36.50 \$38.77 \$39.48 \$70.06	Extended \$4,023.00 \$5,914.00 Extended \$3,962.00 \$5,393.50 Extended \$2,190.00 \$2,326.20 \$2,368.80 \$4,203.60 Extended \$4,203.60 Extended	Supplier Notes 0 ENZYME D LEMON 5500 0 American Chemical 700701 Supplier Notes / Alternate Description 0 6BLCH1 0 Clorox 30966 - 3-121oz/case Supplier Notes / Alternate Description 0 0 Triple S (Big D) 8049 0 DVOUR 166 0 ABSORBENT - CAN - 120Z - 6 EA/CT - SSI# 1 Supplier Notes 0 Gojo 9652-12	Manufacturer Arcot or Equal. Arcot or Equal. Arcot or Equal. Arcot or Equal. Clorox or Equal. Clorox or Equal. Clorox or Equal. Clorox or Equal. Clorox or Equal. Big D or Equal. Big D or Equal. Big D or Equal. Manufacturer Purell or Equal.	Manuf Num 7709 7709 7709 7709 7709 700 000000000000000000000000000000000000
36	CC Distributors, Inc. Bacteria Alive. Supplier School Specialty, Inc. Yanitor Paper and Supplies, LLG Gulf Coast Paper CC Distributors, Inc. Germicidal Chlorine Bleach Supplier Yanitor Paper and Supplies, LLG School Specialty, Inc. Gulf Coast Paper [ALT1] CC Distributors, Inc. Vomit Absorbent. Supplier Yanitor Paper and Supplies, LLG CC Distributors, Inc. Gulf Coast Paper [ALT1] School Specialty, Inc. Hand Sanitizer. Supplier CC Distributors, Inc. School Specialty, Inc.	QTY 100 100 100 2 100 2 100 3 50 3 50 3 50 3 50 3 50 3 50 3 50 3	UOM PL PL PL UOM CS CS CS CS CS CS CS CS CS CS	Price No Bid No Bid \$40.23 \$59.14 Price No Bid No Bid \$11.32 \$15.41 Price \$36.50 \$38.77 \$39.48 \$70.06	Extended \$4,023.00 \$5,914.00 Extended \$3,962.00 \$5,393.50 Extended \$2,190.00 \$2,326.20 \$2,368.80 \$4,203.60 Extended \$2,550.00 \$2,694.00	Supplier Notes 0 ENZYME D LEMON 5500 0 American Chemical 700701 Supplier Notes / Alternate Description 0 6BLCH1 0 Clorox 30966 - 3-121oz/case Supplier Notes / Alternate Description 0 0 Triple S (Big D) 8049 0 DVOUR 166 0 ABSORBENT - CAN - 120Z - 6 EA/CT - SSI# 1 Supplier Notes 0 Gojo 9652-12 0	Manufacturer Arcot or Equal. Arcot or Equal. Arcot or Equal. Arcot or Equal. Clorox or Equal. Clorox or Equal. Clorox or Equal. Clorox or Equal. Clorox or Equal. Big D or Equal. Big D or Equal. Big D or Equal. Manufacturer Purell or Equal. Purell or Equal.	Manuf Num 7709 7709 7709 7709 7709 7009 800102490 80D 150 80D 150 MILLGSFRS6143 7000000000000000000000000000000000000
36	CC Distributors, Inc. Bacteria Alive. Supplier School Specialty, Inc. Yanitor Paper and Supplies, LLG Gulf Coast Paper CC Distributors, Inc. Germicidal Chlorine Bleach Supplier Yanitor Paper and Supplies, LLG School Specialty, Inc. Gulf Coast Paper [ALT1] CC Distributors, Inc. Vomit Absorbent. Supplier Yanitor Paper and Supplies, LLG CC Distributors, Inc. Gulf Coast Paper [ALT1] School Specialty, Inc. Hand Sanitizer. Supplier CC Distributors, Inc.	QTY 100 100 100 2 100 2 100 3 50 3 50 3 50 3 50 3 50 3 50 3 50 3	UOM PL PL PL UOM CS CS CS CS CS CS CS CS CS CS	Price No Bid No Bid \$40.23 \$59.14 Price No Bid No Bid \$11.32 \$15.41 Price \$36.50 \$38.77 \$39.48 \$70.06	Extended \$4,023.00 \$5,914.00 Extended \$3,962.00 \$5,393.50 Extended \$2,190.00 \$2,326.20 \$2,368.80 \$4,203.60 Extended \$2,550.00 \$2,694.00	Supplier Notes 0 ENZYME D LEMON 5500 0 American Chemical 700701 Supplier Notes / Alternate Description 0 6BLCH1 0 Clorox 30966 - 3-121oz/case Supplier Notes / Alternate Description 0 0 Triple S (Big D) 8049 0 DVOUR 166 0 ABSORBENT - CAN - 120Z - 6 EA/CT - SSI# 1 Supplier Notes 0 Gojo 9652-12	Manufacturer Arcot or Equal. Arcot or Equal. Arcot or Equal. Arcot or Equal. Clorox or Equal. Clorox or Equal. Clorox or Equal. Clorox or Equal. Clorox or Equal. Big D or Equal. Big D or Equal. Big D or Equal. Manufacturer Purell or Equal. Purell or Equal.	Manuf Num 7709 7709 7709 7709 7009 7009 7009 7009 7009 7009 7009 7009 7009 7009 7000 CL002490 CL002490 CL002490 GD02490 BGD 150 BGD 150 BGD 150 MILLGSFRS6145 Manuf Num

\$27,000.00

Yanitor Paper and Supplies, LLC 600

ΕA

\$45.00

Purell or Equal. GOJ-9552-12-CN

Value Form Value Form Value Form Guif Coast Paper 200 EA No Bid Value Value <td< th=""><th>39 Kleenex.</th><th></th><th></th><th></th><th></th><th></th><th></th><th></th></td<>	39 Kleenex.							
School Speciality, Inc. 300 BX No Bid Status Stimberly Clark (BM.28) [d.111] CC Distributors, Inc. 300 BX \$2.89 SB87.00 Kimberly Clark (BM.28) #Itimberly Clark (BM.28) #Itimerly		•			Extended	Supplier Notes / Alternate Description		
Guilf Coast Paper 300 RX 50.79 5237.00 R21340 Minberly Clark CMA-281 (ALT3] CC Distributors, Inc. 300 RX 52.89 5867.00 Kinberly Clark Kleener, R21236 3-pit 24-54 Kleener, R21236 3-pit 24-54 Kleener, R21236 3-pit 24-54							,	
[ALT3] CC Distributors, Inc. 300 BX \$2.89 SB67.00 Kimberly Clark Kleener, #21286 3-ply 12-64 Kleener, #21286 #21286 40 Flanel Dusting/Wiping Rags. Manufacturer Manufacture		300	BX				,	
Suppler OTV UOM Price Extended Suppler Notes Manufacturer Manufacturer School Speciality, Inc. 200 BiX No Bid Johnson &								
Supplier OTY UOM Price Extended Supplier Manufacturer Manuf School Speciality, Inc. 200 BX No Bid Johnson & John: Johnson & John: <td>[ALT1] CC Distributors, Inc.</td> <td>300</td> <td>BX</td> <td>\$2.89</td> <td>\$867.00</td> <td>Kimberly Clark Kleenex #21286 3-ply 12-</td> <td>58 Kleenex</td> <td>#21286</td>	[ALT1] CC Distributors, Inc.	300	BX	\$2.89	\$867.00	Kimberly Clark Kleenex #21286 3-ply 12-	58 Kleenex	#21286
Supplier OTY UOM Price Extended Supplier Notes Manufacturer Manuf School Speciality, Inc. 200 BX No Bid Johnson & Johns Johnson & Johns Guil Coast Paper 200 BX Stad 55 \$2,990.00 FLANKEL Johnson & Johns 41 Texas Classroom Flag Supplier CIV UOM Price Extended Supplier Notes Manufacturer Manuf Yantor Paper and Supplie, LLC 200 EA No Bid Supplier Valley Forge or I Constraints, Inc. 200 EA No Bid Valley Forge or I Valley Forge or I Constraints, Inc. 200 EA No Bid Valley Forge or I Valley Forge or I 21 U.S. Classroom Flag. Supplier Valley Forge or I Valley Forge or I Valley Forge or I 22 U.S. Classroom Flag. Supplier CO EA No Bid Valley Forge or I 23 U.S. Flag. Supplier CO EA No Bid Valley Forge or I	40 Flannel Dusting/Wiping Rags.							
Variator Paper and Supplies, LLC 200 Bit No Bid S2,299.00 FLANNEL Johnson & John: Guilf Coast Paper 200 BX \$14,95 \$4,290.00 ProWorks 180-25 Johnson & John: 1 Texas Classroom Flag		QTY	UOM	Price	Extended	Supplier Notes	Manufacturer	Manuf Num
Guil Coast Paper 200 BX \$14.95 \$2,990.00 FLANNEL Johnson & John: CC Distributors, Inc. 200 BX \$21.15 \$4,200.00 ProWorks 180-25 Johnson & John: All Texas Classroom Flag CTV UOM Price Extended Supplier Valley Forge or I CD Distributors, Inc. 200 EA No Bid Valley Forge or I Valley Forge or I CD Distributors, Inc. 200 EA No Bid Valley Forge or I Valley Forge or I Supplier QTV UOM Price Extended Supplier Notes / Alternate Description Manufacturer Manufacturer CD Distributors, Inc. 200 EA No Bid Valley Forge or I Valley Forge or I CD Distributors, Inc. 200 EA No Bid Valley Forge or I Valley Forge or I Guil Coast Paper 200 EA Supplier No Bid Valley Forge or I Guil Coast Paper 200 EA Supplier No Bid Valley Forge or I Guil Coast Paper 200	School Specialty, Inc.	200	BX	No Bid			Johnson & John	1:
CC Distributors, Inc. 200 BX \$21.15 \$4,230.00 ProWorks 180-25 Johnson & John 41 Texas Classroom Flag Extended Supplier Notes Manufacturer Manufi 42 Texas Classroom Flag Extended Supplier Notes Manufacturer Manufi 43 Texas Classroom Flag Control Contro Contecontrol Control Contro Control Contecontecontrol Co	Yanitor Paper and Supplies, LL	C 200	BX	No Bid			Johnson & John	1:
CC Distributors, Inc. 200 BX \$21.15 \$4,230.00 ProWorks 180-25 Johnson & John 41 Texas Classroom Flag Valley Forge or I Manufacturer Manufacturer Manufacturer 42 Texas Classroom Flag Valley Forge or I Valley Forge or I Valley Forge or I 43 Texas Classroom Flag. Extended Supplier Notes Valley Forge or I 44 CC Distributors, Inc. 200 EA No Bid Supplier Notes / Alternate Description Manufacturer Manufacturer Manuf 42 U.S. Classroom Flag. Extended Supplier Notes / Alternate Description Manufacturer Manufacturer Manuf 43 U.S. Flag. State of State of Supplies Notes / Alternate Description Manufacturer Manufacturer Manuf 44 U.S. Flag. State of State State of Sta	Gulf Coast Paper	200	BX	\$14.95	\$2,990.00) FLANNEL	Johnson & John	1:
SupplierOTYUOMPriceExtendedSupplier NotesManufacturerMan	•	200	BX	\$21.15			Johnson & John	11
SupplierOTYUOMPriceExtendedSupplier NotesManufacturerMan	41 Toyas Classroom Flag							
Yanitor Paper and Supplies, LC 200 EA No Bid Valley Forge or I GUF Cost Paper 200 EA No Bid Valley Forge or I CC Distributors, Inc. 200 EA No Bid Valley Forge or I 20 School Specialty, Inc. 200 EA No Bid Valley Forge or I 21 U.S. Classroom Flag. Extended Supplier Notes / Alternate Description Manufacturer Manufacturer 22 Obsributors, Inc. 200 EA No Bid Valley Forge or I Yanitor Paper and Supplies, LLC 200 EA No Bid Valley Forge or I Valley Forge or I 23 U.S. Flag. Supplier Notes / Alternate Description Manufacturer Manufacturer 24 U.S. Flag. Stop Bier CT Y Valley Forge or I Valley Forge or I 24 U.S. Flag. Stop Side Stop Side Valley Forge or I Valley Forge or I 240 Guf Coast Paper 100 EA Stop Side Stop Side Valley Forge or I 2410 Guf Coast Paper		QTY	UOM	Price	Extended	Supplier Notes	Manufacturer	Manuf Num
Cut Cost Paper 200 EA No Bid Valley Forge or I CC Distributors, Inc. 200 EA No Bid Valley Forge or I Supplier CT Wolk Valley Forge or I Valley Forge or I CC Distributors, Inc. 200 EA No Bid Valley Forge or I CC Distributors, Inc. 200 EA No Bid Valley Forge or I CC Distributors, Inc. 200 EA No Bid Valley Forge or I IAITI Shohol Specialty, Inc. 200 EA \$45.50 \$900.00 201031203S Valley Forge or I GUIT Coast Paper 200 EA \$45.50 \$900.00 201031203S Valley Forge or I GUIT Coast Paper QT UOM Price Extended Supplier Notes / Alternate Description Manufacturer Manuf GL Coast Paper QT UOM Price Extended Supplier Notes / Alternate Description Valley Forge or I GL Coast Paper QT UOM Price Extended Supplier Notes / Alternate Description Manufacturer M		C 200	EA	No Bid			Valley Forge or	I
School Specialty, Inc. 200 EA No Bid Valley Forge or I 42 U.S. Classroom Flag. Supplier QTY UOM Price Extended Supplier Notes / Alternate Description Manufacturer Manufacturer CC Distributors, Inc. 200 EA No Bid Valley Forge or I Valley Forge or I [ALT] School Specialty, Inc. 200 EA S2.79 SSSS.00 FLAG W/STAFF US 12X18 - SSW 016785 ANNIN 042800 Gulf Coast Paper 200 EA S4.50 S900.00 2010312035 Valley Forge or I 43 U.S. Flag. Supplier QTY UOM Price Extended Supplier Notes / Alternate Description Manufacturer Manufacturer Valley Forge or I Yanitor Paper and Supplies, LLC 100 EA No Bid Valley Forge or I Valley Forge or I Yanitor Paper and Supplies, LLC 50 EA No Bid Valley Forge or I Valley Forge or I Yanitor Paper and Supplies, LLC 50 <td></td> <td></td> <td>EA</td> <td>No Bid</td> <td></td> <td></td> <td>, ,</td> <td></td>			EA	No Bid			, ,	
School Specialty, Inc. 200 EA No Bid Valley Forge or I 42 U.S. Classroom Flag. Supplier QTY UOM Price Extended Supplier Notes / Alternate Description Manufacturer Manufacturer CC Distributors, Inc. 200 EA No Bid Valley Forge or I Valley Forge or I [ALT] School Specialty, Inc. 200 EA S2.79 SSSS.00 FLAG W/STAFF US 12X18 - SSW 016785 ANNIN 042800 Gulf Coast Paper 200 EA S4.50 S900.00 2010312035 Valley Forge or I 43 U.S. Flag. Supplier QTY UOM Price Extended Supplier Notes / Alternate Description Manufacturer Manufacturer Valley Forge or I Yanitor Paper and Supplies, LLC 100 EA No Bid Valley Forge or I Valley Forge or I Yanitor Paper and Supplies, LLC 50 EA No Bid Valley Forge or I Valley Forge or I Yanitor Paper and Supplies, LLC 50 <td>•</td> <td>200</td> <td>EA</td> <td>No Bid</td> <td></td> <td></td> <td></td> <td></td>	•	200	EA	No Bid				
Supplier QTY UOM Price Extended Supplier Notes / Alternate Description Manufacturer Manuf Vanitor Pager and Supplies, LLC 200 EA No Bid Valiey Forge or I Valiey Forge or I Gulf Coast Paper 200 EA S2.79 \$558.00 FLAG W/ STAFF US 12X18 - SSH 016785 ANNIN 042800 Gulf Coast Paper 200 EA \$2.79 \$558.00 FLAG W/ STAFF US 12X18 - SSH 016785 ANNIN 042800 Supplier QTY UOM Price Extended Supplier Notes / Alternate Description Manufacturer Manuf Yanitor Paper and Supplies, LLC 200 EA No Bid Valiey Forge or I Valiey Forge or I Yanitor Paper and Supplies, LLC 200 EA No Bid Valiey Forge or I Valiey Forge or I Gulf Coast Paper 100 EA No Bid Valiey Forge or I Valiey Forge or I Supplier QTY UOM Price Extended Supplier Notes / Alternate Description Manufacturer Manuf Gulf Coast Paper 500 EA No Bid		200	EA	No Bid			Valley Forge or	I
Supplier QTY UOM Price Extended Supplier Notes / Alternate Description Manufacturer Manuf Vanitor Paper and Supples, LLC 200 EA No Bid Valiey Forge or I Valiey Forge or I Gulf Coast Paper 200 EA S2.79 \$558.00 FLAG W/ STAFF US 12X18 - SSI# 016785 ANNIN 042800 43 U.S. Flag. Supplier QTY UOM Price Extended Supplier Notes / Alternate Description Manufacturer Manuf 43 U.S. Flag. Supplier QTY UOM Price Extended Supplier Notes / Alternate Description Manufacturer Manuf 44 U.S. Flag. Supplier CO EA No Bid Valiey Forge or I Valiey Forge or I 44 U.S. Flag. Supplier QTY UOM Price Extended Supplier Notes / Alternate Description Naintacturer Manufacturer Gulf Coast Paper 100 EA S16.28 \$1,628.00 FLAG US 4X6 NYLON - Ssi# 1303540 ANNIN 2140 Gulf Coast Paper 100	42 U.S. Classroom Flag							
CC Distributors, Inc. 200 EA No Bid Valley Forge or I Yanitor Paper and Supplies, LLC 200 EA No Bid Valley Forge or I Gulf Coast Paper 200 EA \$2.79 \$558.00 FLAG W/ STAFF US 12X18 - SSI# 016785 ANNIN 042800 Gulf Coast Paper 200 EA \$4.50 \$900.00 201031203S Valley Forge or I 43 U.S. Flag. Extended Supplier Notes / Alternate Description Manufacturer Manufacturer CD Distributors, Inc. 100 EA No Bid Valley Forge or I Valley Forge or I Yanitor Paper and Supplies, LLC 100 EA No Bid S1.628.00 FLAG US 4X6 NYLON - SSI# 330340 ANNIN 2140 Gulf Coast Paper 100 EA \$16.28 \$1,628.00 FLAG US 4X6 NYLON - SSI# 330340 ANNIN 2140 Valley Forge or I 44 U.S. Flag. Extended Supplier Notes / Alternate Description Manufacturer Manuf CD Distributors, Inc. 50 E		QTY	UOM	Price	Extended	Supplier Notes / Alternate Description	Manufacturer	Manuf Num
Yanitor Paper and Supplies, LLC 200 EA No Bid Valley Forge or I [AIT1] School Specialty, Inc. 200 EA \$2,79 \$555.00 FLAG W/ STAFF US 12X18 - SSI# 016785 ANNIN 042800 43 U.S. Flag. Supplier QTY UOM Price Extended Supplier Notes / Alternate Description Manufacturer Manuf Vanitor Paper and Supplies, LLC 100 EA No Bid Valley Forge or I Valley Forge or I Vanitor Cost Paper 100 EA No Bid Valley Forge or I Valley Forge or I Vanitor Paper and Supplies, LLC 100 EA No Bid Valley Forge or I Valley Forge or I Vanitor Cost Paper 100 EA \$16.28 \$1,628.00 FLAG US 4X6 NYLON Valley Forge or I 41 U.S. Flag. Valley Forge or I Valley Forge or I Valley Forge or I Valley Forge or I 42 U.S. Flag. Valley Forge or I Valley Forge or I Valley Forge or I 43 U.S. Flag. Valley Forge or I Valley Forge or I Valley Forge or I 44 U.S. Fl		200	EA	No Bid			Valley Forge or	I
[ALT1] School Specialty, Inc. 200 EA \$2,79 \$558.00 FLAG W/ STAFF US 12X18 - SSIW 016785 ANNIN 042800 Gulf Coast Paper 200 EA \$4.50 \$900.00 2010312035 Valley Forge or I 3 U.S. Flag. Valley Forge or I Valley Forge or I 3 U.S. Flag. Valley Forge or I 43 U.S. Flag. Valley Forge or I 44 U.S. Flag. Valley Forge or I 45 U.S. Flag. Valley Forge or I 44 U.S. Flag. Valley Forge or I 45 U.S. Flag. Valley Forge or I 46 U.S. Flag. Valley Forge or I 47 Valley Forge or I Valley Forge or I 48 Texas Flag.	,	C 200		No Bid			, ,	
Guilf Coast Paper 200 EA \$4.50 \$900.00 Z010312035 Valley Forge or I 43 U.S. Flag: Supplier QTV UOM Price Extended Supplier Notes / Alternate Description Manufacturer Manufacturer Manuf Valley Forge or I Yanitor Paper and Supplies, LLC 100 EA No Bid Valley Forge or I Valley Forge or I 44 U.S. Flag: T T Supplier QTY UOM Price Extended Supplier Notes / Alternate Description Manufacturer Manuf 44 U.S. Flag: T Supplier QTY UOM Price Extended Supplier Notes / Alternate Description Manufacturer Manuf 43 U.S. Flag: T Supplier QTY UOM Price Extended Supplier Notes / Alternate Description Manufacturer Manuf 44 U.S. Flag: Supplier QTY UOM Price Extended Supplier No	······				\$558.00) FLAG W/ STAFF US 12X18 - SSI# 016785		
Supplier QTY UOM Price Extended Supplier Notes / Alternate Description Manufacturer Manuf i Yanitor Paper and Supplies, LLC 100 EA No Bid Valley Forge or I Valley Forge or I [ALT1] School Specialty, Inc. 100 EA \$16.28 \$1,628.00 FLAG US 4X6 NYLON Valley Forge or I 44 U.S. Flag. Valley Forge or I Manufacturer Manufacturer Manufacturer Manufacturer 50 UF Costributors, Inc. 50 EA No Bid Valley Forge or I Valley Forge or I 44 U.S. Flag. Valley Forge or I Manufacturer Manufacturer Manufacturer Manufacturer 50 EA No Bid Valley Forge or I Valley Forge or I Valley Forge or I 45 Texas Flag. Valley Forge or I Valley Forge or I Valley Forge or I 50 EA S68.76 \$3,438.00 6X10 VNLON SSI# 1303549 ANNIN 2300 6ulf Coast Paper 50 EA S44.87 \$2,2,243.50 FLAG US 6X10 NVLON SSI# 1303549	1.5						Valley Forge or	
Supplier QTY UOM Price Extended Supplier Notes / Alternate Description Manufacturer Manuf i CC Distributors, Inc. 100 EA No Bid Valley Forge or I Valley Forge or I Yanitor Paper and Supplies, LLC 100 EA S16.28 \$1,628.00 FLAG US 4X6 NYLON Valley Forge or I 44 U.S. Flag. Valley Forge or I Valley Forge or I Manufacturer Manufacturer 50 Uf Coast Paper QTY UOM Price Extended Supplier Notes / Alternate Description Manufacturer Manufacturer 44 U.S. Flag. Valley Forge or I Valley Forge or I Valley Forge or I Valley Forge or I 45 Texas Flag. Valley Forge or I Valley Forge or I Valley Forge or I 45 Texas Flag. Valley Forge or I Valley Forge or I Valley Forge or I 46 Texas Flag. Valley Forge or I Valley Forge or I Valley Forge or I 47 UOM Price Extended Supplier Notes / Alternate Description Manufacturer Manufactur								
CC Distributors, Inc. 100 EA No Bid Valley Forge or I Valley Forge or I Valley Forge or I Valley Forge or I Valley Forge or I [ALTI] School Specialty, Inc. 100 EA \$16.28 \$1,628.00 FLAG US 4X6 NYLON - SSI# 1303540 ANININ 2140 44 U.S. Flag. Supplier QTV UOM Price Extended Supplier Notes / Alternate Description Manufacturer Manufa CD Distributors, Inc. 50 EA No Bid Valley Forge or I Valley Forge or I 4111 School Specialty, Inc. 50 EA No Bid Valley Forge or I 42 U.S. Flag. Valley Forge or I Valley Forge or I Valley Forge or I 43 Supplier QTV UOM Price Extended Supplier Notes / Alternate Description Manufacturer Manufacturer 44 Stars Flag. Valley Forge or I Valley Forge or I Valley Forge or I Valley Forge or I 45 Texas Flag. Supplier Notes / Alternate Description Manufacturer <td< td=""><td></td><td>OTV</td><td>LION</td><td>Drico</td><td>Extended</td><td>Sumplier Notes (Alternate Description</td><td>Manufactura</td><td>Manuf Num</td></td<>		OTV	LION	Drico	Extended	Sumplier Notes (Alternate Description	Manufactura	Manuf Num
Yanitor Paper and Supplies, LLC 100 EA No Bid Valley Forge or I [ALT1] School Specialty, Inc. 100 EA \$16.28 \$1,628.00 FLAG US 4X6 NYLON - SSI# 1303540 ANNIN 2140 44 U.S. Flag.		•			Extended	Supplier Notes / Alternate Description		
[ALT1] School Specialty, Inc. 100 EA \$16.28 \$1,628.00 FLAG US 4X6 NYLON - SSI# 1303540 ANNIN 2140 Gulf Coast Paper 100 EA \$30.32 \$3,032.00 4X6 US NYLON Valley Forge or I 44 U.S. Flag.	,						, ,	
Guil Coast Paper 100 EA \$30.32 \$3,032.00 4X6 US NYLON Valley Forge or I 44 U.S. Flag. Supplier QTY UOM Price Extended Supplier Notes / Alternate Description Manufacturer Manufal Yanitor Paper and Supplies, LLC 50 EA No Bid Valley Forge or I Valley Forge or I Yanitor Paper and Supplies, LLC 50 EA No Bid Valley Forge or I Valley Forge or I Guif Coast Paper 50 EA \$54.4.87 \$2,243.50 FLAG US 6X10 NVLON SSI# 1303549 ANNIN 2300 Guif Coast Paper 50 EA \$68.76 \$3,438.00 6X10 US NVLON Valley Forge or I 45 Texas Flag. Supplier QTY UOM Price Extended Supplier Notes / Alternate Description Manufacturer Manuf1 Yanitor Paper and Supplies, LLC 100 EA No Bid Valley Forge or I Valley Forge or I Yanitor Paper and Supplies, LLC 100 EA \$20.73 \$2,073.00 FLAG TEXAS 4X6 NYLON - SSI # 1334710 ANNIN 145270 Guif Coast Paper 100 <td>×</td> <td></td> <td></td> <td></td> <td>¢1 C28 O</td> <td></td> <td></td> <td></td>	×				¢1 C28 O			
SupplierQTYUOMPriceExtendedSupplier Notes / Alternate DescriptionManufacturerManufaC Distributors, Inc.50EANo BidValley Forge or IYanitor Paper and Supplies, LLC 50EANo BidValley Forge or IGulf Coast Paper50EA\$44.87\$2,243.50FLAG US 6X10 NYLON SSI# 1303549AlNNINGulf Coast Paper50EA\$68.76\$3,438.006X10 US NYLONValley Forge or ISupplierQTYUOMPriceExtendedSupplier Notes / Alternate DescriptionManufacturerManufaCC Distributors, Inc.100EANo BidValley Forge or IValley Forge or IValley Forge or IYanitor Paper and Supplies, LLC 100EANo BidValley Forge or IValley Forge or IYanitor Paper and Supplies, LLC 100EANo BidValley Forge or IGulf Coast Paper100EA\$20.73\$2,073.00FLAG TEXAS 4X6 NYLON - SSI # 1334710ANNINGulf Coast Paper100EA\$33.20\$3,320.004X6 TX NYLONValley Forge or IGulf Coast Paper100EANo BidValley Forge or IValley Forge or IYanitor Paper and Supplies, LLC 50EANo BidValley Forge or ISchool Specialty, Inc.50EANo BidValley Forge or IYanitor Paper and Supplies, LLC 50EANo BidValley Forge or IGulf Coast Paper50EA\$95.00\$4,750.006X10 TX NYLO	······································							
SupplierQTYUOMPriceExtendedSupplier Notes / Alternate DescriptionManufacturerManufaC Distributors, Inc.50EANo BidValley Forge or IYanitor Paper and Supplies, LLC 50EANo BidValley Forge or IGuif Coast Paper50EA\$44.87\$2,243.50FLAG US 6X10 NYLON SSI# 1303549AlNNINGuif Coast Paper50EA\$68.76\$3,438.006X10 US NYLONValley Forge or I45Texas Flag								
CC Distributors, Inc. 50 EA No Bid Valley Forge or I Yanitor Paper and Supplies, LLC S0 EA No Bid Valley Forge or I [ALT1] School Specialty, Inc. 50 EA \$44.87 \$2,243.50 FLAG US 6X10 NYLON SSI# 1303549 ANNIN 2300 Gulf Coast Paper 50 EA \$68.76 \$3,438.00 6X10 US NYLON Valley Forge or I 45 Texas Flag.		ΟΤΧ	UOM	Price	Extended	Supplier Notes / Alternate Description	Manufacturer	ManufNum
Yanitor Paper and Supplies, LLC 50 EA No Bid Valley Forge or I [ALT1] School Specialty, Inc. 50 EA \$44.87 \$2,243.50 FLAG US 6X10 NYLON SSI# 1303549 ANNIN 2300 Gulf Coast Paper 50 EA \$68.76 \$3,438.00 6X10 US NYLON Valley Forge or I 45 Texas Flag.		•			Extended	Supplier Notes / Alternate Description		
[ALT1] School Specialty, Inc. 50 EA \$44.87 \$2,243.50 FLAG US 6X10 NYLON SSI# 1303549 ANNIN 2300 duil Coast Paper 50 EA \$68.76 \$3,338.00 6X10 US NYLON Valley Forge or I As Texas Flag. Supplier QTY UOM Price Extended Supplier Notes / Alternate Description Manufacturer Manufa Yanitor Paper and Supplies, LLC 100 EA No Bid Valley Forge or I Valley Forge or I Yanitor Paper and Supplies, LLC 100 EA No Bid Valley Forge or I Valley Forge or I Guif Coast Paper 100 EA \$20.73 \$2,073.00 FLAG TEXAS 4X6 NYLON - SSI # 1334710 ANNIN 145270 Guif Coast Paper 100 EA \$20.73 \$2,073.00 FLAG TEXAS 4X6 NYLON - SSI # 1334710 ANNIN 145270 Guif Coast Paper 100 EA \$20.73 \$2,073.00 FLAG TEXAS 4X6 NYLON - SSI # 1334710 ANNIN 145270 Guif Coast Paper 100 EA \$33.20 \$3,320.00 4X6 TX NYLON Valley Forge or I Valley Forge or I Guif Coast							, ,	
Gulf Coast Paper 50 EA \$68.76 \$3,438.00 6X10 US NYLON Valley Forge or I 45 Texas Flag.					¢2 242 E0		······	
45 Texas Flag. Value Value Value Manufacturer Manuf r C Distributors, Inc. 100 EA No Bid Valuey Forge or I Valuey Forge or I Yanitor Paper and Supplies, LLC 100 EA No Bid Valuey Forge or I Valuey Forge or I [ALT1] School Specialty, Inc. 100 EA \$20.73 \$2,073.00 FLAG TEXAS 4X6 NYLON - SSI # 1334710 ANNIN 145270 Guif Coast Paper 100 EA \$33.20 \$3,320.00 4X6 TX NYLON Valuey Forge or I 145270 Guif Coast Paper 100 EA \$33.20 \$3,320.00 4X6 TX NYLON Valuey Forge or I 46 Texas Flag. Texas Flag. Texas Flag. Texas Flag. Valuey Forge or I Valuey Forge or I School Specialty, Inc. 50 EA No Bid Valuey Forge or I Valuey Forge or I Yanitor Paper and Supplies, LLC 50 EA No Bid Valuey Forge or I Valuey Forge or I 47 Classroom Flag Holder. Supplier Notes Manufacturer Manuf I Yanitor Paper and Supplies, LLC 150 EA No Bid Supplier N	•·····································							
Supplier QTY UOM Price Extended Supplier Notes / Alternate Description Manufacturer Manuf I CC Distributors, Inc. 100 EA No Bid Valley Forge or I Valley Forge or I Yanitor Paper and Supplies, LLC 100 EA No Bid Valley Forge or I Valley Forge or I [ALT1] School Specialty, Inc. 100 EA \$20.73 \$2,073.00 FLAG TEXAS 4X6 NYLON - SSI # 1334710 ANNIN 145270 Gulf Coast Paper 100 EA \$20.73 \$3,320.00 4X6 TX NYLON Valley Forge or I Fexas Flag. Supplier QTY UOM Price Extended Supplier Notes Manufacturer Manuf I School Specialty, Inc. 50 EA No Bid Valley Forge or I Yanitor Paper and Supplies, LLC 50 EA No Bid Valley Forge or I Valley Forge or I Gulf Coast Paper 50 EA No Bid Valley Forge or I Valley Forge or I Gulf Coast Paper 50 EA No Bid Valley Forge or I Valley Forge or I Gulf Coast Paper 50 EA No Bid Valley Forge or I Valle	Guil Coast Paper	50	EA	\$08.76	\$3,438.00	O BATO OS NYLON	valley Forge of	I .
CC Distributors, Inc. 100 EA No Bid Valley Forge or I Yanitor Paper and Supplies, LLC 100 EA No Bid Valley Forge or I [ALT1] School Specialty, Inc. 100 EA \$20.73 \$2,073.00 FLAG TEXAS 4X6 NYLON - SSI # 1334710 ANNIN 145270 Gulf Coast Paper 100 EA \$33.20 \$3,320.00 4X6 TX NYLON Valley Forge or I Valley Forge or I Supplier QTY UOM Price Extended Supplier Notes Manufacturer Manufacturer School Specialty, Inc. 50 EA No Bid Valley Forge or I Valley Forge or I Yanitor Paper and Supplies, LLC 50 EA No Bid Valley Forge or I Valley Forge or I Yanitor Paper and Supplies, ILC 50 EA No Bid Valley Forge or I Valley Forge or I Gulf Coast Paper 50 EA No Bid Valley Forge or I Valley Forge or I 47 Classroom Flag Holder. Valley Forge or I Valley Forge or I Valley Forge or I 48 Supplier QTY UOM Price Extended Supplier Notes Manufacturer						-		
Yanitor Paper and Supplies, LLC 100 EA No Bid Valley Forge or 1 [ALT1] School Specialty, Inc. 100 EA \$20.73 \$2,073.00 FLAG TEXAS 4X6 NYLON - SSI # 1334710 ANNIN 145270 Gulf Coast Paper 100 EA \$33.20 \$3,320.00 4X6 TX NYLON Valley Forge or 1 46 Texas Flag. Supplier QTY UOM Price Extended Supplier Notes Manufacturer Manufacturer Manufacturer Yanitor Paper and Supplies, LLC 50 EA No Bid Valley Forge or 1 Valley Forge or 1 Valley Forge or 1 Yanitor Paper and Supplies, LLC 50 EA No Bid Valley Forge or 1 Valley Forge or 1 Yanitor Paper and Supplies, LLC 50 EA No Bid Valley Forge or 1 Valley Forge or 1 Gulf Coast Paper 50 EA No Bid Valley Forge or 1 Valley Forge or 1 47 Classroom Flag Holder. Supplier Notes Manufacturer Manufacturer Manufacturer Yanitor Paper and Supplies, LLC 150 EA No Bid School Smart 016794 Gulf Coast Paper 150 EA <					Extended	Supplier Notes / Alternate Description		
[ALT1] School Specialty, Inc.100EA\$20.73\$2,073.00FLAG TEXAS 4X6 NYLON - SSI # 1334710ANNIN145270Gulf Coast Paper100EA\$33.20\$3,320.004X6 TX NYLONValley Forge or I46Texas Flag.47CC Distributors, Inc.50EANo BidValley Forge or I47Classroom Flag Holder.47Classroom Flag Holder.SupplierQTYUOMPriceExtendedSupplier NotesManufacturerManufacturer47Classroom Flag Holder.SupplierQTYUOMPriceExtendedSupplier NotesManufacturerManufacturer47Classroom Flag Holder.SupplierSupplier NotesValley Forge or ISchool Smart01679448Gulf Coast Paper50EANo BidSupplier NotesManufacturerManufacturer49Classroom Flag Holder.Supplier NotesManufacturerManufacturerManufacturer49Coast Paper150EANo BidSchool Smart01679450EANo BidSchool Smart0167945chool Smart01679451EANo BidSchool Smart01679452EANo BidSchool Smart01679453EANo BidSchool Smart01679454School SmartSchool Smart01679455EANo BidSchool Smart01679455EANo BidSchool Smart0167	,						, 0	
Gulf Coast Paper 100 EA \$33.20 \$3,320.00 4X6 TX NYLON Valley Forge or I 46 Texas Flag. Supplier QTY UOM Price Extended Supplier Notes Manufacturer Manufacturer<					4			
46 Texas Flag. Supplier QTY UOM Price Extended Supplier Notes Manufacturer	······							
Supplier QTY UOM Price Extended Supplier Notes Manufacturer Ma	Gulf Coast Paper	100	EA	\$33.20	\$3,320.00) 4X6 TX NYLON	Valley Forge or	I
School Specialty, Inc. 50 EA No Bid Valley Forge or I Yanitor Paper and Supplies, LLC 50 EA No Bid Valley Forge or I CC Distributors, Inc. 50 EA No Bid Valley Forge or I Gulf Coast Paper 50 EA No Bid Valley Forge or I Cassroom Flag Holder. Volley Forge or I Vanitor Paper and Supplies, LLC 150 EA No Bid No Bid Yanitor Paper and Supplies, LLC 150 EA No Bid School Smart 016794 Gulf Coast Paper 150 EA No Bid School Smart 016794 CC Distributors, Inc. 150 EA No Bid School Smart 016794	46 Texas Flag.							
Yanitor Paper and Supplies, LLC 50 EA No Bid Valley Forge or I CC Distributors, Inc. 50 EA No Bid Valley Forge or I Gulf Coast Paper 50 EA \$95.00 \$4,750.00 6X10 TX NYLON Valley Forge or I Vanitor Paper and Supplies, LLC 150	Supplier	QTY	UOM	Price	Extended	Supplier Notes	Manufacturer	Manuf Num
CC Distributors, Inc. 50 EA No Bid Valley Forge or I Gulf Coast Paper 50 EA \$95.00 \$4,750.00 6X10 TX NYLON Valley Forge or I 47 Classroom Flag Holder. Supplier QTY UOM Price Extended Supplier Notes Manufacturer Manuf I Yanitor Paper and Supplies, LLC 150 EA No Bid School Smart 016794 Gulf Coast Paper 150 EA No Bid School Smart 016794 CC Distributors, Inc. 150 EA No Bid School Smart 016794	School Specialty, Inc.	50	EA	No Bid			Valley Forge or	l
Gulf Coast Paper 50 EA \$95.00 \$4,750.00 6X10 TX NYLON Valley Forge or I 47 Classroom Flag Holder. Supplier QTY UOM Price Extended Supplier Notes Manufacturer Manuf I Yanitor Paper and Supplies, LLC 150 EA No Bid School Smart 016794 Gulf Coast Paper 150 EA No Bid School Smart 016794 CC Distributors, Inc. 150 EA No Bid School Smart 016794	Yanitor Paper and Supplies, LL	C 50	EA	No Bid			Valley Forge or	I
47 Classroom Flag Holder. Supplier QTY UOM Price Extended Supplier Notes Manufacturer Manuf Yanitor Paper and Supplies, LLC 150 EA No Bid School Smart 016794 Gulf Coast Paper 150 EA No Bid School Smart 016794 CC Distributors, Inc. 150 EA No Bid School Smart 016794					A		, ,	
SupplierQTYUOMPriceExtendedSupplier NotesManufacturerManuf IYanitor Paper and Supplies, LLC 150EANo BidSchool Smart016794Gulf Coast Paper150EANo BidSchool Smart016794CC Distributors, Inc.150EANo BidSchool Smart016794	Gulf Coast Paper	50	EA	\$95.00	\$4,750.00) 6X10 TX NYLON	Valley Forge or	ł
Yanitor Paper and Supplies, LLC 150EANo BidSchool Smart016794Gulf Coast Paper150EANo BidSchool Smart016794CC Distributors, Inc.150EANo BidSchool Smart016794	47 Classroom Flag Holder.	<u>.</u>						
Gulf Coast Paper150EANo BidSchool Smart016794CC Distributors, Inc.150EANo BidSchool Smart016794	Supplier	QTY	UOM	Price	Extended	Supplier Notes	Manufacturer	Manuf Num
CC Distributors, Inc. 150 EA No Bid School Smart 016794	Yanitor Paper and Supplies, LL	C 150	EA	No Bid			School Smart	016794
	Gulf Coast Paper	150	EA	No Bid			School Smart	016794
School Specialty, Inc. 150 FA No Bid School Smart 016794	CC Distributors, Inc.	150	EA	No Bid			School Smart	016794
	School Specialty, Inc.	150	EA	No Bid			School Smart	016794

48 Buffing Pad.							
Supplier	QTY	UOM	Price	Extended	Supplier Notes / Alternate Description	Manufacturer	Manuf Num
Yanitor Paper and Supplies, LL	C 30	CS	No Bid			3M	5100
School Specialty, Inc.	30	CS	No Bid			3M	5100
[ALT1] CC Distributors, Inc.	30	CS	\$7.25	\$217.50	Norton Red BuffNot as Specified Quoting A	Norton	Red Buff
Gulf Coast Paper	30	CS	\$13.07	\$392.10	3M 5100	3M	5100
9 Stripping Pad.							
Supplier	QTY	UOM	Price	Extended	Supplier Notes / Alternate Description	Manufacturer	Manuf Num
Yanitor Paper and Supplies, LL	C 30	CS	No Bid			3M	7200
School Specialty, Inc.	30	CS	No Bid			3M	7200
[ALT1] CC Distributors, Inc.	30	CS	\$7.25	¢217 50	Norton Black StripNot as Specified Quoting		Black Strip
Gulf Coast Paper	30	CS	\$13.42		3M 7200	3M	7200
Guil Coast Papel	50	CS .	Ş15.4Z	\$402.00	31017200	2101	7200
50 Buffing Pad.	OTV		Dulas	Forte and and	Constitution Notes / Alternate Description	NA	
Supplier	QTY	UOM	Price	Extended	Supplier Notes / Alternate Description	Manufacturer	Manuf Num
Yanitor Paper and Supplies, LL		CS	No Bid			3M	4100
School Specialty, Inc.	30	CS	No Bid			3M	4100
[ALT1] CC Distributors, Inc.	30	CS	\$7.25	\$217.50	Norton White PolishNot as Specified Quoti	Norton	White Polish
Gulf Coast Paper	30	CS	\$13.07	\$392.10	3M 4100	3M	4100
1 Buffing Pad.							
Supplier	QTY	UOM	Price	Extended	Supplier Notes / Alternate Description	Manufacturer	Manuf Num
Yanitor Paper and Supplies, LL		CS	No Bid			3M	5100
School Specialty, Inc.	125	CS				3M	5100
			No Bid	64 405 CC			
[ALT1] CC Distributors, Inc.	125	CS	\$9.56		Norton Red BuffNot as Specified Quoting A		Red Buff
Gulf Coast Paper	125	CS	\$17.38	\$2,172.50	3M 5100	3M	5100
-							
2 Stripping Pad.							
Supplier	QTY	UOM	Price	Extended	Supplier Notes / Alternate Description	Manufacturer	Manuf Num
Yanitor Paper and Supplies, LL	C 150	CS	No Bid			3M	7200
School Specialty, Inc.	150	CS	No Bid			3M	7200
[ALT1] CC Distributors, Inc.	150	CS	\$9.56	\$1.434.00	Norton Black StripNot as Specified Quoting	Norton	Black Strip
Gulf Coast Paper	150	CS	\$17.86) 3M 7200	3M	7200
	100	00	<i></i>	<i>\(_)075100</i>		0	, 200
53 Buffing Pad.							
Supplier	QTY	UOM	Price	Extended	Supplier Notes / Alternate Description	Manufacturer	Manuf Num
Yanitor Paper and Supplies, LL	•	CS	No Bid	Extended	Supplier Notes / Alternate Description	3M	5100
						-	
School Specialty, Inc.	250	CS	No Bid	4		3M	5100
[ALT1] CC Distributors, Inc.	250	CS	\$10.54		Norton Red BuffNot as Specified Quoting A		Red Buff
Gulf Coast Paper	250	CS	\$19.26	\$4,815.00	3M 5100	3M	5100
54 Scrubbing Pad.							
Supplier	QTY	UOM	Price	Extended	Supplier Notes / Alternate Description	Manufacturer	Manuf Num
Yanitor Paper and Supplies, LL	C 175	CS	No Bid			3M	5300
School Specialty, Inc.	175	CS	No Bid			3M	5300
[ALT1] CC Distributors, Inc.	175	CS	\$10.54	\$1,844.50	Norton Blue CleanerNot as Specified Quoti	Norton	Blue Cleaner
Gulf Coast Paper	175	CS	\$19.26		3M 5300	3M	5300
P -	-		,				
5 Stripping Pad.							
Supplier	QTY	UOM	Price	Extended	Supplier Notes / Alternate Description	Manufacturer	Manuf Num
				LACENCEU	Supplier Notes / Alternate Description		
Yanitor Paper and Supplies, LL		CS	No Bid			3M	7200
School Specialty, Inc.	450	CS	No Bid	+		3M	7200
[ALT1] CC Distributors, Inc.	450	CS	\$10.54		Norton Black StripNot as Specified Quoting		Black Strip
Gulf Coast Paper	450	CS	\$19.79	\$8,905.50	3M 7200	3M	7200
6 Hog Hair 27" Buffing Pad.							
Supplier	QTY	UOM	Price	Extended	Supplier Notes	Manufacturer	Manuf Num
School Specialty, Inc.	75	BX	No Bid			3M or Equal	59319 Niagra
Yanitor Paper and Supplies, LL		BX	No Bid			3M or Equal	59319 Niagra
	75	BX	\$26.55	\$1,991,25	Norton 5151Not as Specified Quoting Alter	•	59319 Niagra
CC Distributors Inc			\$20.33		AMERICO	3M or Equal	59319 Niagra
CC Distributors, Inc.	75	RX		22،120,27	AMENICO	Sivi Or Equal	22212 INIABL
CC Distributors, Inc. Gulf Coast Paper	75	BX	<i>Ş</i> 27.05				
Gulf Coast Paper	75	BX	<i>¥27.03</i>				
Gulf Coast Paper				F -4 1 1	Country Madee	Maria	M 5
Gulf Coast Paper 57 Hog Hair Pad. Supplier	QTY	UOM	Price	Extended	Supplier Notes	Manufacturer	Manuf Num
Gulf Coast Paper Hog Hair Pad. Supplier School Specialty, Inc. 	QTY 800	UOM CS	Price No Bid	Extended	Supplier Notes	MPC or Equal	35-20
Gulf Coast Paper 7 Hog Hair Pad. Supplier	QTY 800	UOM	Price	Extended	Supplier Notes		
Gulf Coast Paper Fraction Fra	QTY 800	UOM CS	Price No Bid		Supplier Notes AMERICO: 4053520	MPC or Equal	35-20

\$9,720.00 Norton 3540

\$12.15

CC Distributors, Inc.

800 CS

MPC or Equal 35-20

58 Buffing Pad							
Supplier	QTY	UOM	Price	Extended	Supplier Notes / Alternate Description	Manufacturer	Manuf Num
Yanitor Paper and Supplies, LLC	150	CS	No Bid			3M	5100
School Specialty, Inc.	150	CS	No Bid			3M	5100
[ALT1] CC Distributors, Inc.	150	CS	\$11.95	\$1 792 50	Norton Red BuffNot as Specified Quoting A		Red Buff
Gulf Coast Paper	150	CS	\$24.93		3M 5100	3M	5100
	150	65	φ <u>2</u> 1.35	<i>40,700.00</i>	511 5100	5111	5100
9 High Speed Buffing Pad.							
Supplier	QTY	UOM	Price	Extended	Supplier Notes / Alternate Description	Manufacturer	Manuf Num
Yanitor Paper and Supplies, LLC	300	CS	No Bid			3M	4100
School Specialty, Inc.	300	CS	No Bid			3M	4100
[ALT1] CC Distributors, Inc.	300	CS	\$11.95	\$3,585.00	Norton White PolishNot as Specified Quot	Norton	White Polish
Gulf Coast Paper	300	CS	\$24.93	\$7,479.00	3M 4100	3M	4100
50 Scrubbing Pad.							
Supplier	QTY	UOM	Price	Extended	Supplier Notes / Alternate Description	Manufacturer	Manuf Num
Yanitor Paper and Supplies, LLC	150	CS	No Bid			3M	5300
School Specialty, Inc.	150	CS	No Bid			3M	5300
[ALT1] CC Distributors, Inc.	150	CS	\$11.95	\$1,792,50	Norton Blue CleanerNot as Specified Quoti	Norton	Blue Cleaner
Gulf Coast Paper	150	CS	\$28.66	\$4,299.00	······	3M	5300
51 Stripping Pad.							
Supplier	QTY	UOM	Price	Extended	Supplier Notes / Alternate Description	Manufacturer	Manuf Num
Yanitor Paper and Supplies, LLC		CS	No Bid			3M	7200
School Specialty, Inc.	500	CS	No Bid			3M	7200
[ALT1] CC Distributors, Inc.	500	CS	\$11.95	\$5 975 00	Norton Black StripNot as Specified Quoting		Black Strip
Gulf Coast Paper	500	CS	\$25.62	\$12,810.00		3M	7200
52 High Productivity Pad. Supplier	QTY	UOM	Price	Extended	Supplier Notes / Alternate Description	Manufacturer	Manuf Num
Yanitor Paper and Supplies, LLC		CS	No Bid	Extended	Supplier Notes / Alternate Description		
						3M	7300
School Specialty, Inc.	250	CS	No Bid	4		3M	7300
[ALT1] CC Distributors, Inc.	250	CS	\$10.48		Norton Black Hi-Pro StripNot as Specified (Black Hi-Pro S
Gulf Coast Paper	250	CS	\$33.57	\$8,392.50	3M 7300	3M	7300
63 High Productivity Pad.							
Supplier	QTY	UOM	Price	Extended	Supplier Notes / Alternate Description	Manufacturer	Manuf Num
Yanitor Paper and Supplies, LLC	200	CS	No Bid			3M	7300
School Specialty, Inc.	200	CS	No Bid			3M	7300
[ALT1] CC Distributors, Inc.	200	CS	\$11.38	\$2,276.00	Norton Black Hi-Pro StripNot as Specified C	Norton	Black Hi-Pro S
Gulf Coast Paper	200	CS	\$36.89	\$7,378.00	3M 7300	3M	7300
64 High Productivity Pad.							
Supplier	QTY	UOM	Price	Extended	Supplier Notes / Alternate Description	Manufacturer	Manuf Num
Yanitor Paper and Supplies, LLC		CS	No Bid			3M	7300
School Specialty, Inc.	350	CS	No Bid			3M	7300
[ALT1] CC Distributors, Inc.	350	CS	\$13.68	\$4,788,00	Norton Black Hi-Pro StripNot as Specified (Black Hi-Pro
Gulf Coast Paper	350	CS	\$47.86	\$16,751.00		3M	7300
55 Shampoo Bonnet with Scrub S Supplier	trips. QTY	UOM	Price	Extended	Supplier Notes	Manufacturer	Manuf Num
School Specialty, Inc.	25	EA	No Bid	Extended		Rubbermaid or	
			No Bid				
Yanitor Paper and Supplies, LLC		EA		6224 07		Rubbermaid or	
CC Distributors, Inc.	25	EA	\$13.25		Triple S 36226	Rubbermaid or	
Gulf Coast Paper	25	EA	\$13.76	\$344.00	ODELL: G17	Rubbermaid or	TRCP P267
66 Shampoo Bonnet with Scrubs							
Supplier	QTY	UOM	Price	Extended	Supplier Notes	Manufacturer	
School Specialty, Inc.	25	EA	No Bid			Rubbermaid or	
Yanitor Paper and Supplies, LLC		EA	No Bid			Rubbermaid or	
Gulf Coast Paper	25	EA	\$15.53	\$388.25	ODELL: G21	Rubbermaid or	IRCP P271
CC Distributors, Inc.	25	EA	\$16.46	\$411.50	Triple S 36228	Rubbermaid or	IRCP P271
57 Toilet Bowl Swag.							
Supplier	QTY	UOM	Price	Extended	Supplier Notes / Alternate Description	Manufacturer	Manuf Num
est phile.					•		2004.00
Yanitor Paper and Supplies, LLC	2 450	EA	No Bid			Tolco or Equal.	280100
	2 450 450	EA EA	No Bid \$0.57	\$256.50	Continental WJ51000	Tolco or Equal. Tolco or Equal.	
Yanitor Paper and Supplies, LLC					Continental WJ51000 ODELL: DBW		280100

\$8,221.50 MOP TOILETBOWL DURALON WHI PK25GJ GENUINE JOE GJO99756

[ALT1] School Specialty, Inc.

450

ΕA

\$18.27

68 Urinal Screen.							
Supplier	QTY	UOM	Price	Extended	Supplier Notes / Alternate Description	Manufacturer	Manuf Num
Yanitor Paper and Supplies, L	-	BX	No Bid			Unisan or Equal	
Gulf Coast Paper	134	BX	\$8.32	\$1,114.88	URINALSCR	Unisan or Equal	
CC Distributors, Inc.	134	BX	\$10.86	\$1,455.24	AirWorks 3901	Unisan or Equal	UNS-03013
[ALT1] School Specialty, Inc.	134	BX	\$17.49	\$2,343.66	SCREEN - CAMPHOR BLOCK - 3.5 OZ - IMP	9 IMPACT	IMP9587
69 Garden Hose.							
Supplier	QTY	UOM	Price	Extended	Supplier Notes	Manufacturer	
Yanitor Paper and Supplies, L		EA	No Bid			Flexon or Equal.	
Gulf Coast Paper	150	EA	No Bid			Flexon or Equal.	
School Specialty, Inc. CC Distributors, Inc.	150 150	EA EA	No Bid \$16.81	¢2 E21 E0) Flexon FR5875	Flexon or Equal. Flexon or Equal.	
CC Distributors, Inc.	150	LA	\$10.01	şz,521.50		Flexon of Equal.	rk5675 ivieului
70 Garden Hose Nozzle							
Supplier	QTY	UOM	Price	Extended	Supplier Notes	Manufacturer	Manuf Num
Yanitor Paper and Supplies, L	LC 100	EA	No Bid			Nelson or Equal	50501
Gulf Coast Paper	100	EA	No Bid			Nelson or Equal	50501
School Specialty, Inc.	100	EA	No Bid			Nelson or Equal	50501
CC Distributors, Inc.	100	EA	\$5.40	\$540.00) Gilmour 572TFR	Nelson or Equal	50501
71 Heavy Duty Window Scraper		11014	De:	Extended	Sumplier Notes	Manufration	Manuf Num
Supplier	QTY	UOM	Price	Extended	Supplier Notes		
School Specialty, Inc. Yanitor Paper and Supplies, L	500	EA EA	No Bid No Bid			Hyde or Equal. Hyde or Equal.	
CC Distributors, Inc.	500	EA	\$1.37	\$685.00) Hyde 13000	Hyde or Equal.	
Gulf Coast Paper	500	EA	\$7.08) CONTINENTAL: 2556	Hyde or Equal.	
	500	273	ç7.00	<i>40,010.00</i>		injue of Equal.	13000
72 Window Squeegee.							
Supplier	QTY	UOM	Price	Extended	Supplier Notes	Manufacturer	Manuf Num
School Specialty, Inc.	100	EA	No Bid			Continental or E	21170660
Yanitor Paper and Supplies, L	LC 100	EA	No Bid			Continental or E	21170660
Gulf Coast Paper	100	EA	\$2.31	\$231.00	O CEDAR 96812-S	Continental or E	21170660
CC Distributors, Inc.	100	EA	\$2.64	\$264.00) O'Cedar 96812-S	Continental or E	21170660
72 Food Comics Tours							
73 Food Service Towel. Supplier	QTY	UOM	Price	Extended	Supplier Notes	Manufacturer	ManufNum
School Specialty, Inc.	650	EA	No Bid	Extended	Supplier Notes	Kimberly Clark o	
Gulf Coast Paper	650	EA	\$17.59	\$11,433.50) K6053	Kimberly Clark o	
CC Distributors, Inc.	650	EA	\$21.91) Kimberly Clark 6053	Kimberly Clark o	
Yanitor Paper and Supplies, L		EA	\$26.00	\$16,900.00	•	Kimberly Clark o	
						-	
74 Cafeteria Replacement Stoo	ls.						
Supplier	QTY	UOM	Price	Extended	Supplier Notes	Manufacturer	Manuf Num
Yanitor Paper and Supplies, L		EA	No Bid			Bio Fit or Equal.	
Gulf Coast Paper	500	EA	No Bid			Bio Fit or Equal.	
CC Distributors, Inc.	500	EA	No Bid			Bio Fit or Equal.	
School Specialty, Inc.	500	EA	No Bid			Bio Fit or Equal.	041890
75 Safety Spectacles.							
Supplier	QTY	UOM	Price	Extended	Supplier Notes / Alternate Description	Manufacturer	Manuf Num
	_					Crews	CL110
Yanitor Paper and Supplies, L	LC 288	EA	No Bid				
••	LC 288 288	EA EA	No Bid \$0.88	\$253.44	Crews CL110	Crews	CL110
Yanitor Paper and Supplies, L					Crews CL110 CLASSES SAFETY X300 CLEAR LENS SM FRA		S70702
Yanitor Paper and Supplies, L CC Distributors, Inc.	288	EA	\$0.88		GLASSES SAFETY X300 CLEAR LENS SM FRA		
Yanitor Paper and Supplies, L CC Distributors, Inc. [ALT1] School Specialty, Inc. Gulf Coast Paper	288 288	EA EA	\$0.88 \$0.99	\$285.12	GLASSES SAFETY X300 CLEAR LENS SM FRA	SELLSTROM	S70702
Yanitor Paper and Supplies, L CC Distributors, Inc. [ALT1] School Specialty, Inc. Gulf Coast Paper 76 Safety Spectacles.	288 288 288	EA EA EA	\$0.88 \$0.99 \$1.17	\$285.12 \$336.96	GLASSES SAFETY X300 CLEAR LENS SM FR/	SELLSTROM Crews	S70702 CL110
Yanitor Paper and Supplies, L CC Distributors, Inc. [ALT1] School Specialty, Inc. Gulf Coast Paper 76 Safety Spectacles. Supplier	288 288 288 QTY	EA EA EA	\$0.88 \$0.99 \$1.17 Price	\$285.12	GLASSES SAFETY X300 CLEAR LENS SM FRA	SELLSTROM Crews Manufacturer	S70702 CL110 Manuf Num
Yanitor Paper and Supplies, L CC Distributors, Inc. [ALT1] School Specialty, Inc. Gulf Coast Paper 76 Safety Spectacles. Supplier School Specialty, Inc.	288 288 288 288 QTY 288	EA EA EA UOM EA	\$0.88 \$0.99 \$1.17 Price No Bid	\$285.12 \$336.96	GLASSES SAFETY X300 CLEAR LENS SM FR/	SELLSTROM Crews Manufacturer Crews	570702 CL110 Manuf Num CL112
Yanitor Paper and Supplies, L CC Distributors, Inc. [ALT1] School Specialty, Inc. Gulf Coast Paper 76 Safety Spectacles. Supplier School Specialty, Inc. Yanitor Paper and Supplies, L	288 288 288 QTY 288 LC 288	EA EA EA UOM EA EA	\$0.88 \$0.99 \$1.17 Price No Bid No Bid	\$285.12 \$336.96 Extended	GLASSES SAFETY X300 CLEAR LENS SM FR/	SELLSTROM Crews Manufacturer Crews Crews	S70702 CL110 Manuf Num CL112 CL112
Yanitor Paper and Supplies, L CC Distributors, Inc. [ALT1] School Specialty, Inc. Gulf Coast Paper 76 Safety Spectacles. Supplier School Specialty, Inc. Yanitor Paper and Supplies, L CC Distributors, Inc.	288 288 288 QTY 288 LC 288 288	EA EA EA UOM EA EA EA EA	\$0.88 \$0.99 \$1.17 Price No Bid No Bid \$0.88	\$285.12 \$336.96 Extended \$253.44	GLASSES SAFETY X300 CLEAR LENS SM FR/	SELLSTROM Crews Manufacturer Crews Crews Crews Crews	S70702 CL110 Manuf Num CL112 CL112 CL112 CL112
Yanitor Paper and Supplies, L CC Distributors, Inc. [ALT1] School Specialty, Inc. Gulf Coast Paper 76 Safety Spectacles. Supplier School Specialty, Inc. Yanitor Paper and Supplies, L	288 288 288 QTY 288 LC 288	EA EA EA UOM EA EA	\$0.88 \$0.99 \$1.17 Price No Bid No Bid	\$285.12 \$336.96 Extended	GLASSES SAFETY X300 CLEAR LENS SM FR/	SELLSTROM Crews Manufacturer Crews Crews	S70702 CL110 Manuf Num CL112 CL112
Yanitor Paper and Supplies, L CC Distributors, Inc. [ALT1] School Specialty, Inc. Gulf Coast Paper 76 Safety Spectacles. Supplier School Specialty, Inc. Yanitor Paper and Supplies, L CC Distributors, Inc. Gulf Coast Paper	288 288 288 QTY 288 LC 288 288	EA EA EA UOM EA EA EA EA	\$0.88 \$0.99 \$1.17 Price No Bid No Bid \$0.88	\$285.12 \$336.96 Extended \$253.44	GLASSES SAFETY X300 CLEAR LENS SM FR/	SELLSTROM Crews Manufacturer Crews Crews Crews Crews	S70702 CL110 Manuf Num CL112 CL112 CL112 CL112
Yanitor Paper and Supplies, L CC Distributors, Inc. [ALT1] School Specialty, Inc. Gulf Coast Paper 76 Safety Spectacles. Supplier School Specialty, Inc. Yanitor Paper and Supplies, L CC Distributors, Inc. Gulf Coast Paper 77 Industrial Battery.	288 288 288 288 288 288 288 288 288	EA EA EA UOM EA EA EA EA EA	\$0.88 \$0.99 \$1.17 Price No Bid No Bid \$0.88 \$1.17	\$285.12 \$336.96 Extended \$253.44 \$336.96	GLASSES SAFETY X300 CLEAR LENS SM FR/	SELLSTROM Crews Manufacturer Crews Crews Crews Crews Crews	S70702 CL110 Manuf Num CL112 CL112 CL112 CL112 CL112
Yanitor Paper and Supplies, L CC Distributors, Inc. [ALT1] School Specialty, Inc. Gulf Coast Paper 76 Safety Spectacles. Supplier School Specialty, Inc. Yanitor Paper and Supplies, L CC Distributors, Inc. Gulf Coast Paper 77 Industrial Battery. Supplier	288 288 288 288 288 288 288 288 288 288	EA EA EA EA EA EA EA EA EA	\$0.88 \$0.99 \$1.17 Price No Bid No Bid \$0.88 \$1.17 Price	\$285.12 \$336.96 Extended \$253.44	GLASSES SAFETY X300 CLEAR LENS SM FR/	SELLSTROM Crews Manufacturer Crews Crews Crews Crews Crews Manufacturer	S70702 CL110 Manuf Num CL112 CL112 CL112 CL112 CL112 CL112 Manuf Num
Yanitor Paper and Supplies, L CC Distributors, Inc. [ALT1] School Specialty, Inc. Gulf Coast Paper 76 Safety Spectacles. Supplier School Specialty, Inc. Yanitor Paper and Supplies, L CC Distributors, Inc. Gulf Coast Paper 77 Industrial Battery.	288 288 288 288 288 288 288 288 288 288	EA EA EA UOM EA EA EA EA EA	\$0.88 \$0.99 \$1.17 Price No Bid No Bid \$0.88 \$1.17	\$285.12 \$336.96 Extended \$253.44 \$336.96 Extended	GLASSES SAFETY X300 CLEAR LENS SM FR/	SELLSTROM Crews Manufacturer Crews Crews Crews Crews Crews	S70702 CL110 Manuf Num CL112 CL112 CL112 CL112 CL112 CL112 Manuf Num LR03 1.5V EN93
Yanitor Paper and Supplies, L CC Distributors, Inc. [ALT1] School Specialty, Inc. Gulf Coast Paper 76 Safety Spectacles. Supplier School Specialty, Inc. Yanitor Paper and Supplies, L CC Distributors, Inc. Gulf Coast Paper 77 Industrial Battery. Supplier Yanitor Paper and Supplies, L	288 288 288 288 288 288 288 288 288 288	EA EA EA EA EA EA EA EA EA EA EA EA	\$0.88 \$0.99 \$1.17 Price No Bid No Bid \$0.88 \$1.17 Price No Bid	\$285.12 \$336.96 Extended \$253.44 \$336.96 Extended	GLASSES SAFETY X300 CLEAR LENS SM FR/	SELLSTROM Crews Manufacturer Crews Crews Crews Crews Crews Crews Energizer	S70702 CL110 Manuf Num CL112 CL112 CL112 CL112 CL112

78 Industrial Battery.				<u> </u>	<u> </u>		
Supplier	QTY	UOM	Price	Extended	Supplier Notes	Manufacturer	Manuf Num
School Specialty, Inc.	60	BX	No Bid	4		Energizer	LR06 1.5V EN9
CC Distributors, Inc.	60	BX	\$7.72		Energizer EN91	Energizer	LR06 1.5V EN9
Gulf Coast Paper	60	BX	\$11.21	\$672.60		Energizer	LR06 1.5V EN9
Yanitor Paper and Sup	plies, LLC 60	BX	\$13.00	\$780.00		Energizer	LR06 1.5V EN9
79 Industrial Battery.							
Supplier	QTY	UOM	Price	Extended	Supplier Notes	Manufacturer	Manuf Num
School Specialty, Inc.	30	BX	No Bid			Energizer	#LR14 1.5V EN
CC Distributors, Inc.	30	BX	\$8.97		Energizer EN93	Energizer	#LR14 1.5V EN
Gulf Coast Paper Yanitor Paper and Sup	30 plies, LLC 30	BX BX	\$9.56 \$13.00	\$286.80 \$390.00		Energizer Energizer	#LR14 1.5V EN9
· · ·	•			-		-	
80 Industrial Battery.							
Supplier	QTY	UOM	Price	Extended	Supplier Notes	Manufacturer	Manuf Num
School Specialty, Inc.	96	BX	No Bid	¢050.00	5 · 5N05	Energizer	LR20 1.5 EN95
CC Distributors, Inc.	96	BX	\$9.93		Energizer EN95	Energizer	LR20 1.5 EN95
Gulf Coast Paper Yanitor Paper and Sup	96 nlies 11 C 96	BX BX	\$12.03 \$13.00	\$1,154.88 \$1,248.00		Energizer Energizer	LR20 1.5 EN95 LR20 1.5 EN95
	pile3, EEC 50	DA	÷15.00	Ş1,240.00		Energizer	EN20 1.5 EN35
81 Industrial Battery.			Duin-	Evened!	Supplier Notes	Manufast	Manuf Ne
Supplier	QTY 12	UOM	Price	Extended	Supplier Notes	Manufacturer	Manuf Num
School Specialty, Inc.	12	BX	No Bid	Å . co	с. : сыра	Energizer	6LR61 9V EN22
CC Distributors, Inc.	12	BX	\$13.66		Energizer EN22	Energizer	6LR61 9V EN22
Gulf Coast Paper	12	BX	\$20.45	\$245.40		Energizer	6LR61 9V EN22
Yanitor Paper and Sup	plies, LLC 12	BX	\$24.00	\$288.00		Energizer	6LR61 9V EN22
82 Polywool Duster.							
Supplier	QTY	UOM	Price	Extended	Supplier Notes / Alternate Description	Manufacturer	Manuf Num
Yanitor Paper and Sup	plies, LLC 300	EA	No Bid			Unisan	UNS9442 / Met
CC Distributors, Inc.	300	EA	\$4.30		O'Cedar 96482	Unisan	UNS9442 / Met
[ALT1] School Specialty	y, Inc. 300	EA	\$5.73	\$1,719.00	DUSTER-EXTENDED-POLY-WOOL - IMP312	IMPACT	IMP3125W
Gulf Coast Paper	300	EA	\$9.05	\$2,715.00	IMPACT 3125W	Unisan	UNS9442 / Met
83 Paper Picker.							
Supplier	QTY	UOM	Price	Extended	Supplier Notes	Manufacturer	Manuf Num
School Specialty, Inc.	100	EA	No Bid			Unger or Equal.	UNGNN90
Yanitor Paper and Sup	plies, LLC 100	EA	No Bid			Unger or Equal.	UNGNN90
Gulf Coast Paper	100	EA	\$22.95	\$2,295.00	IMPACT 6210	Unger or Equal.	UNGNN90
CC Distributors, Inc.	100	EA	\$26.70	\$2,670.00	Unger NN90	Unger or Equal.	UNGNN90
84 Sand Screen.							
Supplier	QTY	UOM	Price	Extended	Supplier Notes	Manufacturer	Manuf Num
School Specialty, Inc.	300	EA	No Bid			Premiere or Equ	PAD5017-60-10
Yanitor Paper and Sup	plies, LLC 300	EA	No Bid			Premiere or Equ	PAD5017-60-10
Gulf Coast Paper	300	EA	\$3.86	\$1,158.00	AMERICO: 506017	Premiere or Equ	
CC Distributors, Inc.	300	EA	\$6.05	\$1,815.00	Norton 66261148906	Premiere or Equ	PAD5017-60-10
CC Distributors, Inc.		EA	\$6.05	\$1,815.00	Norton 66261148906	Premiere or Equ	PAD5017-60-10
CC Distributors, Inc. 85 Sand Screen.	300						
CC Distributors, Inc. 85 Sand Screen. Supplier	300 QTY	UOM	Price	\$1,815.00 Extended	Norton 66261148906 Supplier Notes	Manufacturer	Manuf Num
CC Distributors, Inc. 85 Sand Screen. Supplier School Specialty, Inc.	300 QTY 150	UOM EA				Manufacturer Premiere or Equ	Manuf Num PAD 5017-80-1
CC Distributors, Inc. 85 Sand Screen. Supplier School Specialty, Inc. Yanitor Paper and Sup	300 QTY 150 plies, LLC 150	UOM EA EA	Price No Bid No Bid	Extended	Supplier Notes	Manufacturer Premiere or Equ Premiere or Equ	Manuf Num PAD 5017-80-1 PAD 5017-80-1
CC Distributors, Inc. 85 Sand Screen. Supplier School Specialty, Inc.	300 QTY 150	UOM EA	Price No Bid	Extended \$478.50		Manufacturer Premiere or Equ Premiere or Equ Premiere or Equ	
CC Distributors, Inc. 85 Sand Screen. Supplier School Specialty, Inc. Yanitor Paper and Sup Gulf Coast Paper CC Distributors, Inc.	300 QTY 150 plies, LLC 150 150	UOM EA EA EA	Price No Bid No Bid \$3.19	Extended \$478.50	Supplier Notes AMERICO: 508017	Manufacturer Premiere or Equ Premiere or Equ Premiere or Equ	Manuf Num I PAD 5017-80-10 I PAD 5017-80-10 I PAD 5017-80-10
CC Distributors, Inc. 85 Sand Screen. Supplier School Specialty, Inc. Yanitor Paper and Sup Gulf Coast Paper	300 QTY 150 plies, LLC 150 150	UOM EA EA EA	Price No Bid No Bid \$3.19	Extended \$478.50	Supplier Notes AMERICO: 508017	Manufacturer Premiere or Equ Premiere or Equ Premiere or Equ	Manuf Num PAD 5017-80-11 PAD 5017-80-11 PAD 5017-80-11 PAD 5017-80-11
CC Distributors, Inc. 85 Sand Screen. Supplier School Specialty, Inc. Yanitor Paper and Supp Gulf Coast Paper CC Distributors, Inc. 86 Sand Screen	300 QTY 150 plies, LLC 150 150 150	UOM EA EA EA EA	Price No Bid No Bid \$3.19 \$5.00	Extended \$478.50 \$750.00	Supplier Notes AMERICO: 508017 Norton 66261148905	Manufacturer Premiere or Equ Premiere or Equ Premiere or Equ Premiere or Equ Manufacturer	Manuf Num PAD 5017-80-11 PAD 5017-80-11 PAD 5017-80-11 PAD 5017-80-11 Manuf Num
CC Distributors, Inc.	300 QTY 150 plies, LLC 150 150 150 QTY 150	UOM EA EA EA EA UOM	Price No Bid No Bid \$3.19 \$5.00 Price	Extended \$478.50 \$750.00	Supplier Notes AMERICO: 508017 Norton 66261148905	Manufacturer Premiere or Equ Premiere or Equ Premiere or Equ Premiere or Equ Manufacturer Premiere or Equ	Manuf Num PAD 5017-80-10 PAD 5017-80-10 PAD 5017-80-10 PAD 5017-80-10 PAD 5017-80-10 Manuf Num PAD5017-100-1
CC Distributors, Inc.	300 QTY 150 plies, LLC 150 150 150 QTY 150 plies, LLC 150	UOM EA EA EA EA EA UOM EA EA	Price No Bid No Bid \$3.19 \$5.00 Price No Bid No Bid	Extended \$478.50 \$750.00 Extended	Supplier Notes AMERICO: 508017 Norton 66261148905 Supplier Notes	Manufacturer Premiere or Equ Premiere or Equ Premiere or Equ Premiere or Equ Manufacturer Premiere or Equ Premiere or Equ	Manuf Num I PAD 5017-80-1 I PAD 5017-80-1 I PAD 5017-80-1 I PAD 5017-80-1 Manuf Num I PAD5017-100-1 I PAD5017-100-1
CC Distributors, Inc.	300 QTY 150 plies, LLC 150 150 150 QTY 150	UOM EA EA EA EA EA	Price No Bid No Bid \$3.19 \$5.00 Price No Bid	Extended \$478.50 \$750.00 Extended \$424.50	Supplier Notes AMERICO: 508017 Norton 66261148905	Manufacturer Premiere or Equ Premiere or Equ Premiere or Equ Premiere or Equ Premiere or Equ Premiere or Equ Premiere or Equ	Manuf Num I PAD 5017-80-1 I PAD 5017-80-1 I PAD 5017-80-1 I PAD 5017-80-1 Manuf Num I PAD5017-100-2 I PAD5017-100-2 I PAD5017-100-2
CC Distributors, Inc. 85 Sand Screen. Supplier School Specialty, Inc. Yanitor Paper and Supplier Gulf Coast Paper CC Distributors, Inc. 86 Sand Screen Supplier School Specialty, Inc. Yanitor Paper and Supplier Gulf Coast Paper CC Distributors, Inc.	300 QTY 150 plies, LLC 150 150 150 QTY 150 plies, LLC 150 150	UOM EA EA EA EA EA EA EA EA EA	Price No Bid No Bid \$3.19 \$5.00 Price No Bid No Bid \$2.83	Extended \$478.50 \$750.00 Extended \$424.50	Supplier Notes AMERICO: 508017 Norton 66261148905 Supplier Notes AMERICO: 501017	Manufacturer Premiere or Equ Premiere or Equ Premiere or Equ Premiere or Equ Premiere or Equ Premiere or Equ Premiere or Equ	Manuf Num I PAD 5017-80-1 I PAD 5017-80-1 I PAD 5017-80-1 I PAD 5017-80-1 Manuf Num I PAD5017-100-2 I PAD5017-100-2
CC Distributors, Inc.	300 QTY 150 plies, LLC 150 150 150 QTY 150 plies, LLC 150 150	UOM EA EA EA EA EA EA EA EA EA	Price No Bid No Bid \$3.19 \$5.00 Price No Bid No Bid \$2.83	Extended \$478.50 \$750.00 Extended \$424.50	Supplier Notes AMERICO: 508017 Norton 66261148905 Supplier Notes AMERICO: 501017	Manufacturer Premiere or Equ Premiere or Equ Premiere or Equ Premiere or Equ Premiere or Equ Premiere or Equ Premiere or Equ	Manuf Num I PAD 5017-80-1(I PAD 5017-80-1(I PAD 5017-80-1(I PAD 5017-80-1(Manuf Num I PAD5017-100-1 I PAD5017-100-1 I PAD5017-100-1
CC Distributors, Inc.	300 QTY 150 plies, LLC 150 150 150 QTY 150 plies, LLC 150 150	UOM EA EA EA EA EA EA EA EA EA	Price No Bid No Bid \$3.19 \$5.00 Price No Bid No Bid \$2.83 \$4.14	Extended \$478.50 \$750.00 Extended \$424.50 \$621.00	Supplier Notes AMERICO: 508017 Norton 66261148905 Supplier Notes AMERICO: 501017 Norton 66261148904	Manufacturer Premiere or Equ Premiere or Equ Premiere or Equ Premiere or Equ Manufacturer Premiere or Equ Premiere or Equ Premiere or Equ	Manuf Num PAD 5017-80-1 PAD 5017-80-1 PAD 5017-80-1 PAD 5017-80-1 PAD 5017-100-1 PAD5017-100-1 PAD5017-100-1 PAD5017-100-1 Manuf Num
CC Distributors, Inc.	300 QTY 150 plies, LLC 150 150 150 QTY 150 150 150 150 150	UOM EA EA EA EA EA EA EA EA EA EA	Price No Bid No Bid \$3.19 \$5.00 Price No Bid No Bid \$2.83 \$4.14 Price	Extended \$478.50 \$750.00 Extended \$424.50 \$621.00	Supplier Notes AMERICO: 508017 Norton 66261148905 Supplier Notes AMERICO: 501017 Norton 66261148904	Manufacturer Premiere or Equ Premiere or Equ Premiere or Equ Premiere or Equ Manufacturer Premiere or Equ Premiere or Equ Premiere or Equ Premiere or Equ	Manuf Num I PAD 5017-80-1 I PAD 5017-80-1 I PAD 5017-80-1 I PAD 5017-80-1 I PAD 5017-100-1 I PAD5017-100-1 I PAD5017-100-1 I PAD5017-100-1 Manuf Num I 4WX1820
CC Distributors, Inc.	300 QTY 150 plies, LLC 150 150 150 QTY 150 150 150 150 150	UOM EA EA EA EA EA EA EA EA EA EA EA EA EA	Price No Bid No Bid \$3.19 \$5.00 Price No Bid \$2.83 \$4.14 Price No Bid	Extended \$478.50 \$750.00 Extended \$424.50 \$621.00	Supplier Notes AMERICO: 508017 Norton 66261148905 Supplier Notes AMERICO: 501017 Norton 66261148904 Supplier Notes	Manufacturer Premiere or Equ Premiere or Equ Berry Plastic or	Manuf Num IPAD 5017-80-1(IPAD 5017-80-1(IPAD 5017-80-1(IPAD 5017-80-1(IPAD 5017-100-1 IPAD5017-100-1 IPAD5017-100-1 IPAD5017-100-1 Manuf Num I4WX1820 I4WX1820

Page 14 TAKEN TO BOARD OF EDUCATION / APRIL 23, 2019

	QTY	UOM	Price	Extended	Supplier Notes	Manufacturer	Manuf Num
Supplier			No Bid	Extended	Supplier Notes	Ultra Scraper or	
School Specialty, Inc.	200	EA					
Yanitor Paper and Supplies, LLC		EA	No Bid	¢0,400,00		Ultra Scraper or	
CC Distributors, Inc.	200	EA	\$47.45		Apache Mills 1005 Brush Loop	Ultra Scraper or	
Gulf Coast Paper	200	EA	\$78.40	\$15,680.00	CROWN TRED	Ultra Scraper or	· U548/2B
89 Indoor Floor Mat.							
Supplier	QTY	UOM	Price	Extended	Supplier Notes	Manufacturer	Manuf Num
School Specialty, Inc.	300	EA	No Bid			Ground Keeper	GK10046WA
Yanitor Paper and Supplies, LLC	300	EA	No Bid			Ground Keeper	GK10046WA
Gulf Coast Paper	300	EA	\$33.93	\$10,179.00	GS0046WA	Ground Keeper	
CC Distributors, Inc.	300	EA	\$38.84	\$11,652.00	Apache Mills 1000 Plush Tuff Olefin	Ground Keeper	
90 Traffic Cones. Supplier	QTY	UOM	Price	Extended	Supplier Notes	Manufacturer	Manuf Num
School Specialty, Inc.	300	EA	No Bid	Extended	Supplier Notes	JBC Safety Plast	
Yanitor Paper and Supplies, LLC		EA	No Bid			JBC Safety Plast	
CC Distributors. Inc.	300	EA	\$13.48	\$4.044.00) Cortina 03-500-10	JBC Safety Plast	
Gulf Coast Paper	300	EA	\$13.46	\$8,574.00		JBC Safety Plast	
		2.73	<i>\</i> 20.00	<i><i><i></i></i></i>		se carety race	
91 Stainless Steel Cleaner.							
Supplier	QTY	UOM	Price	Extended	Supplier Notes	Manufacturer	
School Specialty, Inc.	2000	EA	No Bid			Betco or Equal.	
Yanitor Paper and Supplies, LLC		EA	No Bid	A =		Betco or Equal.	
Gulf Coast Paper	2000	EA	\$1.99	1 - 7	CLAIRE: CS227	Betco or Equal.	
CC Distributors, Inc.	2000	EA	\$3.44	\$6,880.00	Triple S 21013 - 15ozmust be ordered by th	Betco or Equal.	06523-00
92 Insect Repellent.							
Supplier	QTY	UOM	Price	Extended	Supplier Notes	Manufacturer	Manuf Num
School Specialty, Inc.	120	CS	No Bid			SC Johnson	SCJW 611081
Yanitor Paper and Supplies, LLC		CS	No Bid			SC Johnson	SCJW 611081
CC Distributors, Inc.	120	CS	\$5.70	\$684.00	SC Johnson 611081/01842	SC Johnson	SCJW 611081
Gulf Coast Paper	120	CS	\$53.44	\$6,412.80		SC Johnson	SCJW 611081
93 Plastic Dome Cap.							
Supplier	QTY	UOM	Price	Extended	Supplier Notes	Manufacturer	
Yanitor Paper and Supplies, LLC		EA	No Bid			Rubber Maid or	
Gulf Coast Paper	60	EA	\$47.85	+=,=:=:=	RUBBERMAID: 2647G	Rubber Maid or	
CC Distributors, Inc.	60	EA	\$57.46	1-7	Continental Commercial 4456GY	Rubber Maid or	
School Specialty, Inc.	60	EA	\$102.23	\$6,133.80	SSI# 1078532	Rubber Maid or	2647-88
94 United States Flag.							
JA Officeu States Flag.		UOM	Price	Extended	Supplier Notes / Alternate Description		
Supplier	QTY	00101	FILE	Externacia		Manufacturer	Manuf Num
	QTY 25	EA	No Bid	Extended		Manufacturer Valley Forge or	
Supplier	25			Extended		Valley Forge or	l
Supplier Gulf Coast Paper	25 25	EA EA	No Bid			Valley Forge or Valley Forge or	l 1
Supplier Gulf Coast Paper Yanitor Paper and Supplies, LLC	25	EA	No Bid No Bid		FLAG US 8 X 12 NYLON SSI# 1303658	Valley Forge or	l 1
Supplier Gulf Coast Paper Yanitor Paper and Supplies, LLC CC Distributors, Inc. [ALT1] School Specialty, Inc.	25 25 25	EA EA EA	No Bid No Bid No Bid			Valley Forge or Valley Forge or Valley Forge or	
Supplier Gulf Coast Paper Yanitor Paper and Supplies, LLC CC Distributors, Inc. [ALT1] School Specialty, Inc. 95 Texas Flag.	25 25 25 25	EA EA EA EA	No Bid No Bid No Bid \$91.99	\$2,299.75	FLAG US 8 X 12 NYLON SSI# 1303658	Valley Forge or Valley Forge or Valley Forge or ANNIN	I I 2320
Supplier Gulf Coast Paper Yanitor Paper and Supplies, LLC CC Distributors, Inc. [ALT1] School Specialty, Inc. 95 Texas Flag. Supplier	25 25 25 25 QTY	EA EA EA EA	No Bid No Bid S91.99 Price			Valley Forge or Valley Forge or Valley Forge or ANNIN Manufacturer	I I 2320 Manuf Num
Supplier Gulf Coast Paper Yanitor Paper and Supplies, LLC CC Distributors, Inc. [ALT1] School Specialty, Inc. 95 Texas Flag. Supplier Yanitor Paper and Supplies, LLC	25 25 25 25 QTY	EA EA EA EA UOM EA	No Bid No Bid \$91.99 Price No Bid	\$2,299.75	FLAG US 8 X 12 NYLON SSI# 1303658	Valley Forge or Valley Forge or Valley Forge or ANNIN Manufacturer Valley Forge or	 2320
Supplier Gulf Coast Paper Yanitor Paper and Supplies, LLC CC Distributors, Inc. [ALT1] School Specialty, Inc. 95 Texas Flag. Supplier Yanitor Paper and Supplies, LLC Gulf Coast Paper	25 25 25 QTY 25 25	EA EA EA EA UOM EA EA	No Bid No Bid \$91.99 Price No Bid No Bid	\$2,299.75	FLAG US 8 X 12 NYLON SSI# 1303658	Valley Forge or Valley Forge or Valley Forge or ANNIN Manufacturer Valley Forge or Valley Forge or	 2320
Supplier Gulf Coast Paper Yanitor Paper and Supplies, LLC CC Distributors, Inc. [ALT1] School Specialty, Inc. 95 Texas Flag. Supplier Yanitor Paper and Supplies, LLC Gulf Coast Paper Gulf Coast Paper CC Distributors, Inc.	25 25 25 25 QTY 25 25 25 25	EA EA EA EA EA EA EA EA	No Bid No Bid \$91.99 Price No Bid No Bid No Bid	\$2,299.75	FLAG US 8 X 12 NYLON SSI# 1303658	Valley Forge or Valley Forge or Valley Forge or ANNIN Manufacturer Valley Forge or Valley Forge or Valley Forge or	
Supplier Gulf Coast Paper Yanitor Paper and Supplies, LLC CC Distributors, Inc. [ALT1] School Specialty, Inc. 95 Texas Flag. Supplier Yanitor Paper and Supplies, LLC Gulf Coast Paper	25 25 25 QTY 25 25	EA EA EA EA UOM EA EA	No Bid No Bid \$91.99 Price No Bid No Bid	\$2,299.75	FLAG US 8 X 12 NYLON SSI# 1303658	Valley Forge or Valley Forge or Valley Forge or ANNIN Manufacturer Valley Forge or Valley Forge or	
Supplier Gulf Coast Paper Yanitor Paper and Supplies, LLC CC Distributors, Inc. [ALT1] School Specialty, Inc. 95 Texas Flag. Supplier Yanitor Paper and Supplies, LLC Gulf Coast Paper Gulf Coast Paper CC Distributors, Inc.	25 25 25 25 QTY 25 25 25 25	EA EA EA EA EA EA EA EA EA	No Bid No Bid \$91.99 Price No Bid No Bid No Bid No Bid	\$2,299.75 Extended	FLAG US 8 X 12 NYLON SSI# 1303658 Supplier Notes	Valley Forge or Valley Forge or Valley Forge or ANNIN Manufacturer Valley Forge or Valley Forge or Valley Forge or Valley Forge or	 2320 Manuf Num
Supplier Gulf Coast Paper Yanitor Paper and Supplies, LLC CC Distributors, Inc. [ALT1] School Specialty, Inc. 95 Texas Flag. Supplier Yanitor Paper and Supplies, LLC Gulf Coast Paper CC Distributors, Inc. School Specialty, Inc.	25 25 25 25 QTY 25 25 25 25	EA EA EA UOM EA EA EA EA UOM	No Bid No Bid \$91.99 Price No Bid No Bid No Bid No Bid Price	\$2,299.75	FLAG US 8 X 12 NYLON SSI# 1303658	Valley Forge or Valley Forge or Valley Forge or ANNIN Manufacturer Valley Forge or Valley Forge or Valley Forge or Valley Forge or Valley Forge or	I I I I 2320 Manuf Num I I I I Manuf Num I I I I I Manuf Num
Supplier Gulf Coast Paper Yanitor Paper and Supplies, LLC CC Distributors, Inc. [ALT1] School Specialty, Inc. 95 Texas Flag. Supplier Yanitor Paper and Supplies, LLC Gulf Coast Paper CC Distributors, Inc. School Specialty, Inc. School Specialty, Inc. 96 Polywool Duster.	25 25 25 25 QTY 25 25 25 25 25 25	EA EA EA EA EA EA EA EA EA	No Bid No Bid \$91.99 Price No Bid No Bid No Bid No Bid	\$2,299.75 Extended	FLAG US 8 X 12 NYLON SSI# 1303658 Supplier Notes	Valley Forge or Valley Forge or Valley Forge or ANNIN Manufacturer Valley Forge or Valley Forge or Valley Forge or Valley Forge or	I I 2320 Manuf Num I I I I Manuf Num
Supplier Gulf Coast Paper Yanitor Paper and Supplies, LLC CC Distributors, Inc. [ALT1] School Specialty, Inc. 95 Texas Flag. Supplier Yanitor Paper and Supplies, LLC Gulf Coast Paper Yanitor Paper and Supplies, LLC Gulf Coast Paper CC Distributors, Inc. School Specialty, Inc. 96 Polywool Duster. Supplier	25 25 25 25 25 25 25 25 25 25 25 25 25 2	EA EA EA UOM EA EA EA EA UOM	No Bid No Bid \$91.99 Price No Bid No Bid No Bid No Bid Price	\$2,299.75 Extended	FLAG US 8 X 12 NYLON SSI# 1303658 Supplier Notes	Valley Forge or Valley Forge or Valley Forge or ANNIN Manufacturer Valley Forge or Valley Forge or Valley Forge or Valley Forge or Valley Forge or	I I 2320 Manuf Num I I Manuf Num . UNI-9441 / As
Supplier Gulf Coast Paper Yanitor Paper and Supplies, LLC CC Distributors, Inc. [ALT1] School Specialty, Inc. 95 Texas Flag. Supplier Yanitor Paper and Supplies, LLC Gulf Coast Paper CC Distributors, Inc. School Specialty, Inc. School Specialty, Inc. 96 Polywool Duster. Supplier School Specialty, Inc. Yanitor Paper and Supplies, LLC Gulf Coast Paper School Specialty, Inc. Yanitor Paper and Supplies, LLC Gulf Coast Paper	25 25 25 25 25 25 25 25 25 25 25 25 25 2	EA EA EA UOM EA EA EA EA EA EA EA EA EA	No Bid No Bid \$91.99 Price No Bid No Bid No Bid No Bid Price No Bid No Bid So Bid No Bid So Bid	\$2,299.75 Extended Extended \$367.20	Supplier Notes MALISH 2901	Valley Forge or Valley Forge or Valley Forge or ANNIN Manufacturer Valley Forge or Valley Forge or Valley Forge or Valley Forge or Valley Forge or Valley Forge or Valley Forge or Unisan or Equal Unisan or Equal	I I 2320 Manuf Num I I Manuf Num UNI-9441 / As UNI-9441 / As UNI-9441 / As
Supplier Gulf Coast Paper Yanitor Paper and Supplies, LLC CC Distributors, Inc. [ALT1] School Specialty, Inc. 95 Texas Flag. Supplier Yanitor Paper and Supplies, LLC Gulf Coast Paper CC Distributors, Inc. School Specialty, Inc. School Specialty, Inc. 96 Polywool Duster. Supplier School Specialty, Inc. Yanitor Paper and Supplies, LLC	25 25 25 25 25 25 25 25 25 25 25 0 7 7 44 144 144	EA EA EA UOM EA EA EA EA EA EA EA	No Bid No Bid \$91.99 Price No Bid No Bid No Bid No Bid Price No Bid No Bid	\$2,299.75 Extended Extended \$367.20	FLAG US 8 X 12 NYLON SSI# 1303658 Supplier Notes Supplier Notes	Valley Forge or Valley Forge or Valley Forge or ANNIN Manufacturer Valley Forge or Valley Forge or Valley Forge or Valley Forge or Valley Forge or Valley Forge or Valley Forge or	I I 2320 Manuf Num I I Manuf Num UNI-9441 / As UNI-9441 / As UNI-9441 / As
Supplier Gulf Coast Paper Yanitor Paper and Supplies, LLC CC Distributors, Inc. [ALT1] School Specialty, Inc. 95 Texas Flag. Supplier Yanitor Paper and Supplies, LLC Gulf Coast Paper CC Distributors, Inc. School Specialty, Inc. School Specialty, Inc. 96 Polywool Duster. Supplier School Specialty, Inc. Yanitor Paper and Supplies, LLC Gulf Coast Paper CC Distributors, Inc. School Specialty, Inc. Yanitor Paper and Supplies, LLC Gulf Coast Paper CC Distributors, Inc. Coll Coast Paper CC Distributors, Inc.	25 25 25 25 25 25 25 25 25 25 25 25 25 2	EA EA EA UOM EA EA EA EA EA EA EA EA EA	No Bid No Bid \$91.99 Price No Bid No Bid No Bid No Bid Price No Bid No Bid So Bid No Bid So Bid	\$2,299.75 Extended Extended \$367.20	Supplier Notes MALISH 2901	Valley Forge or Valley Forge or Valley Forge or ANNIN Manufacturer Valley Forge or Valley Forge or Valley Forge or Valley Forge or Valley Forge or Valley Forge or Valley Forge or Unisan or Equal Unisan or Equal	I I 2320 Manuf Num I I Manuf Num UNI-9441 / As UNI-9441 / As UNI-9441 / As
Supplier Gulf Coast Paper Yanitor Paper and Supplies, LLC CC Distributors, Inc. [ALT1] School Specialty, Inc. 95 Texas Flag. Supplier Yanitor Paper and Supplies, LLC Gulf Coast Paper CC Distributors, Inc. School Specialty, Inc. School Specialty, Inc. 96 Polywool Duster. Supplier School Specialty, Inc. Yanitor Paper and Supplies, LLC Gulf Coast Paper CC Distributors, Inc. Supplier School Specialty, Inc. Yanitor Paper and Supplies, LLC Gulf Coast Paper CC Distributors, Inc. 97 Dust Pan Short Handle.	25 25 25 25 25 25 25 25 25 25 25 25 25 2	EA EA EA UOM EA EA EA EA EA EA EA EA EA EA	No Bid No Bid \$91.99 Price No Bid No Bid No Bid No Bid Price No Bid No Bid So Bid No Bid So Bid	\$2,299.75 Extended Extended \$367.20 \$626.40	FLAG US 8 X 12 NYLON SSI# 1303658 Supplier Notes Supplier Notes MALISH 2901 Boardwalk (Unisan) 9441	Valley Forge or Valley Forge or Valley Forge or ANNIN Manufacturer Valley Forge or Valley Forge or Valley Forge or Valley Forge or Valley Forge or Valley Forge or Valley Forge or Unisan or Equal Unisan or Equal	I I 2320 Manuf Num I I Manuf Num UNI-9441 / As UNI-9441 / As UNI-9441 / As
Supplier Gulf Coast Paper Yanitor Paper and Supplies, LLC CC Distributors, Inc. [ALT1] School Specialty, Inc. 95 Texas Flag. Supplier Yanitor Paper and Supplies, LLC Gulf Coast Paper CC Distributors, Inc. School Specialty, Inc. School Specialty, Inc. 96 Polywool Duster. Supplier School Specialty, Inc. Yanitor Paper and Supplies, LLC Gulf Coast Paper CC Distributors, Inc. Supplier School Specialty, Inc. Yanitor Paper and Supplies, LLC Gulf Coast Paper CC Distributors, Inc. 97 Dust Pan Short Handle. Supplier	25 25 25 25 25 25 25 25 25 25 25 25 25 2	EA EA EA UOM EA EA EA EA EA EA EA EA EA EA EA EA EA	No Bid No Bid \$91.99 Price No Bid No Bid No Bid No Bid Price No Bid No Bid \$2.55 \$4.35	\$2,299.75 Extended Extended \$367.20	Supplier Notes MALISH 2901	Valley Forge or Valley Forge or Valley Forge or ANNIN Manufacturer Valley Forge or Valley Forge or Valley Forge or Valley Forge or Valley Forge or Valley Forge or Valley Forge or Unisan or Equal Unisan or Equal	I I 2320 Manuf Num I I Manuf Num UNI-9441 / As UNI-9441 / As UNI-9441 / As UNI-9441 / As
Supplier Gulf Coast Paper Yanitor Paper and Supplies, LLC CC Distributors, Inc. [ALT1] School Specialty, Inc. 95 Texas Flag. Supplier Yanitor Paper and Supplies, LLC Gulf Coast Paper CC Distributors, Inc. School Specialty, Inc. 96 Polywool Duster. Supplier School Specialty, Inc. Yanitor Paper and Supplies, LLC Gulf Coast Paper CC Distributors, Inc. School Specialty, Inc. Yanitor Paper and Supplies, LLC Gulf Coast Paper CC Distributors, Inc. 97 Dust Pan Short Handle. Supplier School Specialty, Inc.	25 25 25 25 25 25 25 25 25 25 25 25 25 2	EA EA EA UOM EA EA EA EA EA EA EA EA EA EA EA EA EA	No Bid No Bid \$91.99 Price No Bid No Bid No Bid No Bid Price No Bid No Bid \$2.55 \$4.35	\$2,299.75 Extended Extended \$367.20 \$626.40	FLAG US 8 X 12 NYLON SSI# 1303658 Supplier Notes Supplier Notes MALISH 2901 Boardwalk (Unisan) 9441	Valley Forge or Valley Forge or Valley Forge or ANNIN Manufacturer Valley Forge or Valley Forge or Valley Forge or Valley Forge or Valley Forge or Valley Forge or Valley Forge or Unisan or Equal Unisan or Equal Unisan or Equal	I I 2320 Manuf Num I I Manuf Num UNI-9441 / As UNI-9441 / As UNI-9441 / As UNI-9441 / As UNI-9441 / As
Supplier Gulf Coast Paper Yanitor Paper and Supplies, LLC CC Distributors, Inc. [ALT1] School Specialty, Inc. 95 Texas Flag. Supplier Yanitor Paper and Supplies, LLC Gulf Coast Paper CC Distributors, Inc. School Specialty, Inc. School Specialty, Inc. 96 Polywool Duster. Supplier School Specialty, Inc. Yanitor Paper and Supplies, LLC Gulf Coast Paper CC Distributors, Inc. Supplier School Specialty, Inc. Yanitor Paper and Supplies, LLC Gulf Coast Paper CC Distributors, Inc. 97 Dust Pan Short Handle. Supplier	25 25 25 25 25 25 25 25 25 25 25 25 25 2	ЕА ЕА ЕА UOM ЕА ЕА ЕА ЕА ЕА ЕА ЕА ЕА ЕА ЕА	No Bid No Bid \$91.99 Price No Bid No Bid No Bid No Bid Price No Bid No Bid \$2.55 \$4.35	\$2,299.75 Extended Extended \$367.20 \$626.40 Extended	FLAG US 8 X 12 NYLON SSI# 1303658 Supplier Notes Supplier Notes MALISH 2901 Boardwalk (Unisan) 9441	Valley Forge or Valley Forge or Valley Forge or ANNIN Manufacturer Valley Forge or Valley Forge or Valley Forge or Valley Forge or Valley Forge or Valley Forge or Valley Forge or Unisan or Equal Unisan or Equal Unisan or Equal Unisan or Equal Unisan or Equal	I I 2320 Manuf Num I I Manuf Num UNI-9441 / As UNI-9441 / As UNI-9441 / As UNI-9441 / As UNI-9441 / As

98	Disinfectant Spray and Deodor	izor						
30	Supplier	QTY	UOM	Price	Extended	Supplier Notes	Manufacturer	Manuf Num
	Yanitor Paper and Supplies, LLC		BX	No Bid			Lysol or Equal.	
	Gulf Coast Paper	100	BX	\$22.59	\$2,259.00) CLAIRE: CS1101	Lysol or Equal.	
	CC Distributors, Inc.	100	BX	\$35.59	. ,) Claire CL527	Lysol or Equal.	
	School Specialty, Inc.	100	BX	\$67.96	\$6,796.00)	Lysol or Equal.	
	1							
99	Dolly Two Wheel Trucks	0.71		Duine	Frate and and	Currentian Nation (Alternation Description	N.A	N.4
	Supplier	QTY	UOM	Price	Extended	Supplier Notes / Alternate Description	Manufacturer	
	Gulf Coast Paper	50	EA EA	No Bid No Bid			Milwaukee or E Milwaukee or E	
	Yanitor Paper and Supplies, LLC CC Distributors, Inc.	50	EA	\$53.07	¢2 652 50) Milwaukee 30019	Milwaukee or E	
	[ALT1] School Specialty, Inc.	50	EA	\$90.52	·····) D HANDLE HAND TRUCK HEAVY DUTY 800		SPR72636
	<u></u> ,			<i>\$50.02</i>	<i>ψ</i> 1,020100			0.1.1.2000
100	Platform Truck with Handle.							
	Supplier	QTY	UOM	Price	Extended	Supplier Notes	Manufacturer	Manuf Num
	Yanitor Paper and Supplies, LLC	50	EA	No Bid			Burbank or Equ	aHQ-3060-RT St
	Gulf Coast Paper	50	EA	No Bid				aHQ-3060-RT St
	School Specialty, Inc.	50	EA	No Bid				aHQ-3060-RT St
	CC Distributors, Inc.	50	EA	\$685.67	\$34,283.50) Westward 24101504	Burbank or Equ	aHQ-3060-RT St
101	Utility Tilt Truck.							
	Supplier	QTY	UOM	Price	Extended	Supplier Notes	Manufacturer	Manuf Num
	Yanitor Paper and Supplies, LLC	30	EA	No Bid			Rubbermaid	1314BLK
	Gulf Coast Paper	30	EA	\$451.50	\$13,545.00		Rubbermaid	1314BLK
	CC Distributors, Inc.	30	EA	\$515.91	\$15,477.30) Continental Commercial 5833BK	Rubbermaid	1314BLK
	School Specialty, Inc.	30	EA	\$871.84	\$26,155.20) SSI# 1314547	Rubbermaid	1314BLK
102	Dust Mask.							
	Supplier	QTY	UOM	Price	Extended	Supplier Notes	Manufacturer	Manuf Num
	Yanitor Paper and Supplies, LLC	160	EA	No Bid			3M	8210 with Adju
	Gulf Coast Paper	160	EA	No Bid			3M	8210 with Adju
	School Specialty, Inc.	160	EA	No Bid			3M	8210 with Adju
	CC Distributors, Inc.	160	EA	\$14.82	\$2,371.20) 3M 8210	3M	8210 with Adju
103	Rain Coat with Detachable Hoo	od.						
	Supplier	QTY	UOM	Price	Extended	Supplier Notes	Manufacturer	Manuf Num
	School Specialty, Inc.	20	EA	No Bid			River City or Eq	ι 200C
	Yanitor Paper and Supplies, LLC	20	EA	No Bid			River City or Eq	ι 200C
	CC Distributors, Inc.	20	EA	\$5.81	\$116.20) River City 200C	River City or Eq	L 200C
	Gulf Coast Paper	20	EA	\$12.76	\$255.20) RC7040CDM	River City or Eq	L 200C
104	Rain Coat with Detachable Hoo	vd.						
104	Supplier	QTY	UOM	Price	Extended	Supplier Notes	Manufacturer	Manuf Num
	School Specialty, Inc.	20	EA	No Bid	2/10/10/0		River City or Eq	
	Yanitor Paper and Supplies, LLC		EA	No Bid			River City or Eq	
	CC Distributors, Inc.	20	EA	\$5.81	\$116.20) River City 200C	River City or Eq	
	Gulf Coast Paper	20	EA	\$12.76) RC7040CDL	River City or Eq	
105	Rain Coat with Detachable Hoo		LIOM	Drice	Fytended	Supplier Notes	Manufacturer	Manuf Num
105	Supplier	QTY	UOM FA	Price	Extended	Supplier Notes	Manufacturer	
105	Supplier School Specialty, Inc.	QTY 20	EA	No Bid	Extended	Supplier Notes	River City or Eq	L 200C
105	Supplier School Specialty, Inc. Yanitor Paper and Supplies, LLC	QTY 20 20	EA EA	No Bid No Bid			River City or Eq River City or Eq	L 200C L 200C
105	Supplier School Specialty, Inc.	QTY 20	EA	No Bid	\$116.20	Supplier Notes O River City 200C O RC7040CDXL	River City or Eq	L 200C L 200C L 200C
	Supplier School Specialty, Inc. Yanitor Paper and Supplies, LLC CC Distributors, Inc. Gulf Coast Paper	QTY 20 20 20 20	EA EA EA	No Bid No Bid \$5.81	\$116.20) River City 200C	River City or Eq River City or Eq River City or Eq	L 200C L 200C L 200C
	Supplier School Specialty, Inc. Yanitor Paper and Supplies, LLC CC Distributors, Inc. Gulf Coast Paper Rain Coat with Detachable Hoc	QTY 20 20 20 20 20	EA EA EA EA	No Bid No Bid \$5.81	\$116.20 \$255.20) River City 200C) RC7040CDXL	River City or Eq River City or Eq River City or Eq	1 200C 1 200C 1 200C 1 200C
	Supplier School Specialty, Inc. Yanitor Paper and Supplies, LLC CC Distributors, Inc. Gulf Coast Paper Rain Coat with Detachable Hoc Supplier	QTY 20 20 20 20 20 d QTY	EA EA EA EA	No Bid No Bid \$5.81 \$12.76 Price	\$116.20) River City 200C	River City or Eq River City or Eq River City or Eq River City or Eq Manufacturer	1 200C 1 200C 1 200C 1 200C 1 200C Manuf Num
	Supplier School Specialty, Inc. Yanitor Paper and Supplies, LLC CC Distributors, Inc. Gulf Coast Paper Rain Coat with Detachable Hoo Supplier School Specialty, Inc.	QTY 20 20 20 20 20 0d QTY 20	EA EA EA EA UOM EA	No Bid No Bid \$5.81 \$12.76	\$116.20 \$255.20) River City 200C) RC7040CDXL	River City or Eq River City or Eq River City or Eq River City or Eq Manufacturer River City or Eq	200C 200C 200C 200C 200C Manuf Num 200C
	Supplier School Specialty, Inc. Yanitor Paper and Supplies, LLC CC Distributors, Inc. Gulf Coast Paper Rain Coat with Detachable Hoc Supplier	QTY 20 20 20 20 20 0d QTY 20	EA EA EA EA	No Bid No Bid \$5.81 \$12.76 Price No Bid	\$116.20 \$255.20 Extended) River City 200C) RC7040CDXL	River City or Eq River City or Eq River City or Eq River City or Eq Manufacturer	200C 200C 200C 200C 200C Manuf Num 200C 200C
	Supplier School Specialty, Inc. Yanitor Paper and Supplies, LLC CC Distributors, Inc. Gulf Coast Paper Rain Coat with Detachable Hoc Supplier School Specialty, Inc. Yanitor Paper and Supplies, LLC	QTY 20 20 20 20 20 0d QTY 20 20	EA EA EA EA EA UOM EA EA	No Bid No Bid \$5.81 \$12.76 Price No Bid No Bid	\$116.20 \$255.20 Extended \$116.20) River City 200C) RC7040CDXL Supplier Notes	River City or Eq River City or Eq River City or Eq River City or Eq Manufacturer River City or Eq River City or Eq	200C 200C 200C 200C 200C 200C Manuf Num 200C 200C 200C
106	Supplier School Specialty, Inc. Yanitor Paper and Supplies, LLC CC Distributors, Inc. Gulf Coast Paper Rain Coat with Detachable Hoc Supplier School Specialty, Inc. Yanitor Paper and Supplies, LLC CC Distributors, Inc. Gulf Coast Paper and Supplies, LLC CC Distributors, Inc. Gulf Coast Paper	QTY 20 20 20 20 20 0d QTY 20 20 20 20	EA EA EA EA EA EA EA EA	No Bid No Bid \$5.81 \$12.76 Price No Bid No Bid \$5.81	\$116.20 \$255.20 Extended \$116.20) River City 200C) RC7040CDXL Supplier Notes	River City or Eq River City or Eq River City or Eq River City or Eq Manufacturer River City or Eq River City or Eq River City or Eq	200C 200C 200C 200C 200C 200C Manuf Num 200C 200C 200C
106	Supplier School Specialty, Inc. Yanitor Paper and Supplies, LLC CC Distributors, Inc. Gulf Coast Paper Rain Coat with Detachable Hoc Supplier School Specialty, Inc. Yanitor Paper and Supplies, LLC CC Distributors, Inc. Gulf Coast Paper and Supplies, LLC CC Distributors, Inc. Gulf Coast Paper Rain Coat with Detachable Hoc	QTY 20 20 20 20 20 20 20 20 20 20 20 20 20	EA EA EA EA EA EA EA EA EA	No Bid No Bid \$5.81 \$12.76 Price No Bid No Bid \$5.81 \$12.76	\$116.2(\$255.2(Extended \$116.2(\$255.2() River City 200C) RC7040CDXL Supplier Notes) River City 200C) RC7040CDXXL 	River City or Eq River City or Eq River City or Eq River City or Eq Manufacturer River City or Eq River City or Eq River City or Eq River City or Eq	L 200C L 200C L 200C L 200C L 200C L 200C L 200C L 200C L 200C L 200C
106	Supplier School Specialty, Inc. Yanitor Paper and Supplies, LLC CC Distributors, Inc. Gulf Coast Paper Rain Coat with Detachable Hoc Supplier School Specialty, Inc. Yanitor Paper and Supplies, LLC CC Distributors, Inc. Gulf Coast Paper Rain Coat with Detachable Hoc School Specialty, Inc. Yanitor Paper and Supplies, LLC CC Distributors, Inc. Gulf Coast Paper Rain Coat with Detachable Hoc Supplier	QTY 20 20 20 20 QTY 20 20 20 20 20 20 20 QTY	EA EA EA EA UOM EA EA EA EA EA	No Bid No Bid \$5.81 \$12.76 Price No Bid No Bid \$5.81 \$12.76 Price	\$116.20 \$255.20 Extended \$116.20) River City 200C) RC7040CDXL Supplier Notes	River City or Eq River City or Eq River City or Eq River City or Eq Manufacturer River City or Eq River City or Eq River City or Eq River City or Eq Manufacturer	L 200C L 200C
106	Supplier School Specialty, Inc. Yanitor Paper and Supplies, LLC CC Distributors, Inc. Gulf Coast Paper Rain Coat with Detachable Hoc Supplier School Specialty, Inc. Yanitor Paper and Supplies, LLC CC Distributors, Inc. Gulf Coast Paper Rain Coat with Detachable Hoc School Specialty, Inc. Gulf Coast Paper Rain Coat with Detachable Hoc Supplier School Specialty, Inc. School Specialty, Inc.	QTY 20 20 20 QTY 20 20 20 20 20 20 20 20 20 20 20 20 20	EA EA EA EA EA EA EA EA EA	No Bid No Bid \$5.81 \$12.76 Price No Bid No Bid \$5.81 \$12.76	\$116.2(\$255.2(Extended \$116.2(\$255.2() River City 200C) RC7040CDXL Supplier Notes) River City 200C) RC7040CDXXL 	River City or Eq River City or Eq River City or Eq River City or Eq Manufacturer River City or Eq River City or Eq River City or Eq River City or Eq Manufacturer River City or Eq	L 200C L 200C
106	Supplier School Specialty, Inc. Yanitor Paper and Supplies, LLC CC Distributors, Inc. Gulf Coast Paper Rain Coat with Detachable Hoc Supplier School Specialty, Inc. Yanitor Paper and Supplies, LLC CC Distributors, Inc. Gulf Coast Paper Rain Coat with Detachable Hoc School Specialty, Inc. Yanitor Paper and Supplies, LLC CC Distributors, Inc. Gulf Coast Paper Rain Coat with Detachable Hoc Supplier	QTY 20 20 20 QTY 20 20 20 20 20 20 20 20 20 20 20 20 20	EA EA EA EA EA EA EA EA EA EA EA	No Bid No Bid \$5.81 \$12.76 Price No Bid \$5.81 \$12.76 Price No Bid	\$116.2(\$255.2(Extended \$116.2(\$255.2(Extended) River City 200C) RC7040CDXL Supplier Notes) River City 200C) RC7040CDXXL 	River City or Eq River City or Eq River City or Eq River City or Eq Manufacturer River City or Eq River City or Eq River City or Eq River City or Eq Manufacturer	L 200C L 200C

108 Step Ladder.							
Supplier	QTY	UOM	Price	Extended	Supplier Notes	Manufacturer	Manuf Nu
School Specialty, Inc.	20	EA	No Bid			Louisville or Equ	
Yanitor Paper and Supplies, LLC	20	EA	No Bid			Louisville or Equ	1
CC Distributors, Inc.	20	EA	\$71.97	\$1,439.40	Louisville Ladder L-3016-41000# minimum	Louisville or Equ	I
Gulf Coast Paper	20	EA	\$129.99	\$2,599.80	DADFS1504	Louisville or Equ	l
1							
109 Step Ladder.							
Supplier	QTY	UOM	Price	Extended	Supplier Notes / Alternate Description	Manufacturer	
Yanitor Paper and Supplies, LLC		EA	No Bid			Louisville or Equ	
CC Distributors, Inc.	20	EA	\$96.36		Louisville Ladder L-3016-61000# minimum		
[ALT1] School Specialty, Inc.	20	EA	\$118.23		LADDER STEP FIBERGLSII 6 FT DADFS4006		DADFS400
Gulf Coast Paper	20	EA	\$144.07	Ş2,881.40	DADFS4006	Louisville or Equ	I
110 Step Ladder.							
Supplier	QTY	UOM	Price	Extended	Supplier Notes	Manufacturer	Manuf Nu
School Specialty, Inc.	20	EA	No Bid			Louisville or Equ	I
Yanitor Paper and Supplies, LLC	20	EA	No Bid			Louisville or Equ	
CC Distributors, Inc.	20	EA	\$122.25	\$2.445.00	Louisville Ladder L-3016-81000# minimum		
Gulf Coast Paper	20	EA	\$200.68		DADFS40008	Louisville or Equ	
111 Step Ladder. Supplier	QTY	UOM	Price	Extended	Supplier Notes / Alternate Description	Manufacturer	Manuf No.
Yanitor Paper and Supplies, LLC	-	EA	No Bid	Extended	Supplier Notes / Alternate Description	Louisville or Equ	
CC Distributors, Inc.	10	EA	\$163.79	\$1 627 00	Louisville Ladder L-3016-101000# minimu		
[ALT1] School Specialty, Inc.	10	EA	\$163.79		LADDER - STEP 10 FOOT - FIBERGLASS - SLI		7410
Gulf Coast Paper	10	EA	\$284.21		F24640962	Louisville or Equ	
Gun Coust raper	10	L/1	J++J.00	טט.טט רי,ד יך,		Louisville Of Lyt	
112 Step Ladder.							
Supplier	QTY	UOM	Price	Extended	Supplier Notes	Manufacturer	Manuf Nu
School Specialty, Inc.	10	EA	No Bid			Lousiville or Equ	l i
Yanitor Paper and Supplies, LLC	10	EA	No Bid			Lousiville or Equ	l
CC Distributors, Inc.	10	EA	\$211.99	\$2,119.90	Louisville Ladder L-3016-121000# minimur	n Lousiville or Equ	I
Gulf Coast Paper	10	EA	\$512.79	\$5,127.90	F24249669	Lousiville or Equ	I
113 Duct Tape							
Supplier	QTY	UOM	Price	Extended	Supplier Notes	Manufacturer	Manuf Nu
School Specialty, Inc.	4	BX	No Bid			Cantech Duct Pr	
	24	BX	No Bid			Cantech Duct Pr	
Yanitor Paper and Supplies, LLC		BX	\$121.68	\$486.72	TCA C4C120000100		
Yanitor Paper and Supplies, LLC Gulf Coast Paper	4				ISA 646130900100	Cantech Duct Pr	
Yanitor Paper and Supplies, LLC Gulf Coast Paper CC Distributors, Inc.	4 4	BX	\$163.48		TSA 646130900100 Intertape 4382	Cantech Duct Pr Cantech Duct Pr	
Gulf Coast Paper			\$163.48				
Gulf Coast Paper CC Distributors, Inc.	4	BX		\$653.92	Intertape 4382	Cantech Duct Pr	
Gulf Coast Paper CC Distributors, Inc. 114 Caution Tape. Supplier	4 QTY	BX UOM	Price			Cantech Duct Pr	Manuf Nu
Gulf Coast Paper CC Distributors, Inc. 114 Caution Tape. Supplier Yanitor Paper and Supplies, LLC	4 QTY 0100	BX UOM ROLLS	Price No Bid	\$653.92 Extended	Intertape 4382 Supplier Notes	Cantech Duct Pr Manufacturer Electro Tape or	Manuf Nu
Gulf Coast Paper CC Distributors, Inc. 114 Caution Tape. Supplier Yanitor Paper and Supplies, LLC CC Distributors, Inc.	4 QTY 100 100	BX UOM ROLLS ROLLS	Price No Bid \$5.00	\$653.92 Extended \$500.00	Intertape 4382 Supplier Notes Ironwear 1102-01	Cantech Duct Pr Manufacturer Electro Tape or Electro Tape or	Manuf Nu
Gulf Coast Paper CC Distributors, Inc. 114 Caution Tape. Supplier Yanitor Paper and Supplies, LLC CC Distributors, Inc. School Specialty, Inc.	4 QTY 100 100 100	BX UOM ROLLS ROLLS ROLLS	Price No Bid \$5.00 \$16.22	\$653.92 Extended \$500.00 \$1,622.00	Intertape 4382 Supplier Notes Ironwear 1102-01 SSI# 1332431	Cantech Duct Pr Manufacturer Electro Tape or Electro Tape or Electro Tape or	Manuf Nui
Gulf Coast Paper CC Distributors, Inc. 114 Caution Tape. Supplier Yanitor Paper and Supplies, LLC CC Distributors, Inc.	4 QTY 100 100	BX UOM ROLLS ROLLS	Price No Bid \$5.00	\$653.92 Extended \$500.00 \$1,622.00	Intertape 4382 Supplier Notes Ironwear 1102-01	Cantech Duct Pr Manufacturer Electro Tape or Electro Tape or	Manuf Nui
Gulf Coast Paper CC Distributors, Inc. 114 Caution Tape. Supplier Yanitor Paper and Supplies, LLC CC Distributors, Inc. School Specialty, Inc. Gulf Coast Paper	4 QTY 100 100 100	BX UOM ROLLS ROLLS ROLLS	Price No Bid \$5.00 \$16.22	\$653.92 Extended \$500.00 \$1,622.00	Intertape 4382 Supplier Notes Ironwear 1102-01 SSI# 1332431	Cantech Duct Pr Manufacturer Electro Tape or Electro Tape or Electro Tape or	Manuf Nui
Gulf Coast Paper CC Distributors, Inc. 114 Caution Tape. Supplier Yanitor Paper and Supplies, LLC CC Distributors, Inc. School Specialty, Inc. Gulf Coast Paper	4 QTY 100 100 100	BX UOM ROLLS ROLLS ROLLS	Price No Bid \$5.00 \$16.22	\$653.92 Extended \$500.00 \$1,622.00	Intertape 4382 Supplier Notes Ironwear 1102-01 SSI# 1332431	Cantech Duct Pr Manufacturer Electro Tape or Electro Tape or Electro Tape or	Manuf Nui
Gulf Coast Paper CC Distributors, Inc. 114 Caution Tape. Supplier Yanitor Paper and Supplies, LLC CC Distributors, Inc. School Specialty, Inc. Gulf Coast Paper 115 Protective Leather Chaps	4 QTY 100 100 100 100 200	BX VOM ROLLS ROLLS ROLLS ROLLS	Price No Bid \$5.00 \$16.22 \$16.40	\$653.92 Extended \$500.00 \$1,622.00 \$1,640.00	Intertape 4382 Supplier Notes Ironwear 1102-01 SSI# 1332431 IMPACT 7328	Cantech Duct Pr Manufacturer Electro Tape or Electro Tape or Electro Tape or	Manuf Nur
Gulf Coast Paper CC Distributors, Inc. 114 Caution Tape. Supplier Yanitor Paper and Supplies, LLC CC Distributors, Inc. School Specialty, Inc. Gulf Coast Paper 115 Protective Leather Chaps Supplier	4 QTY 100 100 100 100 200	BX VOM ROLLS ROLLS ROLLS ROLLS UOM	Price No Bid \$5.00 \$16.22 \$16.40 Price	\$653.92 Extended \$500.00 \$1,622.00 \$1,640.00	Intertape 4382 Supplier Notes Ironwear 1102-01 SSI# 1332431 IMPACT 7328	Cantech Duct Pr Manufacturer Electro Tape or Electro Tape or Electro Tape or Electro Tape or Manufacturer	Manuf Nur
Gulf Coast Paper CC Distributors, Inc. 114 Caution Tape. Supplier Yanitor Paper and Supplies, LLC CC Distributors, Inc. School Specialty, Inc. Gulf Coast Paper 115 Protective Leather Chaps Supplier Yanitor Paper and Supplies, LLC	4 QTY 100 100 100 100 200	BX VOM ROLLS ROLLS ROLLS ROLLS UOM EA	Price No Bid \$5.00 \$16.22 \$16.40 Price No Bid	\$653.92 Extended \$500.00 \$1,622.00 \$1,640.00	Intertape 4382 Supplier Notes Ironwear 1102-01 SSI# 1332431 IMPACT 7328	Cantech Duct Pr Manufacturer Electro Tape or Electro Tape or Electro Tape or Electro Tape or Manufacturer Q-13 or Equal.	Manuf Nur Manuf Nur RN-79683
Gulf Coast Paper CC Distributors, Inc. 114 Caution Tape. Supplier Yanitor Paper and Supplies, LLC CC Distributors, Inc. School Specialty, Inc. Gulf Coast Paper 115 Protective Leather Chaps Supplier Yanitor Paper and Supplies, LLC Gulf Coast Paper	4 QTY 100 100 100 100 QTY 240 40	BX VOM ROLLS ROLLS ROLLS ROLLS UOM EA EA	Price No Bid \$5.00 \$16.22 \$16.40 Price No Bid No Bid	\$653.92 Extended \$500.00 \$1,622.00 \$1,640.00	Intertape 4382 Supplier Notes Ironwear 1102-01 SSI# 1332431 IMPACT 7328	Cantech Duct Provide Automatic Action of the second	Manuf Nur Manuf Nur RN-79683 RN-79683
Gulf Coast Paper CC Distributors, Inc. 114 Caution Tape. Supplier Yanitor Paper and Supplies, LLC CC Distributors, Inc. School Specialty, Inc. Gulf Coast Paper 115 Protective Leather Chaps Supplier Yanitor Paper and Supplies, LLC Gulf Coast Paper CC Distributors, Inc. School Specialty, Inc.	4 QTY 100 100 100 100 QTY 40 40 40	BX ROLLS ROLLS ROLLS ROLLS ROLLS UOM EA EA EA	Price No Bid \$5.00 \$16.22 \$16.40 Price No Bid No Bid No Bid	\$653.92 Extended \$500.00 \$1,622.00 \$1,640.00	Intertape 4382 Supplier Notes Ironwear 1102-01 SSI# 1332431 IMPACT 7328	Cantech Duct Provide Automatic Action of the second	Manuf Nur Manuf Nur RN-79683 RN-79683 RN-79683
Gulf Coast Paper CC Distributors, Inc. 114 Caution Tape. Supplier Yanitor Paper and Supplies, LLC CC Distributors, Inc. School Specialty, Inc. Gulf Coast Paper 115 Protective Leather Chaps Supplier Yanitor Paper and Supplies, LLC Gulf Coast Paper CC Distributors, Inc. School Specialty, Inc. School Specialty, Inc.	4 QTY 100 100 100 QTY 40 40 40 40	BX ROLLS ROLLS ROLLS ROLLS UOM EA EA EA EA	Price No Bid \$5.00 \$16.22 \$16.40 Price No Bid No Bid No Bid No Bid No Bid	\$653.92 Extended \$500.00 \$1,622.00 \$1,640.00 Extended	Intertape 4382 Supplier Notes Ironwear 1102-01 SSI# 1332431 IMPACT 7328 Supplier Notes	Cantech Duct Provide a constraint of the second sec	Manuf Nur Manuf Nur RN-79683 RN-79683 RN-79683 RN-79683
Gulf Coast Paper CC Distributors, Inc. 114 Caution Tape. Supplier Yanitor Paper and Supplies, LLC CC Distributors, Inc. School Specialty, Inc. Gulf Coast Paper Yanitor Paper and Supplies, LLC Gulf Coast Paper CC Distributors, Inc. School Specialty, Inc. Ito Dust Mop Treatment. Supplier	4 QTY 100 100 100 240 40 40 40 40 40 40 40 40 40	BX VOM ROLLS ROLLS ROLLS ROLLS UOM EA EA EA EA EA	Price No Bid \$5.00 \$16.22 \$16.40 Price No Bid No Bid No Bid No Bid Price	\$653.92 Extended \$500.00 \$1,622.00 \$1,640.00	Intertape 4382 Supplier Notes Ironwear 1102-01 SSI# 1332431 IMPACT 7328	Cantech Duct Provide a constraint of the second sec	Manuf Nur Manuf Nur RN-79683 RN-79683 RN-79683 RN-79683 RN-79683 Manuf Nur
Gulf Coast Paper CC Distributors, Inc. 114 Caution Tape. Supplier Yanitor Paper and Supplies, LLC CC Distributors, Inc. School Specialty, Inc. Gulf Coast Paper Yanitor Paper and Supplies, LLC Gulf Coast Paper CC Distributors, Inc. School Specialty, Inc. 116 Dust Mop Treatment. Supplier School Specialty, Inc.	4 QTY 100 100 100 240 40 40 40 40 40 40 40 40 40	BX ROLLS ROLLS ROLLS ROLLS ROLLS COM EA EA EA EA EA EA EA EA EA	Price No Bid \$5.00 \$16.22 \$16.40 Price No Bid	\$653.92 Extended \$500.00 \$1,622.00 \$1,640.00 Extended	Intertape 4382 Supplier Notes Ironwear 1102-01 SSI# 1332431 IMPACT 7328 Supplier Notes	Cantech Duct Provide a constraint of the second sec	Manuf Nur Manuf Nur RN-79683 RN-79683 RN-79683 RN-79683 RN-79683 RN-79683 RN-79683
Gulf Coast Paper CC Distributors, Inc. 114 Caution Tape. Supplier Yanitor Paper and Supplies, LLC CC Distributors, Inc. School Specialty, Inc. Gulf Coast Paper Yanitor Paper and Supplies, LLC Gulf Coast Paper CC Distributors, Inc. School Specialty, Inc. School Specialty, Inc. 116 Dust Mop Treatment. Supplier School Specialty, Inc. Yanitor Paper and Supplies, LLC	4 QTY 100 100 100 240 40 40 40 40 40 40 40 40 40	BX VOM ROLLS ROLLS ROLLS ROLLS UOM EA EA EA EA EA EA EA EA EA EA	Price No Bid \$5.00 \$16.22 \$16.40 Price No Bid	\$653.92 Extended \$500.00 \$1,622.00 \$1,640.00 Extended	Intertape 4382 Supplier Notes Ironwear 1102-01 SSI# 1332431 IMPACT 7328 Supplier Notes Supplier Notes	Cantech Duct Proventional Content of the second sec	Manuf Nur Manuf Nur RN-79683 RN-79683 RN-79683 RN-79683 RN-79683 RN-79683 RN-79683 RN-79683 RN-79683 RN-79683 RN-79683
Gulf Coast Paper CC Distributors, Inc. 114 Caution Tape. Supplier Yanitor Paper and Supplies, LLC CC Distributors, Inc. School Specialty, Inc. Gulf Coast Paper 115 Protective Leather Chaps Supplier Yanitor Paper and Supplies, LLC Gulf Coast Paper CC Distributors, Inc. School Specialty, Inc. 116 Dust Mop Treatment. Supplier School Specialty, Inc. Yanitor Paper and Supplies, LLC CC Distributors, Inc. School Specialty, Inc. Yanitor Paper and Supplies, LLC CC Distributors, Inc.	4 QTY 100 100 100 240 40 40 40 40 40 40 40 40 40	BX ROLLS ROLLS ROLLS ROLLS ROLLS COM EA EA EA EA EA EA EA EA EA EA	Price No Bid \$5.00 \$16.22 \$16.40 Price No Bid No Bid No Bid No Bid No Bid No Bid Sid Sid Sid Sid No Bid Sid Sid Sid Sid Sid Sid	\$653.92 Extended \$500.00 \$1,622.00 \$1,640.00 Extended Extended \$2,209.60	Intertape 4382 Supplier Notes Ironwear 1102-01 SSI# 1332431 IMPACT 7328 Supplier Notes Supplier Notes CarrollClean #34428 700 Special	Cantech Duct Proventional Content of the second sec	Manuf Nu Manuf Nu RN-79683 RN-79685 RN-
Gulf Coast Paper CC Distributors, Inc. 114 Caution Tape. Supplier Yanitor Paper and Supplies, LLC CC Distributors, Inc. School Specialty, Inc. Gulf Coast Paper Yanitor Paper and Supplies, LLC Gulf Coast Paper CC Distributors, Inc. School Specialty, Inc. School Specialty, Inc. 116 Dust Mop Treatment. Supplier School Specialty, Inc. Yanitor Paper and Supplies, LLC	4 QTY 100 100 100 240 40 40 40 40 40 40 40 40 40	BX VOM ROLLS ROLLS ROLLS ROLLS UOM EA EA EA EA EA EA EA EA EA EA	Price No Bid \$5.00 \$16.22 \$16.40 Price No Bid	\$653.92 Extended \$500.00 \$1,622.00 \$1,640.00 Extended	Intertape 4382 Supplier Notes Ironwear 1102-01 SSI# 1332431 IMPACT 7328 Supplier Notes Supplier Notes CarrollClean #34428 700 Special	Cantech Duct Proventional Content of the second sec	Manuf Nu Manuf Nu RN-79683 RN-79685 RN-
Gulf Coast Paper CC Distributors, Inc. 114 Caution Tape. Supplier Yanitor Paper and Supplies, LLC CC Distributors, Inc. School Specialty, Inc. Gulf Coast Paper Yanitor Paper and Supplies, LLC Gulf Coast Paper CC Distributors, Inc. School Specialty, Inc. School Specialty, Inc. 116 Dust Mop Treatment. Supplier School Specialty, Inc. Yanitor Paper and Supplies, LLC CC Distributors, Inc. School Specialty, Inc. Yanitor Paper and Supplies, LLC CC Distributors, Inc. Gulf Coast Paper	4 QTY 100 100 100 240 40 40 40 40 40 40 40 40 40	BX ROLLS ROLLS ROLLS ROLLS ROLLS COM EA EA EA EA EA EA EA EA EA EA	Price No Bid \$5.00 \$16.22 \$16.40 Price No Bid No Bid No Bid No Bid No Bid No Bid Sid Sid Sid Sid No Bid Sid Sid Sid Sid Sid Sid	\$653.92 Extended \$500.00 \$1,622.00 \$1,640.00 Extended Extended \$2,209.60	Intertape 4382 Supplier Notes Ironwear 1102-01 SSI# 1332431 IMPACT 7328 Supplier Notes CarrollClean #34428 700 Special 7001	Cantech Duct Proventional Content of the second sec	Manuf Nur Manuf Nur RN-79683 RN-79685 RN-79685 RN-79685 R
Gulf Coast Paper CC Distributors, Inc. 114 Caution Tape. Supplier Yanitor Paper and Supplies, LLC CC Distributors, Inc. School Specialty, Inc. Gulf Coast Paper 115 Protective Leather Chaps Supplier Yanitor Paper and Supplies, LLC Gulf Coast Paper CC Distributors, Inc. School Specialty, Inc. 116 Dust Mop Treatment. Supplier School Specialty, Inc. Yanitor Paper and Supplies, LLC CC Distributors, Inc. School Specialty, Inc. Yanitor Paper and Supplies, LLC CC Distributors, Inc. Gulf Coast Paper School Specialty, Inc. Yanitor Paper and Supplies, LLC CC Distributors, Inc. Gulf Coast Paper 117 Safety Jaqs. Supplier	4 QTY 100 100 100 240 40 40 40 40 40 40 40 40 40	BX ROLLS ROLLS ROLLS ROLLS ROLLS COM EA EA EA EA EA EA EA EA EA EA	Price No Bid \$5.00 \$16.22 \$16.40 Price No Bid No Bid No Bid No Bid No Bid No Bid Sid Sid Sid Sid No Bid Sid Sid Sid Sid Sid Sid	\$653.92 Extended \$500.00 \$1,622.00 \$1,640.00 Extended Extended \$2,209.60	Intertape 4382 Supplier Notes Ironwear 1102-01 SSI# 1332431 IMPACT 7328 Supplier Notes Supplier Notes CarrollClean #34428 700 Special	Cantech Duct Proventional Contech Duct Provention Conteches and the conteches and th	Manuf Nur Manuf Nur RN-79683 R
Gulf Coast Paper CC Distributors, Inc. 114 Caution Tape. Supplier Yanitor Paper and Supplies, LLC CC Distributors, Inc. School Specialty, Inc. Gulf Coast Paper 115 Protective Leather Chaps Supplier Yanitor Paper and Supplies, LLC Gulf Coast Paper CC Distributors, Inc. School Specialty, Inc. 116 Dust Mop Treatment. Supplier School Specialty, Inc. Yanitor Paper and Supplies, LLC CC Distributors, Inc. School Specialty, Inc. Yanitor Paper and Supplies, LLC CC Distributors, Inc. Gulf Coast Paper School Specialty, Inc. Gulf Coast Paper 117 Safety Jaqs. Supplier School Specialty, Inc.	4 QTY 100 100 100 100 240 40 40 40 40 40 40 40 40 40	BX ROLLS ROLLS ROLLS ROLLS ROLLS COM EA EA EA EA EA EA EA EA EA EA	Price No Bid \$5.00 \$16.22 \$16.40 Price No Bid No Bid No Bid No Bid No Bid Sid Sid Sid Sid Sid No Bid Sid Sid No Bid Sid Sid	\$653.92 Extended \$500.00 \$1,622.00 \$1,640.00 Extended Extended \$2,209.60 \$9,552.00	Intertape 4382 Supplier Notes Ironwear 1102-01 SSI# 1332431 IMPACT 7328 Supplier Notes CarrollClean #34428 700 Special 7001	Cantech Duct Proventional Contech Duct Provention Conteches and the conteches and th	Manuf Nur Manuf Nur RN-79683 R
Gulf Coast Paper CC Distributors, Inc. 114 Caution Tape. Supplier Yanitor Paper and Supplies, LLC CC Distributors, Inc. School Specialty, Inc. Gulf Coast Paper 115 Protective Leather Chaps Supplier Yanitor Paper and Supplies, LLC Gulf Coast Paper CC Distributors, Inc. School Specialty, Inc. School Specialty, Inc. School Specialty, Inc. School Specialty, Inc. Yanitor Paper and Supplies, LLC CC Distributors, Inc. School Specialty, Inc. Yanitor Paper and Supplies, LLC CC Distributors, Inc. Gulf Coast Paper Itor Paper and Supplies, LLC CC Distributors, Inc. Gulf Coast Paper Itor Paper and Supplies, LLC CC Distributors, Inc. Gulf Coast Paper Itor Paper and Supplies, LLC Supplier Safety Jaqs. Supplier	4 QTY 100 100 100 100 240 40 40 40 40 40 40 40 40 40	BX VOM ROLLS ROLLS ROLLS ROLLS COM EA EA EA EA EA EA EA EA EA EA	Price No Bid \$5.00 \$16.22 \$16.40 Price No Bid No Bid No Bid No Bid No Bid Sid Price No Bid \$59.70 Price	\$653.92 Extended \$500.00 \$1,622.00 \$1,640.00 Extended Extended \$2,209.60 \$9,552.00	Intertape 4382 Supplier Notes Ironwear 1102-01 SSI# 1332431 IMPACT 7328 Supplier Notes CarrollClean #34428 700 Special 7001	Cantech Duct Proventional Contech Duct Provention Conteches and the conteches and th	Manuf Nur Manuf Nur RN-79683 RN-79685 RN-79685 RN-79685 R
Gulf Coast Paper CC Distributors, Inc. 114 Caution Tape. Supplier Yanitor Paper and Supplies, LLC CC Distributors, Inc. School Specialty, Inc. Gulf Coast Paper 115 Protective Leather Chaps Supplier Yanitor Paper and Supplies, LLC Gulf Coast Paper CC Distributors, Inc. School Specialty, Inc. 116 Dust Mop Treatment. Supplier School Specialty, Inc. Yanitor Paper and Supplies, LLC CC Distributors, Inc. School Specialty, Inc. Yanitor Paper and Supplies, LLC CC Distributors, Inc. Gulf Coast Paper School Specialty, Inc. Taritor Paper and Supplies, LLC CC Distributors, Inc. Gulf Coast Paper 117 Safety Jaqs. Supplier School Specialty, Inc.	4 QTY 100 100 100 100 240 40 40 40 40 40 40 40 40 40	BX VOM ROLLS ROLLS ROLLS ROLLS COM EA EA EA EA EA EA EA EA EA EA	Price No Bid \$5.00 \$16.22 \$16.40 Price No Bid No Bid No Bid No Bid No Bid Sid Price No Bid Sid Price No Bid No Bid	\$653.92 Extended \$500.00 \$1,622.00 \$1,640.00 Extended Extended \$2,209.60 \$9,552.00	Intertape 4382 Supplier Notes Ironwear 1102-01 SSI# 1332431 IMPACT 7328 Supplier Notes CarrollClean #34428 700 Special 7001	Cantech Duct Provention of the section of the secti	Manuf Nur Manuf Nur RN-79683 R

118 Safety Lifting Belt with Susp	enders.					
Supplier	QTY	UOM	Price	Extended	Supplier Notes	Manufacturer Manuf Num
School Specialty, Inc.	40	EA	No Bid			Proflex or Equal Econo # 1650
Yanitor Paper and Supplies,	LLC 40	EA	No Bid			Proflex or Equal Econo # 1650
CC Distributors, Inc.	40	EA	\$9.34	\$373.60	Ironwear 1900	Proflex or Equal Econo # 1650
Gulf Coast Paper	40	EA	\$13.10	\$524.00	VI4680SM	Proflex or Equal Econo # 1650
19 Safety Lifting Belt with Susp		UOM	Price	Extended	Supplier Notes	Manufacturer Manuf Num
Supplier	QTY			Extended	Supplier Notes	
School Specialty, Inc.	50	EA	No Bid			Proflex or Equal Econo # 1650
Yanitor Paper and Supplies,		EA	No Bid	A 4 6 7 9 9 9		Proflex or Equal Econo # 1650
CC Distributors, Inc.	50	EA	\$9.34 \$13.10		Ironwear 1900 VI4680ME	Proflex or Equal Econo # 1650
Gulf Coast Paper	50	EA	\$13.10	Ş655.00	VI408UIVIE	Proflex or Equal Econo # 1650
20 Safety Lifting Belt with Susp	enders.					
Supplier	QTY	UOM	Price	Extended	Supplier Notes	Manufacturer Manuf Num
School Specialty, Inc.	50	EA	No Bid			Proflex or Equal Econo # 1650
Yanitor Paper and Supplies,	LLC 50	EA	No Bid			Proflex or Equal Econo # 1650
CC Distributors, Inc.	50	EA	\$9.34	\$467.00	Ironwear 1900	Proflex or Equal Econo # 1650
Gulf Coast Paper	50	EA	\$13.10	\$655.00	VI4680LG	Proflex or Equal Econo # 1650
24 Cofety Lifeling Dalk with Com						
21 Safety Lifting Belt with Susp Supplier	Denders. QTY	UOM	Price	Extended	Supplier Notes	Manufacturer Manuf Num
School Specialty, Inc.	50	EA	No Bid	Extended		Proflex or Equal Econo # 1650
Yanitor Paper and Supplies,		EA	No Bid			Proflex of Equal Econo # 1650 Proflex or Equal Econo # 1650
CC Distributors, Inc.	50	EA	\$9.34	\$167.00	Ironwear 1900	Proflex of Equal Econo # 1650 Proflex or Equal Econo # 1650
Gulf Coast Paper	50	EA	\$9.34 \$13.10		VI4680XL	Proflex or Equal Econo # 1650 Proflex or Equal Econo # 1650
Guil Coast Paper	50	LA	\$15.10	Ş055.00	V14000XL	Profilex of Equal Econo # 1650
22 Safety Lifting Belt with Susp	enders.					
Supplier	QTY	UOM	Price	Extended	Supplier Notes	Manufacturer Manuf Num
School Specialty, Inc.	40	EA	No Bid			Proflex or Equal Econo # 1650
Yanitor Paper and Supplies,	LLC 40	EA	No Bid			Proflex or Equal Econo # 1650
CC Distributors, Inc.	40	EA	\$9.34	\$373.60	Ironwear 1900	Proflex or Equal Econo # 1650
Gulf Coast Paper	40	EA	\$18.20	\$728.00	VI4676XE	Proflex or Equal Econo # 1650
123 Safety Lifting with Suspende	ors					
Supplier	QTY	UOM	Price	Extended	Supplier Notes	Manufacturer Manuf Num
School Specialty, Inc.	20	EA	No Bid		coppile reces	Proflex or Equal Econo # 1650
Yanitor Paper and Supplies,		EA	No Bid			Proflex or Equal Econo # 1650
CC Distributors, Inc.	20	EA	\$9.34	\$186.80	Ironwear 1900	Proflex of Equal Econo # 1650
Gulf Coast Paper	20	EA	\$18.20		VI4676XT	Proflex or Equal Econo # 1650
			-			·
24 Rubber Boots. Extended Ste						
Supplier	QTY	UOM	Price	Extended	Supplier Notes	Manufacturer Manuf Num
		F A				
Yanitor Paper and Supplies,	LLC 20	EA	No Bid			Onguard Industi PVC Boot
Yanitor Paper and Supplies, Gulf Coast Paper	LLC 20 20	EA EA	No Bid No Bid			Onguard Industi PVC Boot Onguard Industi PVC Boot
						Onguard Industi PVC Boot
Gulf Coast Paper	20	EA	No Bid	\$229.40	Ironwear 9257-B	Onguard Industi PVC Boot Onguard Industi PVC Boot
Gulf Coast Paper School Specialty, Inc. CC Distributors, Inc.	20 20	EA EA	No Bid No Bid	\$229.40	Ironwear 9257-B	Onguard Industı PVC Boot Onguard Industı PVC Boot Onguard Industı PVC Boot
Gulf Coast Paper School Specialty, Inc. CC Distributors, Inc. 25 Rubber Boots.	20 20 20	EA EA EA	No Bid No Bid			Onguard Industı PVC Boot Onguard Industı PVC Boot Onguard Industı PVC Boot
Gulf Coast Paper School Specialty, Inc. CC Distributors, Inc.	20 20 20 QTY	EA EA EA	No Bid No Bid \$11.47 Price	\$229.40 Extended	Ironwear 9257-B Supplier Notes	Onguard Industi PVC Boot Onguard Industi PVC Boot Onguard Industi PVC Boot Onguard Industi PVC Boot Manufacturer Manuf Num
Gulf Coast Paper School Specialty, Inc. CC Distributors, Inc. 225 Rubber Boots. Supplier Yanitor Paper and Supplies,	20 20 20 QTY LLC 30	EA EA EA UOM EA	No Bid No Bid \$11.47 Price No Bid			Onguard Industi PVC Boot Onguard Industi PVC Boot Onguard Industi PVC Boot Onguard Industi PVC Boot Manufacturer Manuf Num Onguard Industi PVC Boot
Gulf Coast Paper School Specialty, Inc. CC Distributors, Inc. 125 Rubber Boots. Supplier Yanitor Paper and Supplies, Gulf Coast Paper	20 20 20 QTY LLC 30 30	EA EA EA UOM EA EA	No Bid No Bid \$11.47 Price No Bid No Bid			Onguard Industi PVC Boot Onguard Industi PVC Boot Onguard Industi PVC Boot Onguard Industi PVC Boot Manufacturer Manuf Num Onguard Industi PVC Boot Onguard Industi PVC Boot
Gulf Coast Paper School Specialty, Inc. CC Distributors, Inc. 225 Rubber Boots. Supplier Yanitor Paper and Supplies,	20 20 20 QTY LLC 30	EA EA EA UOM EA	No Bid No Bid \$11.47 Price No Bid	Extended		Onguard Industi PVC Boot Onguard Industi PVC Boot Onguard Industi PVC Boot Onguard Industi PVC Boot Manufacturer Manuf Num Onguard Industi PVC Boot
Gulf Coast Paper School Specialty, Inc. CC Distributors, Inc. 225 Rubber Boots. Supplier Yanitor Paper and Supplies, Gulf Coast Paper School Specialty, Inc. CC Distributors, Inc.	20 20 20 QTY LLC 30 30 30	EA EA EA UOM EA EA EA	No Bid No Bid \$11.47 Price No Bid No Bid No Bid	Extended	Supplier Notes	Onguard Industi PVC Boot Onguard Industi PVC Boot Onguard Industi PVC Boot Onguard Industi PVC Boot Manufacturer Manuf Num Onguard Industi PVC Boot Onguard Industi PVC Boot Onguard Industi PVC Boot
Gulf Coast Paper School Specialty, Inc. CC Distributors, Inc. 25 Rubber Boots. Supplier Yanitor Paper and Supplies, Gulf Coast Paper School Specialty, Inc. CC Distributors, Inc. 26 Rubber Boots.	20 20 20 QTY LLC 30 30 30 30	EA EA EA EA EA EA EA EA	No Bid No Bid \$11.47 Price No Bid No Bid No Bid \$11.47	Extended \$344.10	Supplier Notes Ironwear 9257-B	Onguard Industi PVC Boot Onguard Industi PVC Boot Onguard Industi PVC Boot Onguard Industi PVC Boot Manufacturer Manuf Num Onguard Industi PVC Boot Onguard Industi PVC Boot Onguard Industi PVC Boot Onguard Industi PVC Boot
Gulf Coast Paper School Specialty, Inc. CC Distributors, Inc. 25 Rubber Boots. Supplier Yanitor Paper and Supplies, Gulf Coast Paper School Specialty, Inc. CC Distributors, Inc. 26 Rubber Boots. Supplier	20 20 20 QTY LLC 30 30 30 30 30 20	EA EA EA UOM EA EA EA EA EA UOM	No Bid No Bid \$11.47 Price No Bid No Bid No Bid \$11.47 Price	Extended	Supplier Notes	Onguard Industi PVC Boot Onguard Industi PVC Boot Onguard Industi PVC Boot Onguard Industi PVC Boot Manufacturer Manuf Num Onguard Industi PVC Boot Onguard Industi PVC Boot Onguard Industi PVC Boot Onguard Industi PVC Boot
Gulf Coast Paper School Specialty, Inc. CC Distributors, Inc. 25 Rubber Boots. Supplier Yanitor Paper and Supplies, Gulf Coast Paper School Specialty, Inc. CC Distributors, Inc. 26 Rubber Boots. Supplier Yanitor Paper and Supplies,	20 20 20 QTY LLC 30 30 30 30 30 20 20 20 20 20 20 20 20 20 20 20 20 20	EA EA EA EA EA EA EA EA EA EA EA	No Bid No Bid \$11.47 Price No Bid No Bid \$11.47 Price No Bid	Extended \$344.10	Supplier Notes Ironwear 9257-B	Onguard Industi PVC Boot Onguard Industi PVC Boot Onguard Industi PVC Boot Onguard Industi PVC Boot Manufacturer Manuf Num Onguard Industi PVC Boot Onguard Industi PVC Boot Onguard Industi PVC Boot Manufacturer Manuf Num Onguard Industi PVC Boot
Gulf Coast Paper School Specialty, Inc. CC Distributors, Inc. 25 Rubber Boots. Supplier Yanitor Paper and Supplies, Gulf Coast Paper School Specialty, Inc. CC Distributors, Inc. 26 Rubber Boots. Supplier Yanitor Paper and Supplies, Gulf Coast Paper	20 20 20 QTY LLC 30 30 30 30 30 20 QTY LLC 30 30	EA EA EA EA EA EA EA EA EA EA EA	No Bid No Bid \$11.47 Price No Bid No Bid \$11.47 Price No Bid No Bid No Bid	Extended \$344.10	Supplier Notes Ironwear 9257-B	Onguard Industi PVC Boot Onguard Industi PVC Boot Onguard Industi PVC Boot Onguard Industi PVC Boot Manufacturer Manuf Num Onguard Industi PVC Boot Onguard Industi PVC Boot Onguard Industi PVC Boot Onguard Industi PVC Boot Manufacturer Manuf Num Onguard Industi PVC Boot Onguard Industi PVC Boot
Gulf Coast Paper School Specialty, Inc. CC Distributors, Inc. 25 Rubber Boots. Supplier Yanitor Paper and Supplies, Gulf Coast Paper School Specialty, Inc. CC Distributors, Inc. 26 Rubber Boots. Supplier Yanitor Paper and Supplies, Gulf Coast Paper School Specialty, Inc.	20 20 20 QTY LLC 30 30 30 30 30 20 20 20 20 20 20 20 20 20 20 20 20 20	EA EA EA EA EA EA EA EA EA EA EA	No Bid No Bid \$11.47 Price No Bid No Bid \$11.47 Price No Bid No Bid No Bid No Bid	Extended \$344.10 Extended	Supplier Notes Ironwear 9257-B	Onguard Industi PVC Boot Onguard Industi PVC Boot Onguard Industi PVC Boot Onguard Industi PVC Boot Manufacturer Manuf Num Onguard Industi PVC Boot Onguard Industi PVC Boot Onguard Industi PVC Boot Onguard Industi PVC Boot Manufacturer Manuf Num Onguard Industi PVC Boot Onguard Industi PVC Boot Onguard Industi PVC Boot
Gulf Coast Paper School Specialty, Inc. CC Distributors, Inc. 25 Rubber Boots. Supplier Yanitor Paper and Supplies, Gulf Coast Paper School Specialty, Inc. CC Distributors, Inc. 26 Rubber Boots. Supplier Yanitor Paper and Supplies, Gulf Coast Paper	20 20 20 QTY LLC 30 30 30 30 30 20 QTY LLC 30 30 30 30	EA EA EA EA EA EA EA EA EA EA EA EA	No Bid No Bid \$11.47 Price No Bid No Bid \$11.47 Price No Bid No Bid No Bid	Extended \$344.10 Extended	Supplier Notes Ironwear 9257-B Supplier Notes	Onguard Industi PVC Boot Onguard Industi PVC Boot Onguard Industi PVC Boot Onguard Industi PVC Boot Manufacturer Manuf Num Onguard Industi PVC Boot Onguard Industi PVC Boot Onguard Industi PVC Boot Onguard Industi PVC Boot Manufacturer Manuf Num Onguard Industi PVC Boot Onguard Industi PVC Boot
Gulf Coast Paper School Specialty, Inc. CC Distributors, Inc. 25 Rubber Boots. Supplier Yanitor Paper and Supplies, Gulf Coast Paper School Specialty, Inc. CC Distributors, Inc. 26 Rubber Boots. Supplier Yanitor Paper and Supplies, Gulf Coast Paper School Specialty, Inc. CC Distributors, Inc. 27 Rubber boots.	20 20 20 QTY LLC 30 30 30 30 20 QTY LLC 30 30 30 30 30	EA EA EA EA EA EA EA EA EA EA EA EA EA	No Bid No Bid \$11.47 Price No Bid No Bid \$11.47 Price No Bid No Bid No Bid No Bid \$11.47	Extended \$344.10 Extended \$344.10	Supplier Notes Ironwear 9257-B Supplier Notes Ironwear 9257-B	Onguard Industi PVC Boot Onguard Industi PVC Boot Onguard Industi PVC Boot Onguard Industi PVC Boot Manufacturer Manuf Num Onguard Industi PVC Boot Onguard Industi PVC Boot Onguard Industi PVC Boot Onguard Industi PVC Boot Manufacturer Manuf Num Onguard Industi PVC Boot Onguard Industi PVC Boot Onguard Industi PVC Boot Onguard Industi PVC Boot
Gulf Coast Paper School Specialty, Inc. CC Distributors, Inc. Supplier Yanitor Paper and Supplies, Gulf Coast Paper School Specialty, Inc. CC Distributors, Inc. CC Distributors, Inc. Supplier Yanitor Paper and Supplies, Gulf Coast Paper School Specialty, Inc. CC Distributors, Inc.	20 20 20 QTY LLC 30 30 30 30 30 20 QTY LLC 30 30 30	EA EA EA EA EA EA EA EA EA EA EA EA	No Bid No Bid \$11.47 Price No Bid No Bid \$11.47 Price No Bid No Bid No Bid No Bid	Extended \$344.10 Extended	Supplier Notes Ironwear 9257-B Supplier Notes	Onguard Industi PVC Boot Onguard Industi PVC Boot Onguard Industi PVC Boot Onguard Industi PVC Boot Manufacturer Manuf Num Onguard Industi PVC Boot Onguard Industi PVC Boot Onguard Industi PVC Boot Onguard Industi PVC Boot Manufacturer Manuf Num Onguard Industi PVC Boot Onguard Industi PVC Boot Onguard Industi PVC Boot
Gulf Coast Paper School Specialty, Inc. CC Distributors, Inc. I25 Rubber Boots. Supplier Yanitor Paper and Supplies, Gulf Coast Paper School Specialty, Inc. CC Distributors, Inc. I26 Rubber Boots. Supplier Yanitor Paper and Supplies, Gulf Coast Paper School Specialty, Inc. CC Distributors, Inc.	20 20 20 0 TY LLC 30 30 30 30 20 0 TY LLC 30 30 30 30 30 30 30	EA EA EA EA EA EA EA EA EA EA EA EA EA	No Bid No Bid \$11.47 Price No Bid No Bid \$11.47 Price No Bid No Bid No Bid No Bid \$11.47	Extended \$344.10 Extended \$344.10	Supplier Notes Ironwear 9257-B Supplier Notes Ironwear 9257-B	Onguard Industi PVC Boot Onguard Industi PVC Boot Onguard Industi PVC Boot Onguard Industi PVC Boot Manufacturer Manuf Num Onguard Industi PVC Boot Onguard Industi PVC Boot Onguard Industi PVC Boot Onguard Industi PVC Boot Manufacturer Manuf Num Onguard Industi PVC Boot Onguard Industi PVC Boot Onguard Industi PVC Boot Onguard Industi PVC Boot
Gulf Coast Paper School Specialty, Inc. CC Distributors, Inc. I25 Rubber Boots. Supplier Yanitor Paper and Supplies, Gulf Coast Paper School Specialty, Inc. CC Distributors, Inc. I26 Rubber Boots. Supplier Yanitor Paper and Supplies, Gulf Coast Paper School Specialty, Inc. CC Distributors, Inc. I27 Rubber boots. Supplier	20 20 20 0 TY LLC 30 30 30 30 20 0 TY LLC 30 30 30 30 30 30 30	EA EA EA EA EA EA EA EA EA EA EA EA EA E	No Bid No Bid \$11.47 Price No Bid No Bid \$11.47 Price No Bid No Bid No Bid \$11.47 Price Price	Extended \$344.10 Extended \$344.10	Supplier Notes Ironwear 9257-B Supplier Notes Ironwear 9257-B	Onguard Industi PVC Boot Onguard Industi PVC Boot Onguard Industi PVC Boot Onguard Industi PVC Boot Manufacturer Manuf Num Onguard Industi PVC Boot Onguard Industi PVC Boot Onguard Industi PVC Boot Onguard Industi PVC Boot Manufacturer Manuf Num Onguard Industi PVC Boot Onguard Industi PVC Boot Onguard Industi PVC Boot Onguard Industi PVC Boot Onguard Industi PVC Boot
Gulf Coast Paper School Specialty, Inc. CC Distributors, Inc. 125 Rubber Boots. Supplier Yanitor Paper and Supplies, Gulf Coast Paper School Specialty, Inc. CC Distributors, Inc. 126 Rubber Boots. Supplier Yanitor Paper and Supplies, Gulf Coast Paper School Specialty, Inc. CC Distributors, Inc. 127 Rubber boots. Supplier Yanitor Paper and Supplies, Gulf Coast Paper	20 20 20 0 TY LLC 30 30 30 30 30 30 30 30 30 30 30 20 20 20 20 20 20 20 20 20 20 20 20 20	ЕА ЕА ЕА ЕА ЕА ЕА ЕА ЕА ЕА ЕА ЕА ЕА ЕА Е	No Bid No Bid \$11.47 Price No Bid No Bid \$11.47 \$11.47 Price No Bid No Bid No Bid \$11.47 Price No Bid	Extended \$344.10 Extended \$344.10	Supplier Notes Ironwear 9257-B Supplier Notes Ironwear 9257-B	Onguard Industi PVC Boot Onguard Industi PVC Boot Onguard Industi PVC Boot Onguard Industi PVC Boot Manufacturer Manuf Num Onguard Industi PVC Boot Onguard Industi PVC Boot Onguard Industi PVC Boot Onguard Industi PVC Boot Manufacturer Manuf Num Onguard Industi PVC Boot Onguard Industi PVC Boot Onguard Industi PVC Boot Onguard Industi PVC Boot Onguard Industi PVC Boot

120 Dubban Daata							
128 Rubber Boots. Supplier	QTY	UOM	Price	Extended	Supplier Notes	Manufacturer	ManufNum
Yanitor Paper and Supplies		EA	No Bid	Extended	Supplier Notes	Onguard Indust	
Gulf Coast Paper	12	EA	No Bid			Onguard Indust	
School Specialty, Inc.	12	EA	No Bid			Onguard Indust	
CC Distributors, Inc.	12	EA	\$11.47	\$137.64	Ironwear 9257-B	Onguard Indust	
		271	<i>v</i> 11 <i>11</i>	<i>\</i> 207101		onguara mado	
129 Rubber Boots.				-			
Supplier	QTY	UOM	Price	Extended	Supplier Notes	Manufacturer	Manuf Num
Yanitor Paper and Supplies	, LLC 12	EA	No Bid			Onguard Indust	ti PVC Boot
Gulf Coast Paper	12	EA	No Bid			Onguard Indust	I PVC Boot
School Specialty, Inc.	12	EA	No Bid			Onguard Indust	I PVC Boot
CC Distributors, Inc.	12	EA	\$11.47	\$137.64	l Ironwear 9257-B	Onguard Indust	ti PVC Boot
130 Rubber Boots.	0.71		Duites	Contra da d	Complian Natao	NA	
Supplier		UOM EA	Price No Bid	Extended	Supplier Notes	Manufacturer	
Yanitor Paper and Supplies Gulf Coast Paper	5, LLC 12 12	EA	No Bid			Onguard Indust	
School Specialty, Inc.	12	EA	No Bid			Onguard Indust Onguard Indust	
CC Distributors, Inc.	12	EA	\$11.47	\$137.64	Ironwear 9257-B	Onguard Indust	
ce Distributors, inc.	12		Ş11.47	Ş137.04	f nonwear 5257-b	Oliguatu indusi	IT VC BOOL
131 Safety Vest.							
Supplier	QTY	UOM	Price	Extended	Supplier Notes	Manufacturer	Manuf Num
Yanitor Paper and Supplies	, LLC 25	EA	No Bid			Protective Indu	s 302-0500 ANSI
Gulf Coast Paper	25	EA	No Bid			Protective Indu	s 302-0500 ANSI
School Specialty, Inc.	25	EA	No Bid			Protective Indu	s 302-0500 ANSI
CC Distributors, Inc.	25	EA	\$6.12	\$153.00) ProWorks SVGS-SM	Protective Indu	s 302-0500 ANSI
132 Safety Vest.							
Supplier	QTY	UOM	Price	Extended	Supplier Notes	Manufacturer	Manuf Num
School Specialty, Inc.	50	EA	No Bid			Protective Indu	s 302-0500 Ansi (
Yanitor Paper and Supplies	i, LLC 50	EA	No Bid			Protective Indu	s 302-0500 Ansi (
Gulf Coast Paper	50	EA	\$6.05	\$302.50) SVGS-MD		s 302-0500 Ansi (
CC Distributors, Inc.	50	EA	\$6.12	\$306.00) ProWorks SVGS-MD	Protective Indu	s 302-0500 Ansi (
133 Safety Vest.							
Supplier	QTY	UOM	Price	Extended	Supplier Notes	Manufacturer	Manuf Num
School Specialty, Inc.	50	EA	No Bid	LATONACU			s 302-0500 Ansi (
Yanitor Paper and Supplies		EA	No Bid				s 302-0500 Ansi (
Gulf Coast Paper	50	EA	\$6.05	\$302.50) SVGS-LG		s 302-0500 Ansi (
CC Distributors, Inc.	50	EA	\$6.12) ProWorks SVGS-LG		s 302-0500 Ansi (
_							
134 Cafate Mart							
134 Safety Vest.							
134 Safety Vest. Supplier	QTY	UOM	Price	Extended	Supplier Notes	Manufacturer	Manuf Num
	QTY 50	UOM EA	Price No Bid	Extended	Supplier Notes	Manufacturer Protective Indu	
Supplier	50			Extended	Supplier Notes		s
Supplier School Specialty, Inc.	50	EA	No Bid		Supplier Notes	Protective Indu	s s
Supplier School Specialty, Inc. Yanitor Paper and Supplies	50 5, LLC 50	EA EA	No Bid No Bid	\$302.50		Protective Indu Protective Indu	s s
Supplier School Specialty, Inc. Yanitor Paper and Supplies Gulf Coast Paper CC Distributors, Inc.	50 5, LLC 50 50	EA EA EA	No Bid No Bid \$6.05	\$302.50) SVGS-XL	Protective Indu Protective Indu Protective Indu	s s s
Supplier School Specialty, Inc. Yanitor Paper and Supplies Gulf Coast Paper CC Distributors, Inc. 135 Safety Vest.	50 5, LLC 50 50 50	EA EA EA EA	No Bid No Bid \$6.05 \$6.12	\$302.50 \$306.00) SVGS-XL) ProWorks SVGS-XL	Protective Indu Protective Indu Protective Indu Protective Indu	S S S
Supplier School Specialty, Inc. Yanitor Paper and Supplies Gulf Coast Paper CC Distributors, Inc. 135 Safety Vest. Supplier	50 5, LLC 50 50 50 QTY	EA EA EA EA	No Bid No Bid \$6.05 \$6.12 Price	\$302.50) SVGS-XL	Protective Indu Protective Indu Protective Indu Protective Indu Manufacturer	s s s Manuf Num
Supplier School Specialty, Inc. Yanitor Paper and Supplies Gulf Coast Paper CC Distributors, Inc. 135 Safety Vest. Supplier School Specialty, Inc.	50 5, LLC 50 50 50 QTY 15	EA EA EA EA UOM EA	No Bid No Bid \$6.05 \$6.12 Price No Bid	\$302.50 \$306.00) SVGS-XL) ProWorks SVGS-XL	Protective Indu Protective Indu Protective Indu Protective Indu Manufacturer Protective Indu	s s s Manuf Num s 302-0500 ANSI
Supplier School Specialty, Inc. Yanitor Paper and Supplies Gulf Coast Paper CC Distributors, Inc. 135 Safety Vest. Supplier School Specialty, Inc. Yanitor Paper and Supplies	50 5, LLC 50 50 50 QTY 15 5, LLC 15	EA EA EA EA EA EA EA	No Bid No Bid \$6.05 \$6.12 Price No Bid No Bid	\$302.50 \$306.00 Extended) SVGS-XL) ProWorks SVGS-XL Supplier Notes	Protective Indu Protective Indu Protective Indu Protective Indu Manufacturer Protective Indu Protective Indu	s s s Manuf Num s 302-0500 ANSI s 302-0500 ANSI
Supplier School Specialty, Inc. Yanitor Paper and Supplies Gulf Coast Paper CC Distributors, Inc. 135 Safety Vest. Supplier School Specialty, Inc. Yanitor Paper and Supplies Gulf Coast Paper School Specialty, Inc. Yanitor Paper and Supplies Gulf Coast Paper	50 5, LLC 50 50 50 QTY 15 5, LLC 15 15	EA EA EA EA EA EA EA EA EA	No Bid No Bid \$6.05 \$6.12 Price No Bid No Bid \$6.05	\$302.50 \$306.00 Extended \$90.75) SVGS-XL) ProWorks SVGS-XL Supplier Notes 5 SGVS-3X	Protective Indu Protective Indu Protective Indu Protective Indu Manufacturer Protective Indu Protective Indu Protective Indu	s s s Manuf Num s 302-0500 ANSI s 302-0500 ANSI s 302-0500 ANSI
Supplier School Specialty, Inc. Yanitor Paper and Supplies Gulf Coast Paper CC Distributors, Inc. 135 Safety Vest. Supplier School Specialty, Inc. Yanitor Paper and Supplies	50 5, LLC 50 50 50 QTY 15 5, LLC 15	EA EA EA EA EA EA EA	No Bid No Bid \$6.05 \$6.12 Price No Bid No Bid	\$302.50 \$306.00 Extended \$90.75) SVGS-XL) ProWorks SVGS-XL Supplier Notes	Protective Indu Protective Indu Protective Indu Protective Indu Manufacturer Protective Indu Protective Indu Protective Indu	S S S
Supplier School Specialty, Inc. Yanitor Paper and Supplies Gulf Coast Paper CC Distributors, Inc. 135 Safety Vest. Supplier School Specialty, Inc. Yanitor Paper and Supplies Gulf Coast Paper Gulf Coast Paper CC Distributors, Inc.	50 5, LLC 50 50 50 QTY 15 5, LLC 15 15 15	EA EA EA EA EA EA EA EA EA	No Bid No Bid \$6.05 \$6.12 Price No Bid No Bid \$6.05	\$302.50 \$306.00 Extended \$90.75) SVGS-XL) ProWorks SVGS-XL Supplier Notes 5 SGVS-3X	Protective Indu Protective Indu Protective Indu Protective Indu Manufacturer Protective Indu Protective Indu Protective Indu	s s s Manuf Num s 302-0500 ANSI s 302-0500 ANSI s 302-0500 ANSI
Supplier School Specialty, Inc. Yanitor Paper and Supplies Gulf Coast Paper CC Distributors, Inc. 135 Safety Vest. Supplier School Specialty, Inc. Yanitor Paper and Supplies Gulf Coast Paper Gulf Coast Paper CC Distributors, Inc. Yanitor Paper and Supplies Gulf Coast Paper CC Distributors, Inc. 136 High Pro Pad for Utility Pa	50 5, LLC 50 50 50 QTY 15 5, LLC 15 15 15 15	EA EA EA EA EA EA EA EA EA	No Bid No Bid \$6.05 \$6.12 Price No Bid No Bid \$6.05 \$6.12	\$302.50 \$306.00 Extended \$90.75 \$91.80) SVGS-XL) ProWorks SVGS-XL Supplier Notes > SGVS-3X) ProWorks SVGS-3X 	Protective Indu Protective Indu Protective Indu Protective Indu Manufacturer Protective Indu Protective Indu Protective Indu	s Manuf Num s 302-0500 ANSI s 302-0500 ANSI s 302-0500 ANSI s 302-0500 ANSI
Supplier School Specialty, Inc. Yanitor Paper and Supplies Gulf Coast Paper CC Distributors, Inc. 135 Safety Vest. Supplier School Specialty, Inc. Yanitor Paper and Supplies Gulf Coast Paper CC Distributors, Inc. Yanitor Paper and Supplies Gulf Coast Paper CC Distributors, Inc. 136 High Pro Pad for Utility Pa Supplier	50 5, LLC 50 50 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0	EA EA EA EA EA EA EA EA EA EA UOM	No Bid No Bid \$6.05 \$6.12 Price No Bid No Bid \$6.05 \$6.12 Price	\$302.50 \$306.00 Extended \$90.75) SVGS-XL) ProWorks SVGS-XL Supplier Notes 5 SGVS-3X	Protective Indu Protective Indu Protective Indu Protective Indu Manufacturer Protective Indu Protective Indu Protective Indu Manufacturer	s s Manuf Num s 302-0500 ANSI s 302-0500 ANSI s 302-0500 ANSI s 302-0500 ANSI s 302-0500 ANSI s 302-0500 ANSI
Supplier School Specialty, Inc. Yanitor Paper and Supplies Gulf Coast Paper CC Distributors, Inc. 135 Safety Vest. Supplier School Specialty, Inc. Yanitor Paper and Supplies Gulf Coast Paper CC Distributors, Inc. Yanitor Paper and Supplies Gulf Coast Paper CC Distributors, Inc. 136 High Pro Pad for Utility Pa Supplier School Specialty, Inc.	50 5, LLC 50 50 50 QTY 15 5, LLC 15 15 15 d Holder QTY 1000	EA EA EA EA EA EA EA EA EA EA EA	No Bid No Bid \$6.05 \$6.12 Price No Bid No Bid \$6.05 \$6.12 Price No Bid	\$302.50 \$306.00 Extended \$90.75 \$91.80) SVGS-XL) ProWorks SVGS-XL Supplier Notes > SGVS-3X) ProWorks SVGS-3X 	Protective Indu Protective Indu Protective Indu Protective Indu Manufacturer Protective Indu Protective Indu Protective Indu Protective Indu Manufacturer 3M or Equal	s s s Manuf Num s 302-0500 ANSI s 302-0500 ANSI s 302-0500 ANSI s 302-0500 ANSI s 302-0500 ANSI s 302-0500 ANSI s 302-0500 ANSI Manuf Num MC08550
Supplier School Specialty, Inc. Yanitor Paper and Supplies Gulf Coast Paper CC Distributors, Inc. 135 Safety Vest. Supplier School Specialty, Inc. Yanitor Paper and Supplies Gulf Coast Paper CC Distributors, Inc. Yanitor Paper and Supplies Gulf Coast Paper CC Distributors, Inc. 136 High Pro Pad for Utility Pa School Specialty, Inc. Yanitor Paper and Supplier School Specialty, Inc. Yanitor Paper and Supplies	50 50 50 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0	EA EA EA EA EA EA EA EA EA EA EA EA	No Bid No Bid \$6.05 \$6.12 Price No Bid No Bid \$6.05 \$6.12 Price No Bid No Bid	\$302.50 \$306.00 Extended \$90.75 \$91.80 Extended) SVGS-XL) ProWorks SVGS-XL Supplier Notes > SGVS-3X) ProWorks SVGS-3X Supplier Notes 	Protective Indu Protective Indu Protective Indu Protective Indu Manufacturer Protective Indu Protective Indu Protective Indu Protective Indu Manufacturer 3M or Equal 3M or Equal	s s s manuf Num s 302-0500 ANSI s 3
Supplier School Specialty, Inc. Yanitor Paper and Supplies Gulf Coast Paper CC Distributors, Inc. 135 Safety Vest. Supplier School Specialty, Inc. Yanitor Paper and Supplies Gulf Coast Paper CC Distributors, Inc. 136 High Pro Pad for Utility Pa School Specialty, Inc. Yanitor Paper and Supplier School Specialty, Inc. Yanitor Paper and Supplies CC Distributors, Inc. Yanitor Paper and Supplies School Specialty, Inc. Yanitor Paper and Supplies CC Distributors, Inc.	50 50 50 QTY 15 5, LLC 15 15 15 d Holder QTY 1000 5, LLC 1000 1000	EA EA EA EA EA EA EA EA EA EA EA EA EA E	No Bid No Bid \$6.05 \$6.12 Price No Bid No Bid \$6.05 \$6.12 Price No Bid No Bid No Bid \$0.88	\$302.50 \$306.00 Extended \$90.75 \$91.80 Extended \$880.00) SVGS-XL) ProWorks SVGS-XL Supplier Notes > SGVS-3X) ProWorks SVGS-3X Supplier Notes > Norton 52207 	Protective Indu Protective Indu Protective Indu Protective Indu Manufacturer Protective Indu Protective Indu Protective Indu Protective Indu Manufacturer 3M or Equal 3M or Equal 3M or Equal	s s s manuf Num s 302-0500 ANSI s 302-0500 ANSI s 302-0500 ANSI s 302-0500 ANSI s 302-0500 ANSI s 302-0500 ANSI s 402-0500 ANSI s 402-0500 ANSI s 402-0500 ANSI Manuf Num MC08550 MC08550
Supplier School Specialty, Inc. Yanitor Paper and Supplies Gulf Coast Paper CC Distributors, Inc. 135 Safety Vest. Supplier School Specialty, Inc. Yanitor Paper and Supplies Gulf Coast Paper CC Distributors, Inc. Yanitor Paper and Supplies Gulf Coast Paper CC Distributors, Inc. 136 High Pro Pad for Utility Pa School Specialty, Inc. Yanitor Paper and Supplier School Specialty, Inc. Yanitor Paper and Supplies	50 50 50 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0	EA EA EA EA EA EA EA EA EA EA EA EA	No Bid No Bid \$6.05 \$6.12 Price No Bid No Bid \$6.05 \$6.12 Price No Bid No Bid	\$302.50 \$306.00 Extended \$90.75 \$91.80 Extended \$880.00) SVGS-XL) ProWorks SVGS-XL Supplier Notes > SGVS-3X) ProWorks SVGS-3X Supplier Notes 	Protective Indu Protective Indu Protective Indu Protective Indu Manufacturer Protective Indu Protective Indu Protective Indu Protective Indu Manufacturer 3M or Equal 3M or Equal	s s s manuf Num s 302-0500 ANSI s 3
Supplier School Specialty, Inc. Yanitor Paper and Supplies Gulf Coast Paper CC Distributors, Inc. 135 Safety Vest. Supplier School Specialty, Inc. Yanitor Paper and Supplies Gulf Coast Paper CC Distributors, Inc. 136 High Pro Pad for Utility Pa School Specialty, Inc. Yanitor Paper and Supplier School Specialty, Inc. Yanitor Paper and Supplies CC Distributors, Inc. Yanitor Paper and Supplies School Specialty, Inc. Yanitor Paper and Supplies CC Distributors, Inc.	50 50 50 QTY 15 55 15 15 d Holder QTY 1000 5, LLC 1000 1000	EA EA EA EA EA EA EA EA EA EA EA EA EA E	No Bid No Bid \$6.05 \$6.12 Price No Bid No Bid \$6.05 \$6.12 Price No Bid No Bid No Bid \$0.88	\$302.50 \$306.00 Extended \$90.75 \$91.80 Extended \$880.00) SVGS-XL) ProWorks SVGS-XL Supplier Notes > SGVS-3X) ProWorks SVGS-3X Supplier Notes > Norton 52207 	Protective Indu Protective Indu Protective Indu Protective Indu Manufacturer Protective Indu Protective Indu Protective Indu Protective Indu Manufacturer 3M or Equal 3M or Equal 3M or Equal	s s s manuf Num s 302-0500 ANSI s 302-0500 ANSI s 302-0500 ANSI s 302-0500 ANSI s 302-0500 ANSI s 302-0500 ANSI s 402-0500 ANSI s 4
Supplier School Specialty, Inc. Yanitor Paper and Supplies Gulf Coast Paper CC Distributors, Inc. 135 Safety Vest. Supplier School Specialty, Inc. Yanitor Paper and Supplies Gulf Coast Paper CC Distributors, Inc. 136 High Pro Pad for Utility Pa School Specialty, Inc. Yanitor Paper and Supplier School Specialty, Inc. Yanitor Paper and Supplies CC Distributors, Inc. Yanitor Paper and Supplies School Specialty, Inc. Yanitor Paper and Supplies CC Distributors, Inc. Gulf Coast Paper OL Distributors, Inc. Gulf Coast Paper	50 50 50 QTY 15 55 15 15 d Holder QTY 1000 5, LLC 1000 1000	EA EA EA EA EA EA EA EA EA EA EA EA EA E	No Bid No Bid \$6.05 \$6.12 Price No Bid No Bid \$6.05 \$6.12 Price No Bid No Bid No Bid \$0.88	\$302.50 \$306.00 Extended \$90.75 \$91.80 Extended \$880.00) SVGS-XL) ProWorks SVGS-XL Supplier Notes > SGVS-3X) ProWorks SVGS-3X Supplier Notes > Norton 52207 	Protective Indu Protective Indu Protective Indu Protective Indu Manufacturer Protective Indu Protective Indu Protective Indu Protective Indu Manufacturer 3M or Equal 3M or Equal 3M or Equal	s s s manuf Num s 302-0500 ANSI s 302-0500 ANSI s 302-0500 ANSI s 302-0500 ANSI s 302-0500 ANSI s 302-0500 ANSI s 402-0500 ANSI s 402-0500 ANSI s 402-0500 ANSI manuf Num MC08550 MC08550
Supplier School Specialty, Inc. Yanitor Paper and Supplies Gulf Coast Paper CC Distributors, Inc. 135 Safety Vest. Supplier School Specialty, Inc. Yanitor Paper and Supplies Gulf Coast Paper CC Distributors, Inc. Yanitor Paper and Supplies Gulf Coast Paper CC Distributors, Inc. 136 High Pro Pad for Utility Pa Supplier School Specialty, Inc. Yanitor Paper and Supplies School Specialty, Inc. Yanitor Paper and Supplies CC Distributors, Inc. Gulf Coast Paper CC Distributors, Inc. Gulf Coast Paper Itility Pad Holder with Wete	50 5, LLC 50 50 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0	EA EA EA EA EA EA EA EA EA EA EA EA EA E	No Bid No Bid \$6.05 \$6.12 Price No Bid No Bid \$6.05 \$6.12 Price No Bid No Bid \$0.88 \$2.49	\$302.50 \$306.00 Extended \$90.75 \$91.80 Extended \$880.00 \$2,490.00) SVGS-XL) ProWorks SVGS-XL Supplier Notes > SGVS-3X) ProWorks SVGS-3X Supplier Notes) Norton 52207) 3M 8550 	Protective Indu Protective Indu Protective Indu Protective Indu Manufacturer Protective Indu Protective Indu Protective Indu Protective Indu Manufacturer 3M or Equal 3M or Equal 3M or Equal	s s s manuf Num s 302-0500 ANSI s 302-0500 ANSI s 302-0500 ANSI s 302-0500 ANSI s 302-0500 ANSI Manuf Num MC08550 MC08550 MC08550 MC08550
Supplier School Specialty, Inc. Yanitor Paper and Supplies Gulf Coast Paper CC Distributors, Inc. 135 Safety Vest. Supplier School Specialty, Inc. Yanitor Paper and Supplies Gulf Coast Paper CC Distributors, Inc. Yanitor Paper and Supplies Gulf Coast Paper CC Distributors, Inc. 136 High Pro Pad for Utility Pa School Specialty, Inc. Yanitor Paper and Supplies School Specialty, Inc. Yanitor Paper and Supplies CC Distributors, Inc. Gulf Coast Paper Itility Pad Holder with Weild Supplier	50 50 50 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0	EA EA EA EA EA EA EA EA EA EA EA EA EA E	No Bid No Bid \$6.05 \$6.12 Price No Bid No Bid \$6.05 \$6.12 Price No Bid No Bid \$0.88 \$2.49	\$302.50 \$306.00 Extended \$90.75 \$91.80 Extended \$880.00 \$2,490.00) SVGS-XL) ProWorks SVGS-XL Supplier Notes > SGVS-3X) ProWorks SVGS-3X Supplier Notes) Norton 52207) 3M 8550 	Protective Indu Protective Indu Protective Indu Protective Indu Manufacturer Protective Indu Protective Indu Protective Indu Protective Indu Manufacturer 3M or Equal 3M or Equal 3M or Equal	s s s manuf Num s 302-0500 ANSI s 302-0500 ANSI s 302-0500 ANSI s 302-0500 ANSI s 302-0500 ANSI manuf Num MC08550 MC08550 MC08550 MC08550 MC08550 MC08550
Supplier School Specialty, Inc. Yanitor Paper and Supplies Gulf Coast Paper CC Distributors, Inc. 135 Safety Vest. Supplier School Specialty, Inc. Yanitor Paper and Supplies Gulf Coast Paper CC Distributors, Inc. Yanitor Paper and Supplies Gulf Coast Paper CC Distributors, Inc. 136 High Pro Pad for Utility Pa School Specialty, Inc. Yanitor Paper and Supplies School Specialty, Inc. Yanitor Paper CC Distributors, Inc. Gulf Coast Paper Itility Pad Holder with Weith Supplier School Specialty, Inc. Supplier School Specialty, Inc.	50 50 50 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0	EA EA EA EA EA EA EA EA EA EA EA EA EA E	No Bid No Bid \$6.05 \$6.12 Price No Bid \$6.05 \$6.12 Price No Bid \$6.12 No Bid \$6.24 \$6.12 Price No Bid \$2.49 Price No Bid \$0.88 \$2.49	\$302.50 \$306.00 Extended \$90.75 \$91.80 Extended \$880.00 \$2,490.00) SVGS-XL) ProWorks SVGS-XL Supplier Notes > SGVS-3X) ProWorks SVGS-3X Supplier Notes) Norton 52207) 3M 8550 	Protective Indu Protective Indu Protective Indu Protective Indu Protective Indu Protective Indu Protective Indu Protective Indu Protective Indu Manufacturer 3M or Equal 3M or Equal 3M or Equal 3M or Equal 3M or Equal	s s s manuf Num s 302-0500 ANSI s 302-0500 ANSI s 302-0500 ANSI s 302-0500 ANSI s 302-0500 ANSI s 302-0500 ANSI manuf Num MC08550 MC08550 MC08550 MC08550 MC08550 MC08550
Supplier School Specialty, Inc. Yanitor Paper and Supplies Gulf Coast Paper CC Distributors, Inc. 135 Safety Vest. Supplier School Specialty, Inc. Yanitor Paper and Supplies Gulf Coast Paper CC Distributors, Inc. Yanitor Paper and Supplies Gulf Coast Paper CC Distributors, Inc. 136 High Pro Pad for Utility Pa Supplier School Specialty, Inc. Yanitor Paper and Supplies CC Distributors, Inc. Gulf Coast Paper CC Distributors, Inc. Gulf Coast Paper Itality Pad Holder with Weith Supplier School Specialty, Inc. Yanitor Paper and Supplies School Specialty, Inc. Yanitor Paper and Supplies	50 50 50 50 0 0 0 0 0 0 0 0 0 0 0 0 0	EA EA EA EA EA EA EA EA EA EA EA EA EA E	No Bid No Bid \$6.05 \$6.12 Price No Bid No Bid \$6.05 \$6.12 \$6.12 Price No Bid \$0.88 \$2.49 Price No Bid No Bid	\$302.50 \$306.00 Extended \$90.75 \$91.80 Extended \$880.00 \$2,490.00 Extended \$880.00	 SVGS-XL ProWorks SVGS-XL Supplier Notes SGVS-3X ProWorks SVGS-3X Supplier Notes Norton 52207 M 8550 Supplier Notes 	Protective Indu Protective Indu Protective Indu Protective Indu Protective Indu Protective Indu Protective Indu Protective Indu Protective Indu Manufacturer 3M or Equal 3M or Equal	s s s manuf Num s 302-0500 ANSI s 302-0500 ANSI s 302-0500 ANSI s 302-0500 ANSI s 302-0500 ANSI s 302-0500 ANSI manuf Num MC08550 MC08550 MC08550 MC08550 MC08550 MC08550 MC08550

138 Garbage Can 20 Gallon with	Lid.						
Supplier	QTY	UOM	Price	Extended	Supplier Notes	Manufacturer	Manuf Num
School Specialty, Inc.	72	EA	No Bid			Rubbermaid	RCP2623GRA-0
Yanitor Paper and Supplies, I		EA	No Bid			Rubbermaid	RCP2623GRA-0
CC Distributors, Inc.	72	EA	\$17.78	\$1,280,16	6 Continental Commercial 2000/2001	Rubbermaid	RCP2623GRA-0
Gulf Coast Paper	72	EA	\$21.56		2 2620G + 2619G	Rubbermaid	RCP2623GRA-0
		273	<i>4</i> 1100	<i>\</i> 2,002.01			
139 Porcelain Dry Erase Board							
Supplier	QTY	UOM	Price	Extended	Supplier Notes	Manufacturer	Manuf Num
CC Distributors, Inc.	100	EA	No Bid			Best-Rite or Equ	a 202AH-25
Yanitor Paper and Supplies, I	LLC 100	EA	No Bid			Best-Rite or Equ	u 202AH-25
School Specialty, Inc.	100	EA	\$238.00	\$23,800.00) SSI# 608513	Best-Rite or Equ	a 202AH-25
Gulf Coast Paper	100	EA	\$381.41	\$38,141.00	D MASTER VISION BVCCR1501170MV	Best-Rite or Equ	202AH-25
140 Porcelain Dry Erase Board							
Supplier	QTY	UOM	Price	Extended	Supplier Notes / Alternate Description	Manufacturer	Manuf Num
Gulf Coast Paper	100	EA	No Bid			Best-Rite or Equ	
Yanitor Paper and Supplies, I		EA	No Bid			Best-Rite or Equ	
CC Distributors. Inc.	100	EA	No Bid			Best-Rite or Equ	
[ALT1] School Specialty, Inc.	100	EA	\$129.58	\$12,958.00) MARKERBOARD PORCELAIN DELUXE 4'X 4	·····	202AD-25
141 Natural Cork Plate Tack Boa Supplier	rd QTY	UOM	Price	Extended	Supplier Notes / Alternate Description	Manufacturer	Manuf Num
Gulf Coast Paper	50	EA	No Bid			Best-Rite or Equ	
Yanitor Paper and Supplies, I		EA	No Bid			Best-Rite or Equ	
CC Distributors, Inc.	50	EA	No Bid			Best-Rite or Equ	
[ALT1] School Specialty, Inc.	50	EA	\$49.92	\$2,406.00) TACKBOARD CORK VALU-TAK 4'X 4' NATU		301AD
	50	LA	\$49.92	\$2,490.00	J TACKBOARD CORK VALO-TAK 4 X 4 NATO	R DEST-RITE	SUIAD
142 Natural Cork Plate Tack Boa	rd						
Supplier	QTY	UOM	Price	Extended	Supplier Notes / Alternate Description	Manufacturer	Manuf Num
Gulf Coast Paper	50	EA	No Bid			Best-Rite or Equ	J 303AH
Yanitor Paper and Supplies, I	LC 50	EA	No Bid			Best-Rite or Equ	1303AH
CC Distributors, Inc.	50	EA	No Bid			Best-Rite or Equ	u 303AH
[ALT1] School Specialty, Inc.	50	EA	\$91.06	\$4,553.00) TACKBOARD CORK VALU-TAK 4'X 8' NATU	R BEST-RITE	301AH
143 Mounting Brackets for 12 3/	'4" Unive	rsal Stool	Tops				
Supplier	QTY	UOM	Price	Extended	Supplier Notes	Manufacturer	Manuf Num
Yanitor Paper and Supplies, I	LLC 100	EA	No Bid			Virco	VB10
Gulf Coast Paper	100	EA	No Bid			Virco	VB10
CC Distributors, Inc.	100	EA	No Bid			Virco	VB10
School Specialty, Inc.	100	EA	No Bid			Virco	VB10
144 Trash Can Dolly							
Supplier	QTY	UOM	Price	Extended	Supplier Notes	Manufacturer	Manuf Num
School Specialty, Inc.	100		No Bid	Extended	Supplier Notes		RCP2640BLA
		EA	No Bid			Brute or Equal Brute or Equal	
Yanitor Paper and Supplies, I	100	EA EA	\$19.44	¢1 044 00	CONTINENTAL 3255	Brute or Equal	RCP2640BLA RCP2640BLA
Gulf Coast Paper CC Distributors, Inc.	100	EA	\$19.44		Continental Commercial 3255	Brute or Equal	
ce Distributors, inc.	100	LA	Υ 21. 34	J2,134.00	Continental Conmercial 5255	Didle of Equal	NCF 2040BLA
145 Bag Heavy Capacity Janitor (
Supplier	QTY	UOM	Price	Extended	Supplier Notes	Manufacturer	
School Specialty, Inc.	50	EA	No Bid			Rubbermaid or	11966881
Yanitor Paper and Supplies, I	LC 50	EA	No Bid			Rubbermaid or	1966881
CC Distributors, Inc.	50	EA	No Bid			Rubbermaid or	1966881
Gulf Coast Paper	50	EA	\$36.24	\$1,812.00	0 1966881	Rubbermaid or	1966881
146 Bag Janitorial Cart Regular							
Supplier	QTY	UOM	Price	Extended	Supplier Notes	Manufacturer	Manuf Num
School Specialty, Inc.	50	EA	No Bid			Rubbermaid or	1966719
Yanitor Paper and Supplies, I	LLC 50	EA	No Bid			Rubbermaid or	1966719
CC Distributors, Inc.	50	EA	\$17.61	\$880.50	Continental Commercial 188YW	Rubbermaid or	
Gulf Coast Paper	50	EA	\$30.31	-	0 1966719	Rubbermaid or	1966719
147 Gym Floor Sealer Oil Base.	Ωτν	LIOM	Drico	Fytandad	Supplier Notes	Manufacturor	Manuf Num
147 Gym Floor Sealer Oil Base. Supplier	QTY	UOM FA	Price	Extended	Supplier Notes	Manufacturer	Manuf Num
147 Gym Floor Sealer Oil Base. Supplier School Specialty, Inc.	90	EA	No Bid	Extended	Supplier Notes	Buckeye	Coliseum 450
147 Gym Floor Sealer Oil Base. Supplier School Specialty, Inc. Yanitor Paper and Supplies, I	90 LLC 90	EA EA	No Bid No Bid	Extended	Supplier Notes	Buckeye Buckeye	Coliseum 450 Coliseum 450
147Gym Floor Sealer Oil Base.SupplierSchool Specialty, Inc.Yanitor Paper and Supplies, ICC Distributors, Inc.	90 LLC 90 90	EA EA EA	No Bid No Bid No Bid			Buckeye Buckeye Buckeye	Coliseum 450 Coliseum 450 Coliseum 450
147 Gym Floor Sealer Oil Base. Supplier School Specialty, Inc. Yanitor Paper and Supplies, I	90 LLC 90	EA EA	No Bid No Bid		Supplier Notes	Buckeye Buckeye	Coliseum 450 Coliseum 450

148 Gym Floe	or Cleaner							
Supplier		QTY	UOM	Price	Extended	Supplier Notes	Manufacturer	Manuf Num
School S	pecialty, Inc.	90	EA	No Bid			Buckeye	Screen Clean
Yanitor P	aper and Supplies, LL	2 90	EA	No Bid			Buckeye	Screen Clean
CC Distri	outors, Inc.	90	EA	No Bid			Buckeye	Screen Clean
Gulf Coa	st Paper	90	EA	\$29.05	\$2,614.50	582205 STRATEGIC CLEANER	Buckeye	Screen Clean
149 Flag with	Custom Logo							
Supplier		QTY	UOM	Price	Extended	Supplier Notes	Manufacturer	Manuf Num
Yanitor P	aper and Supplies, LL	2 100	EA	No Bid				
Gulf Coa	st Paper	100	EA	No Bid				
CC Distri	outors, Inc.	100	EA	No Bid				

School Specialty, Inc.

100 EA

No Bid